Bid #PNC2115695B1 - Miscellaneous Traffic and Roadway Construction

Creation Date Dec 15, 2017 End Date Mar 28, 2018 2:00:00 PM EDT

Start Date Feb 22, 2018 11:32:57 AM EST Awarded Date Not Yet Awarded

Horsepower Electric, Inc.

\$8,179,480.00 (354/354 items)

Bid Contact Michael Martinez

Address HIALEAH, FL 33014

mike@horsepowerelectric.com

Ph 305-819-4060

Bid Bond	(Status: Authorized on Mar 26, 2018)			
Agency Notes:		Supplier Notes:		
Item #	Line Item	Unit Price	Qty/Unit	Total Price
PNC2115695B1- -01-01	General Construction: MOBILIZATION FOR EMERGENCIES First Offer	\$2,500.00	5 / each	\$12,500.00
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:		
PNC2115695B1- -01-02	General Construction: UTILITY LOCATES AND EXCAVATION TEST HOLES First Offer	\$500.00	100 / each	\$50,000.00
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:	
PNC2115695B1- -01-03	General Construction: HOURLY RATE - First Offer	\$400.00	40 / hour	\$16,000.00
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:	
PNC2115695B1- -01-04	General Construction: HOURLY RATE - First Offer	\$45.00	40 / hour	\$1,800.00
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:		
PNC2115695B1- -01-05	General Construction: HOURLY RATE - First Offer	\$150.00	40 / hour	\$6,000.00
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:		
PNC2115695B1- -01-06	General Construction: HOURLY LABOR RATE - First Offer	\$70.00	1500 / hour	\$105,000.00
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:	
PNC2115695B1- -01-07	General Construction: HOURLY LABOR RATE - First Offer	\$70.00	500 / hour	\$35,000.00
Product Code: Agency Notes:		Supplier Product Coo Supplier Notes:	de:	
PNC2115695B1- -01-08	General Construction: HOURLY RATE - First Offer	\$45.00	40 / hour	\$1,800.00
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:	
PNC2115695B1- -01-09	General Construction: HOURLY RATE - First Offer	\$45.00	40 / hour	\$1,800.00
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:	
PNC2115695B1- -01-10	General Construction: HOURLY RATE - First Offer	\$150.00	40 / hour	\$6,000.00

bid #PNC2115695B1 -Miscellaneous Traffic and

Broward County Board of County Commissioners

cellaneous Traffic a	and County Commis	sioners			
Product Code: Agency Notes:		Supplier I Supplier I	Product Coo Notes:	de:	
PNC2115695B1 - 01-11	General Construction: TRAFFIC CONTROL OFFICER First Offer		\$65.00	85 / hour	\$5,525.00
Product Code: Agency Notes:		Supplier I Supplier I	Product Coo Notes:	de:	
PNC2115695B1 - -01-12	General Construction: COMMERCIAL MATERIAL FOR TEMPORARY DRIVEWAY MAINTENANCE First Offer		\$100.00	10 / cubic yard	\$1,000.00
Product Code: Agency Notes:		Supplier I Supplier I	Product Coo Notes:	de:	
PNC2115695B1- -01-13	General Construction: WORK ZONE SIGN First Offer		\$0.75	8500 / day	\$6,375.00
Product Code: Agency Notes:		Supplier I Supplier I	Product Coo Notes:	de:	
PNC2115695B1 - -01-14	General Construction: BUSINESS SIGN First Offer		\$85.00	5 / each	\$425.00
Product Code: Agency Notes:		Supplier I Supplier I	Product Cod Notes:	de:	
PNC2115695B1- -01-15	General Construction: TEMPORARY BARRIER WALL First Offer		\$25.00	100 / linear foot	\$2,500.00
Product Code: Agency Notes:		Supplier I Supplier I	Product Coo Notes:	de:	
PNC2115695B1 - -01-16	General Construction: TEMPORARY BARRIER WALL First Offer		\$25.00	150 / linear foot	\$3,750.00
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
PNC2115695B1 - -01-17	General Construction: TEMPORARY BARRIER WALL First Offer		\$15.00	150 / linear foot	\$2,250.00
Product Code: Agency Notes:		Supplier I Supplier I	Product Coo Notes:	de:	
PNC2115695B1 - -01-18	General Construction: TEMPORARY BARRIER WALL First Offer		\$25.00	150 / linear foot	\$3,750.00
Product Code: Agency Notes:		Supplier I Supplier I	Product Coo Notes:	de:	
PNC2115695B1- -01-19	General Construction: CHANNELIZING DEVICE First Offer		\$0.60	20000 / day	\$12,000.00
Product Code: Agency Notes:		Supplier I Supplier I	Product Coo Notes:	de:	
PNC2115695B1 - -01-20	General Construction: CHANNELIZING DEVICE First Offer		\$2.00	30 / day	\$60.00
Product Code: Agency Notes:		Supplier I Supplier I	Product Coo Notes:	de:	
PNC2115695B1- -01-21	General Construction: CHANNELIZING DEVICE First Offer		\$5.00	700 / linear foot	\$3,500.00
Product Code: Agency Notes:		Supplier I Supplier I	Product Coo Notes:	de:	
PNC2115695B1- -01-22	General Construction: ARROW BOARD/ADVANCE WARNING ARROW PANEL First Offer		\$15.00	700 / day	\$10,500.00
Product Code: Agency Notes:		Supplier I Supplier I	Product Coo Notes:	de:	
PNC2115695B1- -01-23	General Construction: TEMPORARY RETROREFLECTIVE PAVEMENT MARKER First Offer		\$6.00	20 / each	\$120.00
Product Code:		Supplier I Supplier I	Product Co	de:	

ellaneous Traffic a	nd County Commis	sioners			
PNC2115695B1- -01-24	General Construction: TEMPORARY PORTABLE CHANGEABLE MESSAGE SIGN First Offer	\$25.00	20 / day	\$500.00	
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:		
PNC2115695B1- -01-25	General Construction: REMOVABLE TAPE PAVEMENT MARKING First Offer	\$6.00	100 / linear foot	\$600.00	
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:		
PNC2115695B1- -01-26	General Construction: REMOVABLE TAPE PAVEMENT MARKING First Offer	\$6.00	100 / linear foot	\$600.00	
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:		
PNC2115695B1- -01-27	General Construction: REMOVABLE TAPE PAVEMENT MARKING First Offer	\$6.00	100 / linear foot	\$600.00	
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:		
PNC2115695B1- -01-28	General Construction: REMOVABLE TAPE PAVEMENT MARKING First Offer	\$6.00	100 / linear foot	\$600.00	
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:		
PNC2115695B1- -01-29	General Construction: SEDIMENT BARRIER First Offer	\$2.00	300 / linear foot	\$600.00	
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:		
PNC2115695B1- -01-30	General Construction: INLET PROTECTION SYSTEM First Offer	\$75.00	10 / each	\$750.00	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
PNC2115695B1- -01-31	General Construction: LITTER REMOVAL AND DISPOSAL First Offer	\$250.00	1 / acre	\$250.00	
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:		
PNC2115695B1- -01-32	General Construction: MOWING First Offer	\$250.00	1 / acre	\$250.00	
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:		
			l	ot Total: \$292,405.00	
PNC2115695B1	Lighting: LIGHTING CONDUCTORS First Offer	Unit Price \$1.00	Qty/Unit 500 /	Total Price \$500.00	
-02-01 Product Code:		Supplier Product Co	linear foot de:		
PNC2115695B1	Lighting: LIGHTING CONDUCTORS First Offer	Supplier Notes: \$3.00	1000 /	\$3,000.00	
Product Code:		Supplier Product Co Supplier Notes:	linear foot de:		
Agency Notes: PNC2115695B1- -02-03	Lighting: LIGHTING CONDUCTORS First Offer	\$0.25	500 / linear foot	\$125.00	
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:			
PNC2115695B1- -02-04	Lighting: LIGHTING CONDUCTORS First Offer	\$0.50	500 / linear foot	\$250.00	
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:			

cellaneous Traffic a	and County Commis	sioners			
PNC2115695B1- -02-05	Lighting: LOAD CENTER First Offer	\$5,000.00	1 / each	\$5,000.00	
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:		
PNC2115695B1- -02-06	Lighting: LOAD CENTER First Offer	\$5,000.00	1 / each	\$5,000.00	
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:		
PNC2115695B1- -02-07	Lighting: LOAD CENTER First Offer	\$500.00	1 / each	\$500.00	
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:		
PNC2115695B1- -02-08	Lighting: LOAD CENTER First Offer	\$750.00	1 / each	\$750.00	
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:		
PNC2115695B1- -02-09	Lighting: LUMINAIRE - First Offer	\$1,300.00	300 / each	\$390,000.00	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
PNC2115695B1- -02-10	Lighting: LIGHTING POLE CABLE DISTRIBUTION SYSTEM First Offer	\$1,000.00	1 / each	\$1,000.00	
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:		
		Lot Total: \$406,125.00			
Item #	Line Item	Unit Price	Qty/Unit	Total Price	
PNC2115695B1- -03-01	Roadway: CLEARING AND GRUBBING (PUSH BUTTON CONTRACT) First Offer	\$5,000.00	4 / acre	\$20,000.00	
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:		
PNC2115695B1- -03-02	Roadway: REMOVAL OF EXISTING CONCRETE PAVEMENT First Offer	\$20.00	2000 / square yard	\$40,000.00	
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:		
PNC2115695B1- -03-03	Roadway: REGULAR EXCAVATION First Offer	\$20.00	200 / cubic yard	\$4,000.00	
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:		
PNC2115695B1- -03-04	Roadway: FLOWABLE FILL First Offer	\$132.00	10 / cubic yard	\$1,320.00	
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:		
PNC2115695B1-	Roadway: TYPE B STABILIZATION First Offer	\$10.00	7500 / square yard	\$75,000.00	
-03-05			, , , , ,		
-03-05 Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:		
1		Supplier Product Co Supplier Notes: \$4.40	250 /	\$1,100.00	
Product Code: Agency Notes: PNC2115695B1- -03-06 Product Code:	Roadway: PREPARED SOIL LAYER First Offer	Supplier Notes: \$4.40 Supplier Product Co	250 / square yard	\$1,100.00	
Product Code: Agency Notes: PNC2115695B1- -03-06	Roadway: PREPARED SOIL LAYER First Offer	Supplier Notes: \$4.40	250 / square yard	\$1,100.00 \$16,500.00	

ellaneous Traffic a	and County Commis	sioners		
PNC2115695B103 - 08	Roadway: LIMEROCK, NEW MATERIAL FOR REWORKING BASE First Offer	\$50.00	50 / cubic yard	\$2,500.00
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:	
PNC2115695B1- -03-09	Roadway: OPTIONAL BASE First Offer	\$50.00	300 / square yard	\$15,000.00
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:	
PNC2115695B1- -03-10	Roadway: OPTIONAL BASE First Offer	\$60.00	150 / square yard	\$9,000.00
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:	
PNC2115695B1- -03-11	Roadway: OPTIONAL BASE First Offer	\$65.00	320 / square yard	\$20,800.00
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:	
PNC2115695B103 - 12	Roadway: OPTIONAL BASE First Offer	\$75.00	150 / square yard	\$11,250.00
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:	
PNC2115695B1- -03-13	Roadway: TURNOUT CONSTRUCTION First Offer	\$50.00	100 / square yard	\$5,000.00
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:	
PNC2115695B1 - -03-14	Roadway: TURNOUT CONSTRUCTION, ASPHALT First Offer	\$200.00	50 / ton	\$10,000.00
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:	
PNC2115695B1 - -03-15	Roadway: MILLING EXISTING ASPHALT PAVEMENT First Offer	\$15.00	2500 / square yard	\$37,500.00
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:	
PNC2115695B1 - -03-16	Roadway: MILLING EXISTING ASPHALT PAVEMENT First Offer	\$5.00	10000 / square yard	\$50,000.00
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:	
PNC2115695B1 - -03-17	Roadway: MILLING EXISTING ASPHALT PAVEMENT First Offer	\$5.00	15000 / square yard	\$75,000.00
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:	
PNC2115695B1 - -03-18	Roadway: MILLING EXISTING ASPHALT PAVEMENT First Offer	\$16.00	1250 / square yard	\$20,000.00
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:	
PNC2115695B1- -03-19	Roadway: MILLING EXISTING ASPHALT PAVEMENT First Offer	\$6.00	2500 / square yard	\$15,000.00
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:	
PNC2115695B1 - 03-20	Roadway: MILLING EXISTING ASPHALT PAVEMENT First Offer	\$5.50	5000 / square yard	\$27,500.00
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:	
PNC2115695B1- -03-21	Roadway: SUPERPAVE ASPHALTIC CONCRETE First Offer	\$400.00	5 / ton	\$2,000.00
Product Code:		Supplier Product Co	de:	

cellaneous Traffic a	ind County Commis	sioners		
Agency Notes:		Supplier Notes:		
PNC2115695B1- -03-22	Roadway: SUPERPAVE ASPHALTIC CONCRETE First Offer	\$400.00	5 / ton	\$2,000.00
Product Code: Agency Notes:		Supplier Product Coo Supplier Notes:	de:	
PNC2115695B1- -03-23	Roadway: ASPHALTIC CONCRETE FRICTION COURSE First Offer	\$275.00	300 / ton	\$82,500.00
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:	
PNC2115695B1- -03-24	Roadway: MISCELLANEOUS ASPHALT PAVEMENT First Offer	\$200.00	80 / ton	\$16,000.00
Product Code: Agency Notes:		Supplier Product Coo Supplier Notes:	de:	
PNC2115695B1- -03-25	Roadway: CLASS I CONCRETE - First Offer	\$540.00	10 / cubic yard	\$5,400.00
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:	
PNC2115695B1- -03-26	Roadway: INLET, DRAINAGE First Offer	\$4,400.00	1 / each	\$4,400.00
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:		
PNC2115695B1- -03-27	Roadway: INLET, DRAINAGE First Offer	\$8,250.00	1 / each	\$8,250.00
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:		
PNC2115695B1- -03-28	Roadway: INLET, DRAINAGE First Offer	\$6,050.00	1 / each	\$6,050.00
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:	
PNC2115695B1- -03-29	Roadway: INLET, DRAINAGE First Offer	\$4,730.00	1 / each	\$4,730.00
Product Code: Agency Notes:		Supplier Product Coo Supplier Notes:	de:	
PNC2115695B1- -03-30	Roadway: INLET, DRAINAGE First Offer	\$4,620.00	1 / each	\$4,620.00
Product Code: Agency Notes:		Supplier Product Coo Supplier Notes:	de:	
PNC2115695B1- -03-31	Roadway: INLET, DRAINAGE First Offer	\$3,300.00	1 / each	\$3,300.00
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:	
PNC2115695B1- -03-32	Roadway: INLET, DRAINAGE First Offer	\$5,060.00	1 / each	\$5,060.00
Product Code: Agency Notes:		Supplier Product Coo Supplier Notes:	de:	
PNC2115695B1- -03-33	Roadway: INLET, DRAINAGE First Offer	\$3,740.00	1 / each	\$3,740.00
Product Code: Agency Notes:		Supplier Product Coo Supplier Notes:	de:	
PNC2115695B1- -03-34	Roadway: INLET, DRAINAGE First Offer	\$3,520.00	1 / each	\$3,520.00
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:	
PNC2115695B1- -03-35	Roadway: INLET, DRAINAGE First Offer	\$3,410.00	1 / each	\$3,410.00

scellaneous Traffic and	County Commis	sioners		
Product Code: Agency Notes:		Supplier Product Coo Supplier Notes:	de:	
PNC2115695B1- -03-36	Roadway: INLET, DRAINAGE First Offer	\$2,200.00	1 / each	\$2,200.00
Product Code: Agency Notes:		Supplier Product Coo Supplier Notes:	de:	
PNC2115695B1- -03-37	Roadway: INLET, DRAINAGE First Offer	\$3,630.00	1 / each	\$3,630.00
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:	
PNC2115695B1- -03-38	Roadway: INLET, DRAINAGE First Offer	\$3,960.00	1 / each	\$3,960.00
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:	
PNC2115695B1- -03-39	Roadway: INLET, DRAINAGE First Offer	\$3,960.00	1 / each	\$3,960.00
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:		
PNC2115695B1- -03-40	Roadway: MANHOLE, DRAINAGE First Offer	\$4,070.00	1 / each	\$4,070.00
Product Code: Agency Notes:		Supplier Product Coo Supplier Notes:	de:	
PNC2115695B1- -03-41	Roadway: MANHOLE, DRAINAGE First Offer	\$3,520.00	1 / each	\$3,520.00
Product Code: Agency Notes:		Supplier Product Coo Supplier Notes:	de:	
PNC2115695B1- -03-42	Roadway: MANHOLE, DRAINAGE First Offer	\$7,480.00	1 / each	\$7,480.00
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:	
PNC2115695B1- -03-43	Roadway: JUNCTION BOXES, DRAINAGE First Offer	\$3,520.00	1 / each	\$3,520.00
Product Code: Agency Notes:		Supplier Product Coo Supplier Notes:	de:	
PNC2115695B1- -03-44	Roadway: JUNCTION BOXES, DRAINAGE First Offer	\$3,300.00	1 / each	\$3,300.00
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:	
PNC2115695B1- -03-45	Roadway: ADJUST INLET First Offer	\$440.00	1 / each	\$440.00
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:	
PNC2115695B1- -03-46	Roadway: ADJUST MANHOLES First Offer	\$400.00	1 / each	\$400.00
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:	
PNC2115695B1- -03-47	Roadway: ADJUST MANHOLES First Offer	\$425.00	1 / each	\$425.00
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:	
PNC2115695B1- -03-48	Roadway: ADJUST VALVE BOX First Offer	\$350.00	1 / each	\$350.00
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:	

cellaneous Traffic and	County Commis	sioners		
PNC2115695B1- -03-49	Roadway: REPLACE GRATE First Offer	\$1,760.00	1 / each	\$1,760.00
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:	
PNC2115695B1- -03-50	Roadway: PIPE CULVERT OPTIONAL MATERIAL First Offer	\$89.00	24 / linear foot	\$2,136.00
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:	
PNC2115695B1- -03-51	Roadway: PIPE CULVERT OPTIONAL MATERIAL First Offer	\$82.50	24 / linear foot	\$1,980.00
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:	
PNC2115695B1- -03-52	Roadway: PIPE CULVERT OPTIONAL MATERIAL First Offer	\$104.50	24 / linear foot	\$2,508.00
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:	
PNC2115695B1- -03-53	Roadway: PIPE CULVERT OPTIONAL MATERIAL First Offer	\$99.00	24 / linear foot	\$2,376.00
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:	
PNC2115695B1- -03-54	Roadway: PIPE CULVERT OPTIONAL MATERIAL First Offer	\$115.50	24 / linear foot	\$2,772.00
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:	
PNC2115695B1- -03-55	Roadway: PIPE CULVERT OPTIONAL MATERIAL First Offer	\$110.00	24 / linear foot	\$2,640.00
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:	
PNC2115695B1- -03-56	Roadway: PIPE CULVERT OPTIONAL MATERIAL First Offer	\$93.50	24 / linear foot	\$2,244.00
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:	
PNC2115695B1- -03-57	Roadway: PIPE CULVERT OPTIONAL MATERIAL First Offer	\$88.00	24 / linear foot	\$2,112.00
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:	
PNC2115695B1- -03-58	Roadway: PIPE CULVERT OPTIONAL MATERIAL First Offer	\$110.00	24 / linear foot	\$2,640.00
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:	
PNC2115695B1- -03-59	Roadway: PIPE CULVERT OPTIONAL MATERIAL First Offer	\$104.50	24 / linear foot	\$2,508.00
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:	
PNC2115695B1- -03-60	Roadway: PIPE CULVERT OPTIONAL MATERIAL First Offer	\$121.00	24 / linear foot	\$2,904.00
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:	
PNC2115695B1- -03-61	Roadway: FRENCH DRAIN First Offer	\$165.00	40 / linear foot	\$6,600.00
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:	
PNC2115695B1- -03-62	Roadway: PIPE HANDRAIL, GUIDERAIL First Offer	\$83.94	20 / linear foot	\$1,678.80
Product Code:		Supplier Product Co	de:	

eliarieous Trailic a	ind County Commis	01011010			
Agency Notes:		Supplier Notes:			
PNC2115695B1- -03-63	Roadway: CONCRETE CURB AND GUTTER First Offer	\$30.00	1500 / linear foot	\$45,000.00	
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:		
PNC2115695B1- -03-64	Roadway: CONCRETE CURB AND GUTTER First Offer	\$25.00	100 / linear foot	\$2,500.00	
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:		
PNC2115695B1- -03-65	Roadway: CONCRETE CURB First Offer	\$25.00	400 / linear foot	\$10,000.00	
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:		
PNC2115695B1- -03-66	Roadway: CONCRETE TRAFFIC SEPARATOR First Offer	\$45.00	50 / linear foot	\$2,250.00	
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:		
PNC2115695B1- -03-67	Roadway: CONCRETE TRAFFIC SEPARATOR, SPECIAL, VARIABLE WIDTH First Offer	\$75.00	50 / square yard	\$3,750.00	
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:		
PNC2115695B1- -03-68	Roadway: CONCRETE SIDEWALK AND DRIVEWAYS, 4 INCH THICK First Offer	\$35.00	150 / square yard	\$5,250.00	
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:		
PNC2115695B1- -03-69	Roadway: CONCRETE SIDEWALK AND DRIVEWAY, 6 INCH THICK First Offer	\$54.00	1500 / square yard	\$81,000.00	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
PNC2115695B1- -03-70	Roadway: PATTERNED PAVEMENT First Offer	\$75.00	50 / square yard	\$3,750.00	
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:		
PNC2115695B1 - 03-71	Roadway: ARCHITECTURAL PAVERS First Offer	\$63.00	50 / square yard	\$3,150.00	
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:			
PNC2115695B1 - -03-72	Roadway: DETECTABLE WARNINGS First Offer	\$20.00	2000 / square foot	\$40,000.00	
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:		
PNC2115695B1- -03-73	Roadway: GUARDRAIL First Offer	\$33.00	50 / linear foot	\$1,650.00	
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:		
PNC2115695B1- -03-74	Roadway: GUARDRAIL REMOVAL First Offer	\$9.60	50 / linear foot	\$480.00	
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:		
PNC2115695B1- -03-75	Roadway: GUARDRAIL END ANCHORAGE ASSEMBLY, END TREATMENT First Offer	\$4,320.00	1 / each	\$4,320.00	
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:		
PNC2115695B1 - -03-76	Roadway: GUARDRAIL END ANCHORAGE ASSEMBLY, END TREATMENT First Offer	\$1,194.00	1 / each	\$1,194.00	

cellaneous Traffic a	and County Commis	sioners
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:
PNC2115695B1- -03-77	Roadway: GUARDRAIL END ANCHORAGE ASSEMBLY, END TREATMENT First Offer	\$1,194.00 1 / each \$1,194.00
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:
PNC2115695B1- -03-78	Roadway: FENCING First Offer	\$20.40 100 / \$2,040.00
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:
PNC2115695B1- -03-79	Roadway: FENCING First Offer	\$35.40 100 / \$3,540.00
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:
PNC2115695B1- -03-80	Roadway: PERFORMANCE TURF First Offer	\$4.50 800 / \$3,600.00 square yard
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:
PNC2115695B1- -03-81	Roadway: EMBANKMENT First Offer	\$48.00 50 / cubic \$2,400.00 yard
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:
PNC2115695B1- -03-82	Roadway: FIRE HYDRANT First Offer	\$2,000.00 3 / each \$6,000.00
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:
PNC2115695B1- -03-83	Roadway: PIPE CULVERT OPTIONAL MATERIAL First Offer	\$115.00 20 / ton \$2,300.00
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:
PNC2115695B1- -03-84	Roadway: FILLING AND PLUGGING PIPE, PLACE OUT OF SERVICE - First Offer	\$385.00
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:
PNC2115695B1- -03-85	Roadway: DRILLED SHAFT CASING First Offer	\$500.00 15 / linear \$7,500.00 foot
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:
		Lot Total: \$920,356.80
Item #	Line Item	Unit Price Qty/Unit Total Price
PNC2115695B1- -04-01	Signalization: CONDUIT First Offer	\$28.00 500 / \$14,000.00 linear foot
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:
PNC2115695B1- -04-02	Signalization: CONDUIT First Offer	\$14.00 500 / \$7,000.00
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:
PNC2115695B1- -04-03	Signalization: CONDUIT First Offer	\$13.00 1000 / \$13,000.00
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:
PNC2115695B1- -04-04	Signalization: CONDUIT First Offer	\$10.00 1000 / \$10,000.00

cellaneous Traffic and	County Commi	ssioners
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:
PNC2115695B1- -04-05	Signalization: CONDUIT First Offe	\$15.00 500 / \$7,500.00 linear foot
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:
PNC2115695B1- -04-06	Signalization: CONDUIT First Offe	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:
PNC2115695B1- -04-07	Signalization: CONDUIT First Offe	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:
PNC2115695B1- -04-08	Signalization: CONDUIT First Offe	\$26.00 500 / \$13,000.00 linear foot
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:
PNC2115695B1- -04-09	Signalization: CONDUIT First Offe	\$25.00 1000 / \$25,000.00 linear foot
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:
PNC2115695B1- -04-10	Signalization: CONDUIT First Offe	\$16.00 500 / \$8,000.00 linear foot
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:
PNC2115695B1- -04-11	Signalization: CONDUIT First Offe	\$18.00 1000 / \$18,000.00 linear foot
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:
PNC2115695B1- -04-12	Signalization: CONDUIT First Offe	\$17.00 1000 / \$17,000.00 linear foot
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:
PNC2115695B1- -04-13	Signalization: CONDUIT First Offe	\$30.00 50 / linear \$1,500.00 foot
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:
PNC2115695B1- -04-14	Signalization: CONDUIT First Offe	\$30.00 100 / \$3,000.00 linear foot
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:
PNC2115695B1- -04-15	Signalization: CONDUIT First Offe	\$50.00 100 / \$5,000.00 linear foot
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:
PNC2115695B1- -04-16	Signalization: CONDUIT First Offe	\$20.00 100 / \$2,000.00 linear foot
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:
PNC2115695B1- -04-17	Signalization: SIGNAL CABLE First Offe	\$12,000.00 10 / per \$120,000.00 intersection
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:

cellaneous Traffic and	I County Commis	sioners			
PNC2115695B104-18	Signalization: SIGNAL CABLE First Offer	:	\$5.00	15000 / linear foot	\$75,000.00
Product Code: Agency Notes:		Supplier Produ Supplier Notes		de:	
PNC2115695B1- -04-19	Signalization: SIGNAL CABLE First Offer		00.00	5 / per intersection	\$5,000.00
Product Code: Agency Notes:		Supplier Produ Supplier Notes		de:	
PNC2115695B1- -04-20	Signalization: SIGNAL CABLE First Offer		\$0.10	25000 / linear foot	\$2,500.00
Product Code: Agency Notes:		Supplier Produ Supplier Notes		de:	
PNC2115695B1- -04-21	Signalization: FIBER OPTIC CABLE First Offer		\$4.00	10000 / linear foot	\$40,000.00
Product Code: Agency Notes:		Supplier Produ Supplier Notes		de:	
PNC2115695B1- -04-22	Signalization: FIBER OPTIC CABLE First Offer		\$3.06	5000 / linear foot	\$15,300.00
Product Code: Agency Notes:		Supplier Produ Supplier Notes		de:	
PNC2115695B1- -04-23	Signalization: FIBER OPTIC CABLE First Offer		\$4.05	5000 / linear foot	\$20,250.00
Product Code: Agency Notes:		Supplier Produ Supplier Notes		de:	
PNC2115695B1- -04-24	Signalization: FIBER OPTIC CABLE First Offer	:	\$4.20	5000 / linear foot	\$21,000.00
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
PNC2115695B1- -04-25	Signalization: FIBER OPTIC CABLE First Offer		\$4.50	50000 / linear foot	\$225,000.00
Product Code: Agency Notes:		Supplier Produ Supplier Notes		de:	
PNC2115695B1- -04-26	Signalization: FIBER OPTIC CABLE First Offer		\$5.15	1200 / linear foot	\$6,180.00
Product Code: Agency Notes:		Supplier Produ Supplier Notes		de:	
PNC2115695B1- -04-27	Signalization: FIBER OPTIC CABLE First Offer	;	\$0.60	5000 / linear foot	\$3,000.00
Product Code: Agency Notes:		Supplier Produ Supplier Notes		de:	
PNC2115695B1- -04-28	Signalization: FIBER OPTIC CONNECTION First Offer	\$	42.00	500 / each	\$21,000.00
Product Code: Agency Notes:		Supplier Produ Supplier Notes		de:	
PNC2115695B104-29	Signalization: FIBER OPTIC CONNECTION First Offer	\$	90.00	100 / each	\$9,000.00
Product Code: Agency Notes:		Supplier Produ Supplier Notes		de:	
PNC2115695B104 - 30	Signalization: FIBER OPTIC CONNECTION HARDWARE First Offer	\$8	70.00	25 / each	\$21,750.00
Product Code: Agency Notes:		Supplier Produ Supplier Notes		de:	
PNC2115695B1- -04-31	Signalization: FIBER OPTIC CONNECTION HARDWARE First Offer	\$	60.00	75 / each	\$4,500.00
Product Code:		Supplier Produ	ct Co	de:	

bid #PNC2115695B1 -Miscellaneous Traffic and

Broward County Board of County Commissioners

Agency Notes:	•	Supplier Notes:		
PNC2115695B1- -04-32	Signalization: FIBER OPTIC CONNECTION HARDWARE First Offer	\$1,158.00	10 / each	\$11,580.00
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:		
PNC2115695B1- -04-33	Signalization: FIBER OPTIC CONNECTION HARDWARE First Offer	\$78.00	10 / each	\$780.00
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:	
PNC2115695B1- -04-34	Signalization: FIBER OPTIC CONNECTION HARDWARE First Offer	\$1,254.00	20 / each	\$25,080.00
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:	
PNC2115695B1- -04-35	Signalization: FIBER OPTIC CONNECTION HARDWARE First Offer	\$870.00	15 / each	\$13,050.00
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:	
PNC2115695B1- -04-36	Signalization: FIBER OPTIC CONNECTION HARDWARE First Offer	\$114.00	15 / each	\$1,710.00
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:		
PNC2115695B1- -04-37	Signalization: FIBER OPTIC CONNECTION HARDWARE First Offer	\$300.00	15 / each	\$4,500.00
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:		
PNC2115695B1- -04-38	Signalization: FIBER OPTIC CONNECTION HARDWARE First Offer	\$420.00	10 / each	\$4,200.00
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:		
PNC2115695B1- -04-39	Signalization: FIBER OPTIC CONNECTION HARDWARE First Offer	\$48.00	10 / each	\$480.00
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:		
PNC2115695B1- -04-40	Signalization: FIBER OPTIC CONNECTION HARDWARE First Offer	\$750.00	10 / each	\$7,500.00
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:	
PNC2115695B1- -04-41	Signalization: FIBER OPTIC CONNECTION HARDWARE First Offer	\$750.00	20 / each	\$15,000.00
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:	
PNC2115695B1- -04-42	Signalization: FIBER OPTIC CONNECTION HARDWARE First Offer	\$570.00	20 / each	\$11,400.00
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:	
PNC2115695B1 - -04-43	Signalization: SIGNALS COMMUNICATION CABLE, TWISTED PAIR CABLE First Offer	\$0.50	10000 / linear foot	\$5,000.00
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:	
PNC2115695B1- -04-44	Signalization: SIGNALS COMMUNICATION CABLE, TWISTED PAIR CABLE First Offer	\$0.25	10000 / linear foot	\$2,500.00
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:	
PNC2115695B1- -04-45	Signalization: SPAN WIRE ASSEMBLY First Offer	\$2,000.00	1 / per intersection	\$2,000.00

cellaneous Trailic and	County Commis			
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:	
PNC2115695B1- -04-46	Signalization: SPAN WIRE ASSEMBLY First Offer	\$3,000.00	1 / per intersection	\$3,000.00
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:		
PNC2115695B1- -04-47	Signalization: SPAN WIRE ASSEMBLY First Offer	\$4,500.00	1 / per intersection	\$4,500.00
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:		
PNC2115695B1- -04-48	Signalization: SPAN WIRE ASSEMBLY First Offer	\$500.00	4 / per intersection	\$2,000.00
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:	
PNC2115695B1- -04-49	Signalization: PULL AND SPLICE BOX First Offer	\$1,200.00	200 / each	\$240,000.00
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:	
PNC2115695B1- -04-50	Signalization: PULL AND SPLICE BOX First Offer	\$1,800.00	20 / each	\$36,000.00
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:		
PNC2115695B1- -04-51	Signalization: PULL AND SPLICE BOX First Offer	\$3,000.00	20 / each	\$60,000.00
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:		
PNC2115695B1- -04-52	Signalization: PULL AND SPLICE BOX First Offer	\$3,000.00	2 / each	\$6,000.00
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:		
PNC2115695B1- -04-53	Signalization: PULL AND SPLICE BOX First Offer	\$3,300.00	2 / each	\$6,600.00
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:	
PNC2115695B1- -04-54	Signalization: PULL AND SPLICE BOX First Offer	\$3,000.00	1 / each	\$3,000.00
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:	
PNC2115695B1- -04-55	Signalization: PULL AND SPLICE BOX First Offer	\$1,000.00	6 / each	\$6,000.00
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:	
PNC2115695B1- -04-56	Signalization: ELECTRIC POWER SERVICE - First Offer	\$1,850.00	5/ assembly	\$9,250.00
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:	
PNC2115695B1- -04-57	Signalization: ELECTRIC POWER SERVICE First Offer	\$1,733.60	5 / assembly	\$8,668.00
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:	
PNC2115695B1- -04-58	Signalization: ELECTRIC POWER SERVICE First Offer	\$5,000.00	5 / assembly	\$25,000.00
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:		
T		1	1 1	

lization: ELECTRIC POWER SERVICE First Offer lization: ELECTRIC POWER SERVICE First Offer lization: ELECTRIC POWER SERVICE First Offer lization: ELECTRICAL SERVICE WIRE First Offer lization: ELECTRICAL SERVICE WIRE First Offer	Supplier Product Coc Supplier Notes: \$300.00 Supplier Product Coc Supplier Notes: \$400.00 Supplier Product Coc Supplier Notes: \$10.00 Supplier Product Coc Supplier Notes: \$3.00	2 / assembly de: 2 / assembly de: 2000 / linear foot de:	\$10,000.00 \$600.00 \$800.00
ization: ELECTRIC POWER SERVICE First Offer ization: ELECTRICAL SERVICE WIRE First Offer ization: ELECTRICAL SERVICE WIRE First Offer	Supplier Notes: \$300.00 Supplier Product Coc Supplier Notes: \$400.00 Supplier Product Coc Supplier Notes: \$10.00 Supplier Product Coc Supplier Notes: \$3.00	2 / assembly de: 2 / assembly de: 2000 / linear foot de:	\$800.00
ization: ELECTRIC POWER SERVICE First Offer ization: ELECTRICAL SERVICE WIRE First Offer ization: ELECTRICAL SERVICE WIRE First Offer	\$300.00 Supplier Product Coc Supplier Notes: \$400.00 Supplier Product Coc Supplier Notes: \$10.00 Supplier Product Coc Supplier Notes: \$3.00	assembly de: 2 / assembly de: 2000 / linear foot de: 1000 /	\$800.00
ization: ELECTRICAL SERVICE WIRE First Offer ization: ELECTRICAL SERVICE WIRE First Offer	Supplier Notes: \$400.00 Supplier Product Coc Supplier Notes: \$10.00 Supplier Product Coc Supplier Notes: \$3.00	2 / assembly de: 2000 / linear foot de: 1000 /	
ization: ELECTRICAL SERVICE WIRE First Offer ization: ELECTRICAL SERVICE WIRE First Offer	Supplier Product Coo Supplier Notes: \$10.00 Supplier Product Coo Supplier Notes: \$3.00	assembly de: 2000 / linear foot de: 1000 /	
ization: ELECTRICAL SERVICE WIRE First Offer	Supplier Notes: \$10.00 Supplier Product Cod Supplier Notes: \$3.00	2000 / linear foot de:	\$20,000.00
ization: ELECTRICAL SERVICE WIRE First Offer	\$10.00 Supplier Product Cod Supplier Notes:	de:	\$20,000.00
	Supplier Notes:	1000 /	
	·		
ization: FLECTDICAL SEDVICE WIDE First Office	Supplier Product Co.	linear foot	\$3,000.00
ization: ELECTRICAL SEDVICE MIDE First Offer	Supplier Product Code: Supplier Notes:		
IZZUOII. LELOTINICAL SERVICE WIRE FIISI UIIEI	\$0.25	1000 / linear foot	\$250.00
	Supplier Product Code: Supplier Notes:		
tion: ELECTRICAL SERVICE DISCONNECT First Offer	\$1,500.00	2 / each	\$3,000.00
	Supplier Product Code: Supplier Notes:		
tion: ELECTRICAL SERVICE DISCONNECT First Offer	\$1,000.00	2 / each	\$2,000.00
	Supplier Product Code: Supplier Notes:		
tion: ELECTRICAL SERVICE DISCONNECT First Offer	\$125.00	1 / each	\$125.00
	Supplier Product Code: Supplier Notes:		
n: PRESTRESSED CONCRETE POLE First Offer	\$2,000.00	5 / each	\$10,000.00
	Supplier Product Coo Supplier Notes:	de:	
n: PRESTRESSED CONCRETE POLE First Offer	\$7,500.00	1 / each	\$7,500.00
	Supplier Product Coo Supplier Notes:	de:	
n: PRESTRESSED CONCRETE POLE First Offer	\$7,750.00	1 / each	\$7,750.00
	Supplier Product Coo Supplier Notes:	de:	
n: PRESTRESSED CONCRETE POLE First Offer	\$8,000.00	1 / each	\$8,000.00
	Supplier Product Coo Supplier Notes:	de:	
n: PRESTRESSED CONCRETE POLE - First Offer	\$8,500.00	1 / each	
	ntion: ELECTRICAL SERVICE DISCONNECT First Offer stion: ELECTRICAL SERVICE DISCONNECT First Offer nt: PRESTRESSED CONCRETE POLE First Offer	Supplier Product Consupplier Notes: Ition: ELECTRICAL SERVICE DISCONNECT First Offer Supplier Product Consupplier Notes: Ition: ELECTRICAL SERVICE DISCONNECT First Offer Supplier Product Consupplier Notes: Supplier Product Consupplier Notes:	Supplier Product Code: Supplier Notes: Stion: ELECTRICAL SERVICE DISCONNECT First Offer Supplier Product Code: Supplier Notes: Supplier Product Code:

Selianeous Trainc a	and County Commis	Sioners		
Agency Notes:		Supplier Notes:		
PNC2115695B1- -04-73	Signalization: PRESTRESSED CONCRETE POLE First Offer	\$350.00	2 / each	\$700.00
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:		
PNC2115695B1- -04-74	Signalization: PRESTRESSED CONCRETE POLE First Offer	\$1,500.00	20 / each	\$30,000.00
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:		
PNC2115695B1- -04-75	Signalization: PRESTRESSED CONCRETE POLE First Offer	\$2,000.00	1 / each	\$2,000.00
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:		
PNC2115695B1- -04-76	Signalization: WOOD STRAIN POLE First Offer	\$500.00	5 / each	\$2,500.00
Product Code: Agency Notes:		Supplier Product Co. Supplier Notes:	de:	
PNC2115695B1- -04-77	Signalization: WOOD STRAIN POLE First Offer	\$600.00	5 / each	\$3,000.00
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:		
PNC2115695B1- -04-78	Signalization: WOOD STRAIN POLE First Offer	\$100.00	4 / each	\$400.00
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:		
PNC2115695B1- -04-79	Signalization: ALUMINUM SIGNALS POLE First Offer	\$4,500.00	25 / each	\$112,500.00
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:		
PNC2115695B1- -04-80	Signalization: ALUMINUM SIGNALS POLE First Offer	\$600.00	2 / each	\$1,200.00
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:		
PNC2115695B1 - -04-81	Signalization: ALUMINUM SIGNALS POLE First Offer	\$600.00	1 / each	\$600.00
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:	
PNC2115695B1- -04-82	Signalization: ALUMINUM SIGNALS POLE First Offer	\$300.00	1 / each	\$300.00
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:	
PNC2115695B1- -04-83	Signalization: STEEL MAST ARM ASSEMBLY First Offer	\$31,240.00	5 / each	\$156,200.00
Product Code: Agency Notes:		Supplier Product Co. Supplier Notes:	de:	
PNC2115695B1- -04-84	Signalization: STEEL MAST ARM ASSEMBLY First Offer	\$44,000.00	10 / each	\$440,000.00
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:	
PNC2115695B1- -04-85	Signalization: STEEL MAST ARM ASSEMBLY First Offer	\$62,975.00	1 / each	\$62,975.00
Product Code: Agency Notes:		Supplier Product Co. Supplier Notes:	de:	
PNC2115695B1- -04-86	Signalization: STEEL MAST ARM ASSEMBLY First Offer	\$64,875.00	1 / each	\$64,875.00

cellaneous Traffic and	d County Commis	sioners		
Product Code: Agency Notes:		Supplier Product Co- Supplier Notes:	de:	
PNC2115695B1 - -04-87	Signalization: STEEL MAST ARM ASSEMBLY First Offer	\$67,139.00	1 / each	\$67,139.00
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:		
PNC2115695B1 - -04-88	Signalization: STEEL MAST ARM ASSEMBLY First Offer	\$52,000.00	10 / each	\$520,000.00
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:	
PNC2115695B1- -04-89	Signalization: STEEL MAST ARM ASSEMBLY First Offer	\$64,305.00	1 / each	\$64,305.00
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:		
PNC2115695B1- -04-90	Signalization: STEEL MAST ARM ASSEMBLY First Offer	\$65,304.00	1 / each	\$65,304.00
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:	
PNC2115695B1 - -04-91	Signalization: STEEL MAST ARM ASSEMBLY First Offer	\$65,201.00	1 / each	\$65,201.00
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:		
PNC2115695B1- -04-92	Signalization: STEEL MAST ARM ASSEMBLY First Offer	\$76,999.00	1 / each	\$76,999.00
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:		
PNC2115695B1- -04-93	Signalization: STEEL MAST ARM ASSEMBLY First Offer	\$34,500.00	5 / each	\$172,500.00
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:		
PNC2115695B1- -04-94	Signalization: STEEL MAST ARM ASSEMBLY First Offer	\$46,731.00	1 / each	\$46,731.00
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:		
PNC2115695B1- -04-95	Signalization: STEEL MAST ARM ASSEMBLY First Offer	\$40,010.00	1 / each	\$40,010.00
Product Code: Agency Notes:		Supplier Product Co- Supplier Notes:	de:	
PNC2115695B1- -04-96	Signalization: STEEL MAST ARM ASSEMBLY First Offer	\$56,170.00	1 / each	\$56,170.00
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:	
PNC2115695B1- -04-97	Signalization: STEEL MAST ARM ASSEMBLY First Offer	\$58,227.00	1 / each	\$58,227.00
Product Code: Agency Notes:		Supplier Product Coo Supplier Notes:	de:	
PNC2115695B1- -04-98	Signalization: STEEL MAST ARM ASSEMBLY First Offer		15 / each	\$75,000.00
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:	
PNC2115695B1- -04-99	Signalization: STEEL MAST ARM ASSEMBLY First Offer		15 / each	\$300,000.00
Product Code: Agency Notes:		Supplier Product Coo Supplier Notes:	de:	
		ı	1	

cellaneous Traffic and	d County Commis	ssioners		
PNC2115695B1- -04-100	Signalization: STEEL MAST ARM ASSEMBLY First Offer	\$2,000.00	1 / each	\$2,000.00
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:	
PNC2115695B1 - -04-101	Signalization: STEEL MAST ARM ASSEMBLY First Offer		1 / each	\$3,500.00
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:	
PNC2115695B1 - -04-102	Signalization: STEEL MAST ARM ASSEMBLY First Offer	\$500.00	1 / each	\$500.00
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:	
PNC2115695B1- -04-103	Signalization: STEEL MAST ARM ASSEMBLY, EXISTING POLES, MAINTENANCE ACTIVITIES - First Offer	\$3,000.00	10 / each	\$30,000.00
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:	
PNC2115695B1 - 04 - 104	Signalization: VEHICULAR TRAFFIC SIGNAL First Offer	\$990.00	2 / assembly	\$1,980.00
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:	
PNC2115695B1- -04-105	Signalization: VEHICULAR TRAFFIC SIGNAL First Offer	\$1,500.00	50 / assembly	\$75,000.00
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:		
PNC2115695B1 - -04-106	Signalization: VEHICULAR TRAFFIC SIGNAL First Offer	\$1,600.00	2 / assembly	\$3,200.00
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:		
PNC2115695B1- -04-107	Signalization: VEHICULAR TRAFFIC SIGNAL First Offer	\$1,700.00	25 / assembly	\$42,500.00
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:		
PNC2115695B1 - -04-108	Signalization: VEHICULAR TRAFFIC SIGNAL First Offer	\$1,750.00	25 / assembly	\$43,750.00
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:	
PNC2115695B1 - -04-109	Signalization: VEHICULAR TRAFFIC SIGNAL First Offer	\$50.00	20 / assembly	\$1,000.00
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:	
PNC2115695B1- -04-110	Signalization: PEDESTRIAN SIGNAL First Offer	\$950.00	40 / assembly	\$38,000.00
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:	
PNC2115695B1 - -04-111	Signalization: PEDESTRIAN SIGNAL First Offer	\$1,600.00	4 / assembly	\$6,400.00
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:	
PNC2115695B1- -04-112	Signalization: PEDESTRIAN SIGNAL First Offer	\$25.00	20 / assembly	\$500.00
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:	
	Signalization: IN ROADWAY LIGHT ASSEMBLY - First Offer		1/ assembly	\$45,000.00
Product Code:		Supplier Product Co	,	

bid #PNC2115695B1 -Miscellaneous Traffic and

Broward County Board of County Commissioners

cellarieous Trailic a	riu County Commis	Sioners		
Agency Notes:		Supplier Notes:		
PNC2115695B1- -04-114	Signalization: IN ROADWAY LIGHT ASSEMBLY - First Offer	\$50,000.00	1 / assembly	\$50,000.00
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:		
PNC2115695B1- -04-115	Signalization: RECTANGULAR RAPID FLASHING BEACON SIGN ASSEMBLY - First Offer	\$7,000.00	1 / assembly	\$7,000.00
Product Code: Agency Notes:		Supplier Product Co- Supplier Notes:	de:	
PNC2115695B1 - -04-116	Signalization: RECTANGULAR RAPID FLASHING BEACON SIGN ASSEMBLY - First Offer	\$7,500.00	1/ assembly	\$7,500.00
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:		
PNC2115695B1 - -04-117	Signalization: RECTANGULAR RAPID FLASHING BEACON SIGN ASSEMBLY - First Offer	\$5,000.00	1 / each	\$5,000.00
Product Code: Agency Notes:		Supplier Product Co- Supplier Notes:	de:	
PNC2115695B1- -04-118	Signalization: RECTANGULAR RAPID FLASHING BEACON SIGN ASSEMBLY - First Offer	\$7,500.00	5 / assembly	\$37,500.00
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:		
PNC2115695B1- -04-119	Signalization: RECTANGULAR RAPID FLASHING BEACON SIGN ASSEMBLY - First Offer	\$8,000.00	5 / assembly	\$40,000.00
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:		
PNC2115695B1- -04-120	Signalization: RECTANGULAR RAPID FLASHING BEACON SIGN ASSEMBLY - First Offer	\$500.00	1 / assembly	\$500.00
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:		
PNC2115695B1- -04-121	Signalization: PEDESTRIAN HYBRID BEACON ASSEMBLY First Offer	\$2,000.00	1/ assembly	\$2,000.00
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:		
PNC2115695B1- -04-122	Signalization: PEDESTRIAN HYBRID BEACON ASSEMBLY First Offer	\$125.00	1 / assembly	\$125.00
Product Code: Agency Notes:		Supplier Product Co- Supplier Notes:	de:	
PNC2115695B1 - -04-123	Signalization: VEHICLE DETECTION SYSTEM, VIDEO - First Offer	\$4,000.00	30 / each	\$120,000.00
Product Code: Agency Notes:		Supplier Product Co- Supplier Notes:	de:	
PNC2115695B1- -04-124	Signalization: VEHICLE DETECTION SYSTEM, VIDEO - First Offer	\$4,500.00	25 / each	\$112,500.00
Product Code: Agency Notes:		Supplier Product Co- Supplier Notes:	de:	
PNC2115695B1 - -04 - 125	Signalization: VEHICLE DETECTION SYSTEM, VIDEO - First Offer	\$200.00	15 / each	\$3,000.00
Product Code: Agency Notes:		Supplier Product Co- Supplier Notes:	de:	
PNC2115695B1- -04-126	Signalization: SIGNAL PRIORITY AND PREEMPTION SYSTEM First Offer	\$6,000.00	2 / each	\$12,000.00
Product Code: Agency Notes:		Supplier Product Co- Supplier Notes:	de:	
PNC2115695B1- -04-127	Signalization: SIGNAL PRIORITY AND PREEMPTION SYSTEM First Offer	\$6,000.00	2 / each	\$12,000.00

cellaneous Traffic a	and County Commis	ssioners		
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:		
PNC2115695B1- -04-128	Signalization: SIGNAL PRIORITY AND PREEMPTION SYSTEM First Offer			
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:		
PNC2115695B1- -04-129	Signalization: PEDESTRIAN DETECTOR First Offer	\$250.00 25 / each \$6,250.00		
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:		
PNC2115695B1 - -04-130	Signalization: PEDESTRIAN DETECTOR First Offer	\$1,500.00 3 / each \$4,500.00		
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:		
PNC2115695B1 - -04-131	Signalization: PEDESTRIAN DETECTOR First Offer	\$25.00 20 / each \$500.00		
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:		
PNC2115695B1 - -04-132	Signalization: TRAFFIC CONTROLLER ASSEMBLY First Offer			
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:		
PNC2115695B1 - -04-133	Signalization: TRAFFIC CONTROLLER ASSEMBLY First Offer			
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:		
PNC2115695B1- -04-134	Signalization: TRAFFIC CONTROLLER ASSEMBLY First Offer			
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:		
PNC2115695B1- -04-135	Signalization: TRAFFIC CONTROLLER ASSEMBLY First Offer			
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:		
PNC2115695B1 - -04-136	Signalization: MANAGED FIELD ETHERNET SWITCH First Offer			
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:		
PNC2115695B1 - -04-137	Signalization: DIGITAL VIDEO ENCODER WITH SOFTWARE DECODER First Offer			
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:		
PNC2115695B1 - -04-138	Signalization: LIGHT POLE COMPLETE, LUMINAIRE, POLE, FOUNDATION First Offer			
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:		
PNC2115695B1 - -04-139	Signalization: LIGHT POLE COMPLETE, LUMINAIRE, POLE, FOUNDATION First Offer			
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:		
PNC2115695B1- -04-140	Signalization: LIGHT POLE COMPLETE, LUMINAIRE, POLE, FOUNDATION First Offer			
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:		

ellaneous Traffic a	and County Commis	sioners			
PNC2115695B1- -04-141	Signalization: LIGHT POLE COMPLETE, LUMINAIRE, POLE, FOUNDATION First Offer	\$7,700.00	5 / each	\$38,500.00	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
PNC2115695B1- -04-142	Signalization: LIGHT POLE COMPLETE, LUMINAIRE, POLE, FOUNDATION First Offer	\$8,250.00	2 / each	\$16,500.00	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
PNC2115695B1- -04-143	Signalization: LIGHT POLE COMPLETE, LUMINAIRE, POLE, FOUNDATION First Offer	\$5,000.00	2 / each	\$10,000.00	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
PNC2115695B1- -04-144	Signalization: LIGHT POLE COMPLETE, LUMINAIRE, POLE, FOUNDATION First Offer	\$1,000.00	3 / each	\$3,000.00	
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:		
PNC2115695B1- -04-145	Signalization: LIGHT POLE COMPLETE, LUMINAIRE, POLE, FOUNDATION First Offer	\$500.00	3 / each	\$1,500.00	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
PNC2115695B1- -04-146	Signalization: PULL AND SPLICE BOX First Offer	\$150.00	10 / each	\$1,500.00	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
PNC2115695B1- -04-147	Signalization: PULL AND SPLICE BOX First Offer	\$500.00	20 / each	\$10,000.00	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
			Lo	ot Total: \$4,923,914.00	
Item #	Line Item	Unit Price	Qty/Unit	Total Price	
PNC2115695B1- -05-01	Signing and Pavement Markings: SINGLE POST SIGN First Offer	\$550.00	150 / assembly	\$82,500.00	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
PNC2115695B1- -05-02	Signing and Pavement Markings: SINGLE POST SIGN First Offer	\$1,440.00	30 / assembly	\$43,200.00	
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:		
PNC2115695B1- -05-03	Signing and Pavement Markings: SINGLE POST SIGN First Offer	\$1,800.00	2 / assembly	\$3,600.00	
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:		
PNC2115695B1- -05-04	Signing and Pavement Markings: SINGLE POST SIGN First Offer	\$3,000.00	2 / assembly	\$6,000.00	
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:		
PNC2115695B1- -05- 05	Signing and Pavement Markings: SINGLE POST SIGN First Offer	\$360.00	30 / assembly	\$10,800.00	
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:		
PNC2115695B1- -05-06	Signing and Pavement Markings: SINGLE POST SIGN First Offer	\$30.00	150 / assembly	\$4,500.00	
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:		

cellaneous Traffic and	County Commis	sioners		
PNC2115695B1- -05-07	Signing and Pavement Markings: ELECTRONIC DISPLAY SIGN - First Offer	\$9,000.00 2 / assembly	\$18,000.00	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:		
PNC2115695B1- -05-08	Signing and Pavement Markings: ELECTRONIC DISPLAY SIGN - First Offer	\$10,000.00 2 / assembly	\$20,000.00	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:		
PNC2115695B1- -05-09	Signing and Pavement Markings: ELECTRONIC DISPLAY SIGN - First Offer	\$10,000.00 2 / assembly	\$20,000.00	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:		
PNC2115695B1- -05-10	Signing and Pavement Markings: ELECTRONIC DISPLAY SIGN - First Offer	\$11,000.00 2 / assembly	\$22,000.00	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:		
PNC2115695B1- -05-11	Signing and Pavement Markings: ELECTRONIC DISPLAY SIGN - First Offer	\$12,000.00 2 / assembly	\$24,000.00	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:		
PNC2115695B1- -05-12	Signing and Pavement Markings: ELECTRONIC DISPLAY SIGN - First Offer	\$15,000.00 2 / assembly	\$30,000.00	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:		
PNC2115695B1- -05-13	Signing and Pavement Markings: ELECTRONIC DISPLAY SIGN - First Offer	\$17,500.00 2 / assembly	\$35,000.00	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:		
PNC2115695B1- -05-14	Signing and Pavement Markings: SIGN BEACON First Offer	\$5,000.00 2 / assembly	\$10,000.00	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:		
PNC2115695B1- -05-15	Signing and Pavement Markings: SIGN BEACON First Offer	\$8,500.00 1 / assembly	\$8,500.00	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:		
PNC2115695B1- -05-16	Signing and Pavement Markings: SIGN BEACON First Offer	\$11,500.00 50 / assembly	\$575,000.00	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:		
PNC2115695B1- -05-17	Signing and Pavement Markings: SIGN BEACON First Offer	\$7,000.00 2 / assembly	\$14,000.00	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:		
PNC2115695B105-18	Signing and Pavement Markings: SIGN BEACON First Offer	\$5,500.00 2 / assembly	\$11,000.00	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:	,	
PNC2115695B105-19	Signing and Pavement Markings: SIGN BEACON First Offer	\$7,500.00 1 / assembly	\$7,500.00	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:		
PNC2115695B1-	Signing and Pavement Markings: SIGN BEACON First Offer	\$12,500.00 10 / assembly	\$125,000.00	
Product Code:		Supplier Product Code:	1	

bid #PNC2115695B1 -Miscellaneous Traffic and

Broward County Board of County Commissioners

Supplier Notes: st \$7,000.00 2 / assembly \$14,000.00		
er assembly		
Supplier Product Code: Supplier Notes:		
st \$6,000.00 1 / \$6,000.00 er 86,000.00		
Supplier Product Code: Supplier Notes:		
st \$8,500.00 10 / \$85,000.00 er assembly		
Supplier Product Code: Supplier Notes:		
st \$14,400.00 1 / \$14,400.00 er \$14,400.00		
Supplier Product Code: Supplier Notes:		
st \$6,000.00 1 / \$6,000.00 er assembly		
Supplier Product Code: Supplier Notes:		
st \$600.00 3 / \$1,800.00 er \$1,800.00		
Supplier Product Code: Supplier Notes:		
\$500.00 25 / each \$12,500.00		
Supplier Product Code: Supplier Notes:		
er \$540.00 10 / each \$5,400.00		
Supplier Product Code: Supplier Notes:		
er \$600.00 2 / each \$1,200.00		
Supplier Product Code: Supplier Notes:		
er \$600.00 4 / each \$2,400.00		
Supplier Product Code: Supplier Notes:		
er \$900.00 2 / each \$1,800.00		
Supplier Product Code: Supplier Notes:		
er \$1,200.00 2 / each \$2,400.00		
Supplier Product Code: Supplier Notes:		
er \$1,800.00 10 / each \$18,000.00		
Supplier Product Code:		
Supplier Notes:		
iffe in the second seco		

	nd County Commis			
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:	
PNC2115695B1- -05-35	Signing and Pavement Markings: SIGN PANEL First Offer	\$175.00	1 / each	\$175.00
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:	
PNC2115695B1- -05-36	Signing and Pavement Markings: SIGN PANEL First Offer	\$180.00	1 / each	\$180.00
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:	
PNC2115695B1- -05-37	Signing and Pavement Markings: SIGN PANEL First Offer	\$125.00	2 / each	\$250.00
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:	
PNC2115695B1- -05-38	Signing and Pavement Markings: SIGN PANEL First Offer	\$300.00	1 / each	\$300.00
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:	
PNC2115695B1- -05-39	Signing and Pavement Markings: INTERNALLY ILLUMINATED SIGN First Offer	\$3,000.00	14 / each	\$42,000.00
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:		
PNC2115695B1- -05-40	Signing and Pavement Markings: INTERNALLY ILLUMINATED SIGN First Offer	\$3,500.00	4 / each	\$14,000.00
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:		
PNC2115695B1- -05-41	Signing and Pavement Markings: OBJECT MARKER First Offer	\$180.00	10 / each	\$1,800.00
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:		
PNC2115695B1- -05-42	Signing and Pavement Markings: OBJECT MARKER First Offer	\$240.00	10 / each	\$2,400.00
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:		
PNC2115695B1- -05-43	Signing and Pavement Markings: RETRO-REFLECTIVE PAVEMENT MARKERS First Offer	\$6.00	500 / each	\$3,000.00
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:	
PNC2115695B1- -05-44	Signing and Pavement Markings: PAINTED PAVEMENT MARKINGS First Offer	\$1,200.00	0.3 / mile	\$360.00
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:	
PNC2115695B1- -05-45	Signing and Pavement Markings: PAINTED PAVEMENT MARKINGS First Offer	\$1.20	500 / linear foot	\$600.00
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:	
PNC2115695B1- -05-46	Signing and Pavement Markings: PAINTED PAVEMENT MARKINGS First Offer	\$1.50	100 / linear foot	\$150.00
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:	
PNC2115695B1- -05-47	Signing and Pavement Markings: PAINTED PAVEMENT MARKINGS First Offer	\$1.80	300 / linear foot	\$540.00
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:	

ellaneous Traffic and	County Commis	sioners		
PNC2115695B1- -05-48	Signing and Pavement Markings: PAINTED PAVEMENT MARKINGS First Offer	\$480.00	0.3 / mile	\$144.00
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:	
PNC2115695B1- -05-49	Signing and Pavement Markings: PAINTED PAVEMENT MARKINGS First Offer	\$480.00	0.3 / mile	\$144.00
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:	
PNC2115695B1- -05-50	Signing and Pavement Markings: PAINTED PAVEMENT MARKINGS First Offer	\$60.00	5 / each	\$300.00
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:	
PNC2115695B1- -05-51	Signing and Pavement Markings: PAINTED PAVEMENT MARKINGS First Offer	\$30.00	5 / each	\$150.00
Product Code: Agency Notes:		Supplier Product Coo Supplier Notes:	de:	
PNC2115695B1- -05-52	Signing and Pavement Markings: PAINTED PAVEMENT MARKINGS First Offer	\$36.00	30 / linear foot	\$1,080.00
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:	
PNC2115695B1- -05-53	Signing and Pavement Markings: PAINTED PAVEMENT MARKINGS First Offer	\$2.40	20 / square foot	\$48.00
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:	
PNC2115695B1- -05-54	Signing and Pavement Markings: PAINTED PAVEMENT MARKINGS First Offer	\$1,200.00	0.1 / mile	\$120.00
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:	
PNC2115695B1- -05-55	Signing and Pavement Markings: PAINTED PAVEMENT MARKINGS First Offer	\$1.50	70 / linear foot	\$105.00
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:	
PNC2115695B1- -05-56	Signing and Pavement Markings: PAINTED PAVEMENT MARKINGS First Offer	\$480.00	0.1 / mile	\$48.00
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:	
PNC2115695B1- -05-57	Signing and Pavement Markings: PAINTED PAVEMENT MARKINGS First Offer	\$480.00	0.3 / mile	\$144.00
Product Code: Agency Notes:		Supplier Product Coo Supplier Notes:	de:	
PNC2115695B1- -05-58	Signing and Pavement Markings: PAINTED PAVEMENT MARKINGS First Offer	\$2.40	200 / square foot	\$480.00
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:	
PNC2115695B1- -05-59	Signing and Pavement Markings: THERMOPLASTIC PAVEMENT MARKINGS First Offer	\$2.40	3000 / linear foot	\$7,200.00
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:	
PNC2115695B1- -05-60	Signing and Pavement Markings: THERMOPLASTIC PAVEMENT MARKINGS First Offer	\$3.00	300 / linear foot	\$900.00
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:	
PNC2115695B1- -05-61	Signing and Pavement Markings: THERMOPLASTIC PAVEMENT MARKINGS First Offer	\$3.60	3000 / linear foot	\$10,800.00
Product Code:		Supplier Product Co		

Agency Notes:	Supplier Notes:
PNC2115695B1 Signing and Pavement Markings: THERMOPLASTIC -05-62 PAVEMENT MARKINGS First Offer	
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes:
PNC2115695B1 - Signing and Pavement Markings: THERMOPLASTIC -05-63 PAVEMENT MARKINGS First Offer	
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes:
PNC2115695B1 · Signing and Pavement Markings: THERMOPLASTIC PAVEMENT MARKINGS First Offer	
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes:
PNC2115695B1 - Signing and Pavement Markings: THERMOPLASTIC -05-65 PAVEMENT MARKINGS First Offer	
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes:
PNC2115695B1 · Signing and Pavement Markings: THERMOPLASTIC -05-66 PAVEMENT MARKINGS First Offer	
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes:
PNC2115695B1 · Signing and Pavement Markings: THERMOPLASTIC -05-67 PAVEMENT MARKINGS First Offer	
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes:
PNC2115695B1 · Signing and Pavement Markings: THERMOPLASTIC -05-68	
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes:
PNC2115695B1 Signing and Pavement Markings: THERMOPLASTIC -05-69 PAVEMENT MARKINGS First Offer	
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes:
PNC2115695B1 Signing and Pavement Markings: THERMOPLASTIC -05-70 PAVEMENT MARKINGS First Offer	
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes:
PNC2115695B1 Signing and Pavement Markings: THERMOPLASTIC PAVEMENT MARKINGS First Offer	
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes:
PNC2115695B1 Signing and Pavement Markings: THERMOPLASTIC PAVEMENT MARKINGS First Offer	
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes:
PNC2115695B1· Signing and Pavement Markings: THERMOPLASTIC -05-73 PAVEMENT MARKINGS First Offer	
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes:
PNC2115695B1 · Signing and Pavement Markings: THERMOPLASTIC -05-74 PAVEMENT MARKINGS First Offer	
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes:
PNC2115695B1· Signing and Pavement Markings: THERMOPLASTIC -05-75 PAVEMENT MARKINGS First Offer	

bid #PNC2115695B1 -Miscellaneous Traffic and Broward County Board of County Commissioners

	-			
Product Code: Agency Notes:		Supplier Product Coo Supplier Notes:	de:	
PNC2115695B1- -05-76	Signing and Pavement Markings: THERMOPLASTIC PAVEMENT MARKINGS First Offer	\$6.00	2000 / square foot	\$12,000.00
Product Code: Agency Notes:		Supplier Product Coo Supplier Notes:	de:	
			Lo	ot Total: \$1,401,219.20
Item #	Line Item	Unit Price	Qty/Unit	Total Price
PNC2115695B1- -06-01	Utility: UTILITY FITTINGS First Offer	\$120.00	3 / each	\$360.00
Product Code: Agency Notes:		Supplier Product Coo Supplier Notes:	de:	
PNC2115695B1- -06-02	Utility: UTILITY FIXTURE, VALVE, METER BOX First Offer	\$500.00	3 / each	\$1,500.00
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:	
PNC2115695B1- -06-03	Utility: UTILITY FIXTURE, VALVE, METER BOX First Offer	\$600.00	3 / each	\$1,800.00
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:	
PNC2115695B1- -06-04	Utility: UTILITY FIXTURE, VALVE, METER BOX First Offer	\$600.00	3 / each	\$1,800.00
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:	
				Lot Total: \$5,460.00
Bid Allowance				\$230,000.00

DP Development 🗸

\$9,681,512.50 (354/354 items)

Address 2240 NW 22 Street

Pompano Beach, FL 33069

Bid Contact Marcy Cabanas

sales@dpdevelopment.net

Ph 954-972-5086 Fax 561-650-1334

Qualifications SB

Supplier Notes: **Agency Notes:** Qty/Unit **Total Price** Item # Line Item **Unit Price** PNC2115695B1-General Construction: MOBILIZATION FOR EMERGENCIES. \$3,000.00 5 / each \$15,000.00 -01-01 🗸 - First Offer Product Code: Supplier Product Code: Agency Notes: Supplier Notes: Alt 1 \$3,000.00 5 / each \$15,000.00 Product Code: Supplier Product Code: Agency Notes: Supplier Notes: Pipe culvert optional material should be in lineal feet, not tons

ellaneous Traffic a	nd County Commis	sioners		
PNC2115695B1- -01-02	General Construction: UTILITY LOCATES AND EXCAVATION TEST HOLES First Offer	\$525.00	100 / each	\$52,500.00
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:	
	Alt 1	\$525.00	100 / each	\$52,500.00
Product Code: Agency Notes:		Supplier Product Co Supplier Notes: n/a-duplicated entry	de:	
PNC2115695B1- -01-03	General Construction: HOURLY RATE - First Offer	\$825.00	40 / hour	\$33,000.00
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:	
	Alt 1	\$825.00	40 / hour	\$33,000.00
Product Code: Agency Notes:		Supplier Product Co Supplier Notes: n/a-c		у
PNC2115695B1 - -01-04	General Construction: HOURLY RATE - First Offer	\$125.00	40 / hour	\$5,000.00
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:	
	Alt 1	\$125.00	40 / hour	\$5,000.00
Product Code: Agency Notes:		Supplier Product Co Supplier Notes: n/a d		У
PNC2115695B1- -01-05	General Construction: HOURLY RATE - First Offer	\$225.00	40 / hour	\$9,000.00
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:	
	Alt 1	\$225.00	40 / hour	\$9,000.00
Product Code: Agency Notes:		Supplier Product Co Supplier Notes: n/a duplicated entry	de:	
PNC2115695B1- -01-06	General Construction: HOURLY LABOR RATE - First Offer	\$75.00	1500 / hour	\$112,500.00
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:	
PNC2115695B1- -01-07	General Construction: HOURLY LABOR RATE - First Offer	\$100.00	500 / hour	\$50,000.00
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:	
PNC2115695B1- -01-08	General Construction: HOURLY RATE - First Offer	\$110.00	40 / hour	\$4,400.00
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:	
PNC2115695B1- -01-09	General Construction: HOURLY RATE - First Offer	\$85.00	40 / hour	\$3,400.00
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:	
PNC2115695B1- -01-10	General Construction: HOURLY RATE - First Offer	\$400.00	40 / hour	\$16,000.00
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:	
PNC2115695B1- -01-11	General Construction: TRAFFIC CONTROL OFFICER First Offer	\$65.00	85 / hour	\$5,525.00
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:	

		ers	and County Commis	ellaneous Traffic a
\$300.00	10 / cubic yard	\$30.00	General Construction: COMMERCIAL MATERIAL FOR TEMPORARY DRIVEWAY MAINTENANCE First Offer	PNC2115695B1 - -01-12
	de:	oplier Product Co oplier Notes:		Product Code: Agency Notes:
\$42,500.00	8500 / day	\$5.00	General Construction: WORK ZONE SIGN First Offer	PNC2115695B1 - -01-13
	de:	oplier Product Co		Product Code: Agency Notes:
\$375.00	5 / each	\$75.00	General Construction: BUSINESS SIGN First Offer	PNC2115695B1- -01-14
	de:	oplier Product Co		Product Code:
\$5,000.00	100 /	splier Notes: \$50.00	General Construction: TEMPORARY BARRIER WALL First	Agency Notes: PNC2115695B1
	linear foot	anliar Draduct Ca	Offer	-01-15 /
	ie:	oplier Product Co oplier Notes:		Product Code: Agency Notes:
\$8,250.00	150 / linear foot	\$55.00	General Construction: TEMPORARY BARRIER WALL First Offer	PNC2115695B1- -01-16
	de:	oplier Product Co oplier Notes:		Product Code: Agency Notes:
\$2,250.00	150 / linear foot	\$15.00	General Construction: TEMPORARY BARRIER WALL First Offer	PNC2115695B1- -01-17
	de:	oplier Product Co oplier Notes:		Product Code: Agency Notes:
\$2,250.00	150 / linear foot	\$15.00	General Construction: TEMPORARY BARRIER WALL First Offer	PNC2115695B1-
		oplier Product Co		Product Code: Agency Notes:
\$100,000.00	20000 / day	\$5.00	General Construction: CHANNELIZING DEVICE First Offer	PNC2115695B1- -01-19
	de:	oplier Product Co		Product Code: Agency Notes:
\$150.00	30 / day	\$5.00	General Construction: CHANNELIZING DEVICE First Offer	PNC2115695B1- -01-20
	de:	oplier Product Co		Product Code: Agency Notes:
\$4,900.00	700 / linear foot	\$7.00	General Construction: CHANNELIZING DEVICE First Offer	PNC2115695B1 - -01-21
	de:	oplier Product Co		Product Code: Agency Notes:
\$42,000.00	700 / day	\$60.00	General Construction: ARROW BOARD/ADVANCE WARNING ARROW PANEL First Offer	PNC2115695B1- -01-22
	de:	oplier Product Co		Product Code: Agency Notes:
\$75.00	20 / each	\$3.75	General Construction: TEMPORARY RETROREFLECTIVE PAVEMENT MARKER First Offer	PNC2115695B1- -01-23
	de:	oplier Product Co		Product Code: Agency Notes:
\$2,000.00	20 / day	\$100.00	General Construction: TEMPORARY PORTABLE CHANGEABLE MESSAGE SIGN First Offer	PNC2115695B1- -01-24
	de:	oplier Product Co		Product Code: Agency Notes:
\$125.00	100 / linear foot	\$1.25	General Construction: REMOVABLE TAPE PAVEMENT MARKING First Offer	PNC2115695B1- -01-25
		oplier Product Co		Product Code:

Agency Notes:		Supplier Notes:		
PNC2115695B1- -01-26	General Construction: REMOVABLE TAPE PAVEMENT MARKING First Offer	\$2.25	100 / linear foot	\$225.00
Product Code: Agency Notes:		Supplier Product Co- Supplier Notes:	de:	
PNC2115695B1- -01-27	General Construction: REMOVABLE TAPE PAVEMENT MARKING First Offer	\$5.50	100 / linear foot	\$550.00
Product Code: Agency Notes:		Supplier Product Co- Supplier Notes:	de:	
PNC2115695B1- -01-28	General Construction: REMOVABLE TAPE PAVEMENT MARKING First Offer	\$2.25	100 / linear foot	\$225.00
Product Code: Agency Notes:		Supplier Product Co- Supplier Notes:	de:	
PNC2115695B1 - -01-29	General Construction: SEDIMENT BARRIER First Offer	\$4.00	300 / linear foot	\$1,200.00
Product Code: Agency Notes:		Supplier Product Co- Supplier Notes:	de:	
PNC2115695B1- -01-30	General Construction: INLET PROTECTION SYSTEM First Offer	\$200.00	10 / each	\$2,000.00
Product Code: Agency Notes:		Supplier Product Co- Supplier Notes:	de:	
PNC2115695B1 - -01-31	General Construction: LITTER REMOVAL AND DISPOSAL First Offer	\$75.00	1 / acre	\$75.00
Product Code: Agency Notes:		Supplier Product Co- Supplier Notes:	de:	
PNC2115695B1- -01-32	General Construction: MOWING First Offer	\$125.00	1 / acre	\$125.00
Product Code: Agency Notes:		Supplier Product Co- Supplier Notes:	de:	
				_ot Total: \$520,900.00
	Line Item			_ot Total: \$520,900.00 Total Price
Agency Notes:	Line Item Lighting: LIGHTING CONDUCTORS First Offer	Supplier Notes:	ı	
Agency Notes: Item # PNC2115695B1		Supplier Notes: Unit Price	Qty/Unit 500 / linear foot	Total Price
Item # PNC2115695B1-02-01 Product Code:		Unit Price \$0.50 Supplier Product Co.	Qty/Unit 500 / linear foot	Total Price
Item # PNC2115695B1-02-01 Product Code: Agency Notes: PNC2115695B1-	Lighting: LIGHTING CONDUCTORS First Offer	Unit Price \$0.50 Supplier Product Co- Supplier Notes:	Qty/Unit 500 / linear foot de: 1000 / linear foot	Total Price \$250.00
Item # PNC2115695B1-02-01 Product Code: Agency Notes: PNC2115695B1-02-02 Product Code:	Lighting: LIGHTING CONDUCTORS First Offer	Supplier Notes: Unit Price \$0.50 Supplier Product Co- Supplier Notes: \$3.50 Supplier Product Co-	Qty/Unit 500 / linear foot de: 1000 / linear foot	Total Price \$250.00
Item # PNC2115695B1-02-01 Product Code: Agency Notes: PNC2115695B1-02-02 Product Code: Agency Notes: PNC2115695B1-	Lighting: LIGHTING CONDUCTORS First Offer Lighting: LIGHTING CONDUCTORS First Offer	Supplier Notes: Unit Price \$0.50 Supplier Product Co Supplier Notes: \$3.50 Supplier Product Co Supplier Notes:	Qty/Unit 500 / linear foot de: 1000 / linear foot de: 500 / linear foot	\$250.00 \$3,500.00
Item # PNC2115695B1-02-01 Product Code: Agency Notes: PNC2115695B1-02-02 Product Code: Agency Notes: PNC2115695B1-02-03 Product Code: Agency Notes:	Lighting: LIGHTING CONDUCTORS First Offer Lighting: LIGHTING CONDUCTORS First Offer	Supplier Notes: Unit Price \$0.50 Supplier Product Co- Supplier Notes: \$3.50 Supplier Product Co- Supplier Notes: \$0.30 Supplier Product Co- Supplier Notes:	Qty/Unit 500 / linear foot de: 1000 / linear foot de: 500 / linear foot	\$250.00 \$3,500.00
Item # PNC2115695B1-02-01 Product Code: Agency Notes: PNC2115695B1-02-02 Product Code: Agency Notes: PNC2115695B1-02-03 Product Code: Agency Notes: PNC2115695B1-02-03 Product Code: Agency Notes: PNC2115695B1-	Lighting: LIGHTING CONDUCTORS First Offer Lighting: LIGHTING CONDUCTORS First Offer Lighting: LIGHTING CONDUCTORS First Offer	Supplier Notes: Unit Price \$0.50 Supplier Product Co- Supplier Notes: \$3.50 Supplier Product Co- Supplier Notes: \$0.30 Supplier Product Co- Supplier Notes:	Qty/Unit 500 / linear foot de: 1000 / linear foot de: 500 / linear foot de: 500 / linear foot	\$250.00 \$3,500.00 \$150.00
Item # PNC2115695B1-02-01 Product Code: Agency Notes: PNC2115695B1-02-02 Product Code: Agency Notes: PNC2115695B1-02-03 Product Code: Agency Notes: PNC2115695B1-02-04 Product Code:	Lighting: LIGHTING CONDUCTORS First Offer Lighting: LIGHTING CONDUCTORS First Offer Lighting: LIGHTING CONDUCTORS First Offer	Supplier Notes: Unit Price \$0.50 Supplier Product Co- Supplier Notes: \$3.50 Supplier Product Co- Supplier Notes: \$0.30 Supplier Product Co- Supplier Notes: \$0.30 Supplier Product Co- Supplier Notes:	Qty/Unit 500 / linear foot de: 1000 / linear foot de: 500 / linear foot de: 500 / linear foot	\$250.00 \$3,500.00 \$150.00
Item # PNC2115695B102-01 Product Code: Agency Notes: PNC2115695B102-02 Product Code: Agency Notes: PNC2115695B102-03 Product Code: Agency Notes: PNC2115695B102-04 Product Code: Agency Notes: PNC2115695B102-05 PNC2115695B102-05 Product Code:	Lighting: LIGHTING CONDUCTORS First Offer Lighting: LIGHTING CONDUCTORS First Offer Lighting: LIGHTING CONDUCTORS First Offer Lighting: LIGHTING CONDUCTORS First Offer	Supplier Notes: Unit Price \$0.50 Supplier Product Co Supplier Notes: \$3.50 Supplier Product Co Supplier Notes: \$0.30 Supplier Product Co Supplier Notes: \$10.30 Supplier Product Co Supplier Notes: \$16,250.00 Supplier Product Co	Oty/Unit 500 / linear foot de: 1000 / linear foot de: 500 / linear foot de: 500 / linear foot de: 1 / each	\$250.00 \$250.00 \$3,500.00 \$150.00
Item # PNC2115695B102-01 Product Code: Agency Notes: PNC2115695B102-02 Product Code: Agency Notes: PNC2115695B102-03 Product Code: Agency Notes: PNC2115695B102-04 Product Code: Agency Notes: PNC2115695B102-05	Lighting: LIGHTING CONDUCTORS First Offer Lighting: LIGHTING CONDUCTORS First Offer Lighting: LIGHTING CONDUCTORS First Offer Lighting: LIGHTING CONDUCTORS First Offer	Supplier Notes: Unit Price \$0.50 Supplier Product Co- Supplier Notes: \$3.50 Supplier Product Co- Supplier Notes: \$0.30 Supplier Product Co- Supplier Notes: \$0.30 Supplier Product Co- Supplier Notes: \$16,250.00	Oty/Unit 500 / linear foot de: 1000 / linear foot de: 500 / linear foot de: 500 / linear foot de: 1 / each	\$250.00 \$250.00 \$3,500.00 \$150.00

elianeous Trainc a	and County Commis	31011613		
Agency Notes:		Supplier Notes:		
PNC2115695B1- -02-07	Lighting: LOAD CENTER First Offer	\$1,350.00	1 / each	\$1,350.00
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:		
PNC2115695B1- -02-08	Lighting: LOAD CENTER First Offer	\$3,125.00	1 / each	\$3,125.00
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:	
PNC2115695B1- -02-09	Lighting: LUMINAIRE - First Offer	\$1,875.00	300 / each	\$562,500.00
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:	
PNC2115695B1- -02-10	Lighting: LIGHTING POLE CABLE DISTRIBUTION SYSTEM First Offer	\$525.00	1 / each	\$525.00
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:	
			L	ot Total: \$604,050.00
Item #	Line Item	Unit Price	Qty/Unit	Total Price
PNC2115695B1- -03-01	Roadway: CLEARING AND GRUBBING (PUSH BUTTON CONTRACT) First Offer	\$15,625.00	4 / acre	\$62,500.00
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:	
PNC2115695B1- -03-02	Roadway: REMOVAL OF EXISTING CONCRETE PAVEMENT First Offer	\$12.50	2000 / square yard	\$25,000.00
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:	
PNC2115695B1- -03-03	Roadway: REGULAR EXCAVATION First Offer	\$25.00	200 / cubic yard	\$5,000.00
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:	
PNC2115695B1- -03-04	Roadway: FLOWABLE FILL First Offer	\$190.00	10 / cubic yard	\$1,900.00
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:	
PNC2115695B1- -03-05	Roadway: TYPE B STABILIZATION First Offer	\$12.00	7500 / square yard	\$90,000.00
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:	
PNC2115695B1- -03-06	Roadway: PREPARED SOIL LAYER First Offer	\$3.00	250 / square yard	\$750.00
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:	
PNC2115695B1- -03-07	Roadway: REWORKING LIMEROCK BASE First Offer	\$7.50	1000 / square yard	\$7,500.00
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:		
PNC2115695B1- -03-08	Roadway: LIMEROCK, NEW MATERIAL FOR REWORKING BASE First Offer	\$43.00	50 / cubic yard	\$2,150.00
Product Code:		Supplier Product Co	de:	
Agency Notes:		Supplier Notes:		
PNC2115695B1- -03-09	Roadway: OPTIONAL BASE First Offer	\$15.50	300 / square yard	\$4,650.00
Product Code:		Supplier Product Co	de:	

	and County Commis	51011613		
Agency Notes:		Supplier Notes:		
PNC2115695B1- -03-10	Roadway: OPTIONAL BASE First Offer	\$20.00	150 / square yard	\$3,000.00
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:	
PNC2115695B1- -03-11	Roadway: OPTIONAL BASE First Offer	\$25.00	320 / square yard	\$8,000.00
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:	
PNC2115695B1- -03-12	Roadway: OPTIONAL BASE First Offer	\$65.00	150 / square yard	\$9,750.00
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:	
PNC2115695B1- -03-13	Roadway: TURNOUT CONSTRUCTION First Offer	\$30.00	100 / square yard	\$3,000.00
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:	
PNC2115695B1- -03-14	Roadway: TURNOUT CONSTRUCTION, ASPHALT First Offer	\$200.00	50 / ton	\$10,000.00
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:	
PNC2115695B1- -03-15	Roadway: MILLING EXISTING ASPHALT PAVEMENT First Offer	\$3.00	2500 / square yard	\$7,500.00
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:	
PNC2115695B1- -03-16	Roadway: MILLING EXISTING ASPHALT PAVEMENT First Offer	\$3.75	10000 / square yard	\$37,500.00
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:	
PNC2115695B1- -03-17	Roadway: MILLING EXISTING ASPHALT PAVEMENT First Offer	\$2.75	15000 / square yard	\$41,250.00
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:	
PNC2115695B1- -03-18	Roadway: MILLING EXISTING ASPHALT PAVEMENT First Offer	\$3.50	1250 / square yard	\$4,375.00
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:	
PNC2115695B1- -03-19	Roadway: MILLING EXISTING ASPHALT PAVEMENT First Offer	\$4.00	2500 / square yard	\$10,000.00
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:	
PNC2115695B1- -03-20	Roadway: MILLING EXISTING ASPHALT PAVEMENT First Offer	\$3.25	5000 / square yard	\$16,250.00
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:	
PNC2115695B1- -03-21	Roadway: SUPERPAVE ASPHALTIC CONCRETE First Offer	\$200.00	5 / ton	\$1,000.00
Product Code:		Supplier Product Co Supplier Notes:	de:	
Agency Notes:		\$225.00	5 / ton	\$1,125.00
PNC2115695B1- -03-22	Roadway: SUPERPAVE ASPHALTIC CONCRETE First Offer	\$225.00	071011	
PNC2115695B1		Supplier Product Co Supplier Notes:		

cellaneous Traffic an	d County Commis	sioners		
Product Code: Agency Notes:		Supplier Product Co- Supplier Notes:	de:	
PNC2115695B1- -03-24	Roadway: MISCELLANEOUS ASPHALT PAVEMENT First Offer	\$315.00	80 / ton	\$25,200.00
Product Code: Agency Notes:		Supplier Product Co- Supplier Notes:	de:	
PNC2115695B1- -03-25	Roadway: CLASS I CONCRETE - First Offer	\$1,690.00	10 / cubic yard	\$16,900.00
Product Code: Agency Notes:		Supplier Product Co- Supplier Notes:	de:	
PNC2115695B1- -03-26	Roadway: INLET, DRAINAGE First Offer	\$5,225.00	1 / each	\$5,225.00
Product Code: Agency Notes:		Supplier Product Co- Supplier Notes:	de:	
PNC2115695B1- -03-27	Roadway: INLET, DRAINAGE First Offer	\$11,660.00	1 / each	\$11,660.00
Product Code: Agency Notes:		Supplier Product Co- Supplier Notes:	de:	
PNC2115695B1- -03-28	Roadway: INLET, DRAINAGE First Offer	\$8,325.00	1 / each	\$8,325.00
Product Code: Agency Notes:		Supplier Product Co- Supplier Notes:	de:	
PNC2115695B1- -03-29	Roadway: INLET, DRAINAGE First Offer	\$5,450.00	1 / each	\$5,450.00
Product Code: Agency Notes:		Supplier Product Co- Supplier Notes:	de:	
PNC2115695B1- -03-30	Roadway: INLET, DRAINAGE First Offer	\$5,750.00	1 / each	\$5,750.00
Product Code: Agency Notes:		Supplier Product Co- Supplier Notes:	de:	
PNC2115695B1- -03-31	Roadway: INLET, DRAINAGE First Offer	\$4,425.00	1 / each	\$4,425.00
Product Code: Agency Notes:		Supplier Product Co- Supplier Notes:	de:	
PNC2115695B1- -03-32	Roadway: INLET, DRAINAGE First Offer	\$6,425.00	1 / each	\$6,425.00
Product Code: Agency Notes:		Supplier Product Co- Supplier Notes:	de:	
PNC2115695B1- -03-33	Roadway: INLET, DRAINAGE First Offer	\$4,700.00	1 / each	\$4,700.00
Product Code: Agency Notes:		Supplier Product Co- Supplier Notes:	de:	
PNC2115695B1- -03-34	Roadway: INLET, DRAINAGE First Offer	\$4,325.00	1 / each	\$4,325.00
Product Code: Agency Notes:		Supplier Product Co- Supplier Notes:	de:	
PNC2115695B1- -03-35	Roadway: INLET, DRAINAGE First Offer	\$8,025.00	1 / each	\$8,025.00
Product Code: Agency Notes:		Supplier Product Co- Supplier Notes:	de:	
PNC2115695B1- -03-36	Roadway: INLET, DRAINAGE First Offer	\$3,275.00	1 / each	\$3,275.00
Product Code: Agency Notes:		Supplier Product Co- Supplier Notes:	de:	
J		11	1	

cellaneous Traffic and	County Commis	ssioners		
PNC2115695B1- -03-37	Roadway: INLET, DRAINAGE First Offer	\$6,650.00	1 / each	\$6,650.00
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:	
PNC2115695B1- -03-38	Roadway: INLET, DRAINAGE First Offer		1 / each	\$5,450.00
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:	
PNC2115695B1- -03-39	Roadway: INLET, DRAINAGE First Offer	\$6,900.00	1 / each	\$6,900.00
Product Code: Agency Notes:		Supplier Product Co- Supplier Notes:	de:	
PNC2115695B1- -03-40	Roadway: MANHOLE, DRAINAGE First Offer	\$4,975.00	1 / each	\$4,975.00
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:	
PNC2115695B1- -03-41	Roadway: MANHOLE, DRAINAGE First Offer	\$3,425.00	1 / each	\$3,425.00
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:	
PNC2115695B1- -03-42	Roadway: MANHOLE, DRAINAGE First Offer	\$7,675.00	1 / each	\$7,675.00
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:	
PNC2115695B1- -03-43	Roadway: JUNCTION BOXES, DRAINAGE First Offer	\$4,975.00	1 / each	\$4,975.00
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:	
PNC2115695B1- -03-44	Roadway: JUNCTION BOXES, DRAINAGE First Offer	\$3,425.00	1 / each	\$3,425.00
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:	
PNC2115695B1- -03-45	Roadway: ADJUST INLET First Offer	\$1,875.00	1 / each	\$1,875.00
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:	
PNC2115695B1- -03-46	Roadway: ADJUST MANHOLES First Offer	\$2,050.00	1 / each	\$2,050.00
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:	
PNC2115695B1- -03-47	Roadway: ADJUST MANHOLES First Offer	\$5,060.00	1 / each	\$5,060.00
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:	
PNC2115695B1- -03-48	Roadway: ADJUST VALVE BOX First Offer	\$950.00	1 / each	\$950.00
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:	
PNC2115695B1- -03-49	Roadway: REPLACE GRATE First Offer	\$2,250.00	1 / each	\$2,250.00
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:	
PNC2115695B1- -03-50	Roadway: PIPE CULVERT OPTIONAL MATERIAL First Offer	\$140.00	24 / linear foot	\$3,360.00
Product Code:		Supplier Product Co	de:	

cellaneous Trailic and	County Commis	51011015		
Agency Notes:		Supplier Notes:		
PNC2115695B1- -03-51	Roadway: PIPE CULVERT OPTIONAL MATERIAL First Offer	\$130.00	24 / linear foot	\$3,120.00
Product Code: Agency Notes:		Supplier Product Coo Supplier Notes:	de:	
PNC2115695B1- -03-52	Roadway: PIPE CULVERT OPTIONAL MATERIAL First Offer	\$150.00	24 / linear foot	\$3,600.00
Product Code: Agency Notes:		Supplier Product Coc Supplier Notes:	de:	
PNC2115695B1- -03-53	Roadway: PIPE CULVERT OPTIONAL MATERIAL First Offer	\$140.00	24 / linear foot	\$3,360.00
Product Code: Agency Notes:		Supplier Product Coc Supplier Notes:	de:	
PNC2115695B1- -03-54	Roadway: PIPE CULVERT OPTIONAL MATERIAL First Offer	\$160.00	24 / linear foot	\$3,840.00
			-	
PNC2115695B1- -03-55	Roadway: PIPE CULVERT OPTIONAL MATERIAL First Offer	\$150.00	24 / linear foot	\$3,600.00
Product Code: Agency Notes:		Supplier Product Coc Supplier Notes:	de:	
PNC2115695B1- -03-56	Roadway: PIPE CULVERT OPTIONAL MATERIAL First Offer	\$140.00	24 / linear foot	\$3,360.00
Product Code: Agency Notes:		Supplier Product Coo Supplier Notes:	de:	
PNC2115695B1- -03-57	Roadway: PIPE CULVERT OPTIONAL MATERIAL First Offer	\$130.00	24 / linear foot	\$3,120.00
Product Code: Agency Notes:		Supplier Product Coo Supplier Notes:	de:	
PNC2115695B1- -03-58	Roadway: PIPE CULVERT OPTIONAL MATERIAL First Offer	\$150.00	24 / linear foot	\$3,600.00
Product Code: Agency Notes:		Supplier Product Coo Supplier Notes:	de:	
PNC2115695B1- -03-59	Roadway: PIPE CULVERT OPTIONAL MATERIAL First Offer	\$140.00	24 / linear foot	\$3,360.00
Product Code: Agency Notes:		Supplier Product Coo Supplier Notes:	de:	
PNC2115695B1- -03-60	Roadway: PIPE CULVERT OPTIONAL MATERIAL First Offer	\$160.00	24 / linear foot	\$3,840.00
Product Code: Agency Notes:		Supplier Product Coo Supplier Notes:	de:	
PNC2115695B1- -03-61	Roadway: FRENCH DRAIN First Offer	\$250.00	40 / linear foot	\$10,000.00
Product Code: Agency Notes:		Supplier Product Coo Supplier Notes:	de:	
PNC2115695B1- -03-62	Roadway: PIPE HANDRAIL, GUIDERAIL First Offer	\$60.00	20 / linear foot	\$1,200.00
Product Code: Agency Notes:		Supplier Product Cod Supplier Notes:	de:	
PNC2115695B1- -03-63	Roadway: CONCRETE CURB AND GUTTER First Offer	\$40.00	1500 / linear foot	\$60,000.00
Product Code: Agency Notes:		Supplier Product Coc Supplier Notes:	de:	
PNC2115695B1- -03-64	Roadway: CONCRETE CURB AND GUTTER First Offer	\$24.00	100 / linear foot	\$2,400.00
Product Code:		Supplier Product Cod	de:	

cellaneous Traffic a	ind County Commis	sioners		
Agency Notes:		Supplier Notes:		
PNC2115695B1- -03-65	Roadway: CONCRETE CURB First Offer	\$30.00	400 / linear foot	\$12,000.00
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:	
PNC2115695B1- -03-66	Roadway: CONCRETE TRAFFIC SEPARATOR First Offer	\$70.00	50 / linear foot	\$3,500.00
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:	
PNC2115695B1- -03-67	Roadway: CONCRETE TRAFFIC SEPARATOR, SPECIAL, VARIABLE WIDTH First Offer	\$95.00	50 / square yard	\$4,750.00
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:	
PNC2115695B1- -03-68	Roadway: CONCRETE SIDEWALK AND DRIVEWAYS, 4 INCH THICK First Offer		150 / square yard	\$6,750.00
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:	
PNC2115695B1- -03-69	Roadway: CONCRETE SIDEWALK AND DRIVEWAY, 6 INCH THICK First Offer		1500 / square yard	\$120,000.00
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:	
PNC2115695B1- -03-70	Roadway: PATTERNED PAVEMENT First Offer	\$100.00	50 / square yard	\$5,000.00
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:	
PNC2115695B1- -03-71	Roadway: ARCHITECTURAL PAVERS First Offer	\$99.00	50 / square yard	\$4,950.00
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:	
PNC2115695B1- -03- 72	Roadway: DETECTABLE WARNINGS First Offer	\$22.50	2000 / square foot	\$45,000.00
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:	
PNC2115695B1- -03-73	Roadway: GUARDRAIL First Offer	\$31.25	50 / linear foot	\$1,562.50
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:	
PNC2115695B1- -03-74	Roadway: GUARDRAIL REMOVAL First Offer	\$10.00	50 / linear foot	\$500.00
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:	
PNC2115695B1- -03-75	Roadway: GUARDRAIL END ANCHORAGE ASSEMBLY, END TREATMENT First Offer	\$2,000.00	1 / each	\$2,000.00
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:	
PNC2115695B1- -03-76	Roadway: GUARDRAIL END ANCHORAGE ASSEMBLY, END TREATMENT First Offer	\$975.00	1 / each	\$975.00
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:	
PNC2115695B1- -03-77	Roadway: GUARDRAIL END ANCHORAGE ASSEMBLY, END TREATMENT First Offer	\$3,680.00	1 / each	\$3,680.00
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:	
PNC2115695B1- -03-78	Roadway: FENCING First Offer	\$18.75	100 / linear foot	\$1,875.00

scellaneous Trailic an	d County Commis			
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:	
PNC2115695B1- -03-79	Roadway: FENCING First Offer	\$30.00	100 / linear foot	\$3,000.00
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:	
PNC2115695B1- -03-80	Roadway: PERFORMANCE TURF First Offer	\$5.00	800 / square yard	\$4,000.00
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:	
PNC2115695B1- -03-81	Roadway: EMBANKMENT First Offer	\$20.00	50 / cubic yard	\$1,000.00
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:	
PNC2115695B1- -03-82	Roadway: FIRE HYDRANT First Offer	\$2,800.00	3 / each	\$8,400.00
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:	
PNC2115695B1- -03-83	Roadway: PIPE CULVERT OPTIONAL MATERIAL First Offer	\$160.00	20 / ton	\$3,200.00
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:	
PNC2115695B1- -03-84	Roadway: FILLING AND PLUGGING PIPE, PLACE OUT OF SERVICE - First Offer	\$300.00	5 / cubic yard	\$1,500.00
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:	
PNC2115695B1- -03-85	Roadway: DRILLED SHAFT CASING First Offer	\$1,625.00	15 / linear foot	\$24,375.00
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:		
				ot Total: \$959,322.50
Item #	Line Item	Unit Price	Qty/Unit	Total Price
PNC2115695B1- -04-01	Signalization: CONDUIT First Offer	\$30.00	500 / linear foot	\$15,000.00
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:	
PNC2115695B1- -04-02	Signalization: CONDUIT First Offer	\$10.00	500 / linear foot	\$5,000.00
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:	
PNC2115695B1- -04-03	Signalization: CONDUIT First Offer	\$8.75	1000 / linear foot	\$8,750.00
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:	
PNC2115695B1- -04-04	Signalization: CONDUIT First Offer	\$5.00	1000 / linear foot	\$5,000.00
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:	
PNC2115695B1- -04-05	Signalization: CONDUIT First Offer	\$4.75	500 / linear foot	\$2,375.00
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:	
PNC2115695B1- -04-06	Signalization: CONDUIT First Offer	\$5.50	1000 / linear foot	\$5,500.00

Broward County Board of County Commissioners

cellaneous Traffic and	County Commis	sioners
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:
PNC2115695B1- -04-07	Signalization: CONDUIT First Offer	\$4.85 1000 / \$4,850.00 linear foot
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:
PNC2115695B1- -04-08	Signalization: CONDUIT First Offer	\$43.00 500 / \$21,500.00
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:
PNC2115695B1- -04-09	Signalization: CONDUIT First Offer	\$40.00 1000 / \$40,000.00 linear foot
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:
PNC2115695B1- -04-10	Signalization: CONDUIT First Offer	\$25.00 500 / \$12,500.00 linear foot
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:
PNC2115695B1- -04-11	Signalization: CONDUIT First Offer	\$30.00 1000 / \$30,000.00 linear foot
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:
PNC2115695B1- -04-12	Signalization: CONDUIT First Offer	\$27.00 1000 / \$27,000.00 linear foot
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:
PNC2115695B1 - 04 - 13	Signalization: CONDUIT First Offer	\$25.00 50 / linear \$1,250.00 foot
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:
PNC2115695B1 - 04-14	Signalization: CONDUIT First Offer	\$10.00 100 / \$1,000.00 linear foot
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:
PNC2115695B1- -04-15	Signalization: CONDUIT First Offer	\$81.00 100 / \$8,100.00 linear foot
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:
PNC2115695B1- -04-16	Signalization: CONDUIT First Offer	\$8.75 100 / \$875.00
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:
PNC2115695B1- -04-17	Signalization: SIGNAL CABLE First Offer	\$5,625.00 10 / per \$56,250.00 intersection
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:
PNC2115695B1- -04-18	Signalization: SIGNAL CABLE First Offer	\$3.25 15000 / \$48,750.00 linear foot
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:
PNC2115695B1- -04-19	Signalization: SIGNAL CABLE First Offer	\$1,050.00 5 / per \$5,250.00 intersection
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:

ellaneous Traffic an	d County Commis	sioners		
PNC2115695B1 - -04-20	Signalization: SIGNAL CABLE First Offer	\$0.60	25000 / linear foot	\$15,000.00
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:	
PNC2115695B1- -04-21	Signalization: FIBER OPTIC CABLE First Offer	\$2.65	10000 / linear foot	\$26,500.00
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:	
PNC2115695B1- -04-22	Signalization: FIBER OPTIC CABLE First Offer	\$2.00	5000 / linear foot	\$10,000.00
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:	
PNC2115695B1- -04-23	Signalization: FIBER OPTIC CABLE First Offer	\$3.00	5000 / linear foot	\$15,000.00
Product Code: Agency Notes:		Supplier Product Co. Supplier Notes:	de:	
PNC2115695B1- -04-24	Signalization: FIBER OPTIC CABLE First Offer	\$3.40	5000 / linear foot	\$17,000.00
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:	
PNC2115695B1- -04-25	Signalization: FIBER OPTIC CABLE First Offer	\$7.10	50000 / linear foot	\$355,000.00
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:		
PNC2115695B1- -04-26	Signalization: FIBER OPTIC CABLE First Offer	\$9.50	1200 / linear foot	\$11,400.00
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:		
PNC2115695B1- -04-27	Signalization: FIBER OPTIC CABLE First Offer	\$1.60	5000 / linear foot	\$8,000.00
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:	
PNC2115695B1- -04-28	Signalization: FIBER OPTIC CONNECTION First Offer	\$75.00	500 / each	\$37,500.00
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:	
PNC2115695B1- -04-29	Signalization: FIBER OPTIC CONNECTION First Offer	\$98.00	100 / each	\$9,800.00
Product Code: Agency Notes:		Supplier Product Coo Supplier Notes:	de:	
PNC2115695B1- -04-30	Signalization: FIBER OPTIC CONNECTION HARDWARE First Offer	\$1,800.00	25 / each	\$45,000.00
Product Code: Agency Notes:		Supplier Product Coo Supplier Notes:	de:	
PNC2115695B1- -04-31	Signalization: FIBER OPTIC CONNECTION HARDWARE First Offer	\$222.00	75 / each	\$16,650.00
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:	
PNC2115695B1- -04-32	Signalization: FIBER OPTIC CONNECTION HARDWARE First Offer	\$1,100.00	10 / each	\$11,000.00
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:	
PNC2115695B1- -04-33	Signalization: FIBER OPTIC CONNECTION HARDWARE First Offer	\$125.00	10 / each	\$1,250.00
Product Code:		Supplier Product Co	de:	

celiarieous Trailic ai	nu County Commis	Sioners		
Agency Notes:		Supplier Notes:		
PNC2115695B1- -04-34	Signalization: FIBER OPTIC CONNECTION HARDWARE First Offer	\$810.00	20 / each	\$16,200.00
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:		
PNC2115695B1- -04-35	Signalization: FIBER OPTIC CONNECTION HARDWARE First Offer	\$1,835.00	15 / each	\$27,525.00
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:	
PNC2115695B1- -04-36	Signalization: FIBER OPTIC CONNECTION HARDWARE First Offer	\$1,835.00	15 / each	\$27,525.00
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:	
PNC2115695B1- -04-37	Signalization: FIBER OPTIC CONNECTION HARDWARE First Offer	\$810.00	15 / each	\$12,150.00
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:	
PNC2115695B1- -04-38	Signalization: FIBER OPTIC CONNECTION HARDWARE First Offer	\$1,580.00	10 / each	\$15,800.00
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:	
PNC2115695B1- -04-39	Signalization: FIBER OPTIC CONNECTION HARDWARE First Offer	\$122.00	10 / each	\$1,220.00
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:	
PNC2115695B1- -04-40	Signalization: FIBER OPTIC CONNECTION HARDWARE First Offer	\$770.00	10 / each	\$7,700.00
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:	
PNC2115695B1- -04-41	Signalization: FIBER OPTIC CONNECTION HARDWARE First Offer	\$160.00	20 / each	\$3,200.00
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:	
PNC2115695B1- -04-42	Signalization: FIBER OPTIC CONNECTION HARDWARE First Offer	\$160.00	20 / each	\$3,200.00
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:	
PNC2115695B1- -04-43	Signalization: SIGNALS COMMUNICATION CABLE, TWISTED PAIR CABLE First Offer	\$3.25	10000 / linear foot	\$32,500.00
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:	
PNC2115695B1- -04-44	Signalization: SIGNALS COMMUNICATION CABLE, TWISTED PAIR CABLE First Offer	\$1.60	10000 / linear foot	\$16,000.00
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:	
PNC2115695B1- -04-45	Signalization: SPAN WIRE ASSEMBLY First Offer	\$3,000.00	1 / per intersection	\$3,000.00
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:	
PNC2115695B1- -04-46	Signalization: SPAN WIRE ASSEMBLY First Offer	\$3,000.00	1 / per intersection	\$3,000.00
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:	
PNC2115695B1- -04-47	Signalization: SPAN WIRE ASSEMBLY First Offer	\$5,625.00	1 / per intersection	\$5,625.00

cellaneous Trailic and	County Commis	Sioriers		
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:	
PNC2115695B1- -04-48	Signalization: SPAN WIRE ASSEMBLY First Offer	\$18,750.00	4 / per intersection	\$75,000.00
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:	
PNC2115695B1- -04-49	Signalization: PULL AND SPLICE BOX First Offer	\$1,230.00	200 / each	\$246,000.00
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:	
PNC2115695B1- -04-50	Signalization: PULL AND SPLICE BOX First Offer	\$1,680.00	20 / each	\$33,600.00
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:	
PNC2115695B1- -04-51	Signalization: PULL AND SPLICE BOX First Offer	\$1,700.00	20 / each	\$34,000.00
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:	
PNC2115695B1- -04-52	Signalization: PULL AND SPLICE BOX First Offer	\$2,275.00	2 / each	\$4,550.00
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:	
PNC2115695B1- -04-53	Signalization: PULL AND SPLICE BOX First Offer	\$4,375.00	2 / each	\$8,750.00
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:	
PNC2115695B1- -04-54	Signalization: PULL AND SPLICE BOX First Offer	\$4,375.00	1 / each	\$4,375.00
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:	
PNC2115695B1- -04-55	Signalization: PULL AND SPLICE BOX First Offer	\$500.00	6 / each	\$3,000.00
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:	
PNC2115695B1- -04-56	Signalization: ELECTRIC POWER SERVICE - First Offer	\$3,125.00	5 / assembly	\$15,625.00
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:	
PNC2115695B1 - 04-57	Signalization: ELECTRIC POWER SERVICE First Offer	\$3,125.00	5 / assembly	\$15,625.00
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:	
PNC2115695B1- -04-58	Signalization: ELECTRIC POWER SERVICE First Offer	\$3,125.00	5 / assembly	\$15,625.00
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:	
PNC2115695B1- -04-59	Signalization: ELECTRIC POWER SERVICE First Offer	\$1,100.00	5 / assembly	\$5,500.00
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:	
PNC2115695B1- -04-60	Signalization: ELECTRIC POWER SERVICE First Offer	\$435.00	2 / assembly	\$870.00
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:	

ellaneous Traffic a	nd County Commis	sioners		
PNC2115695B1- -04-61	Signalization: ELECTRIC POWER SERVICE First Offer	\$1,060.00	2 / assembly	\$2,120.00
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:	
PNC2115695B1- -04-62	Signalization: ELECTRICAL SERVICE WIRE First Offer	\$3.50	2000 / linear foot	\$7,000.00
Product Code: Agency Notes:		Supplier Product Co. Supplier Notes:	de:	
PNC2115695B1- -04-63	Signalization: ELECTRICAL SERVICE WIRE First Offer		1000 / linear foot	\$3,100.00
Product Code:		Supplier Product Co	de:	
Agency Notes:		Supplier Notes:	T	
PNC2115695B1- -04-64	Signalization: ELECTRICAL SERVICE WIRE First Offer	\$0.30	1000 / linear foot	\$300.00
Product Code: Agency Notes:		Supplier Product Co- Supplier Notes:	de:	
PNC2115695B1- -04-65	Signalization: ELECTRICAL SERVICE DISCONNECT First Offer	\$1,750.00	2 / each	\$3,500.00
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:	
PNC2115695B1- -04-66	Signalization: ELECTRICAL SERVICE DISCONNECT First Offer	\$1,750.00	2 / each	\$3,500.00
Product Code:		Supplier Product Code:		
Agency Notes:		Supplier Notes:		
PNC2115695B1- -04-67	Signalization: ELECTRICAL SERVICE DISCONNECT First Offer	\$500.00	1 / each	\$500.00
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:		
PNC2115695B1- -04-68	Signalization: PRESTRESSED CONCRETE POLE First Offer	\$1,790.00	5 / each	\$8,950.00
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:	
PNC2115695B1- -04-69	Signalization: PRESTRESSED CONCRETE POLE First Offer	\$2,000.00	1 / each	\$2,000.00
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:	
PNC2115695B1- -04-70	Signalization: PRESTRESSED CONCRETE POLE First Offer	\$7,875.00	1 / each	\$7,875.00
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:	
PNC2115695B1- -04-71	Signalization: PRESTRESSED CONCRETE POLE First Offer	\$8,750.00	1 / each	\$8,750.00
Product Code: Agency Notes:		Supplier Product Co. Supplier Notes:	de:	
PNC2115695B1- -04-72	Signalization: PRESTRESSED CONCRETE POLE First Offer		1 / each	\$11,575.00
Product Code: Agency Notes:		Supplier Product Co. Supplier Notes:	de:	
PNC2115695B1- -04-73	Signalization: PRESTRESSED CONCRETE POLE First Offer	\$1,250.00	2 / each	\$2,500.00
Product Code:		Supplier Product Co	de:	
Agency Notes: PNC2115695B1-	Signalization: PRESTRESSED CONCRETE POLE First Offer	Supplier Notes: \$3,895.00	20 / each	\$77,900.00
-04-74 🗸	Signal Lation - NEO NEODES GONORETE I DEC. This Color			ψ11,700.00
Product Code:		Supplier Product Co	de:	

Broward County Board of County Commissioners

Amanay Natao	,	Cumplion Notes		
Agency Notes: PNC2115695B1	Signalization: PRESTRESSED CONCRETE POLE First Offer	Supplier Notes: \$8,235.00	1 / each	\$8,235.00
-04-75				
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:		
PNC2115695B1-	Signalization: WOOD STRAIN POLE First Offer		5 / each	\$13,750.00
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:		
PNC2115695B1- -04-77	Signalization: WOOD STRAIN POLE First Offer	\$2,800.00	5 / each	\$14,000.00
Product Code: Agency Notes:		Supplier Product Coo Supplier Notes:	de:	
PNC2115695B1- -04-78	Signalization: WOOD STRAIN POLE First Offer	\$590.00	4 / each	\$2,360.00
Product Code: Agency Notes:		Supplier Product Coo Supplier Notes:	de:	
PNC2115695B1- -04-79	Signalization: ALUMINUM SIGNALS POLE First Offer	\$1,200.00	25 / each	\$30,000.00
Product Code: Agency Notes:		Supplier Product Coo Supplier Notes:	de:	
PNC2115695B1- -04-80	Signalization: ALUMINUM SIGNALS POLE First Offer	\$1,180.00	2 / each	\$2,360.00
Product Code: Agency Notes:		Supplier Product Coo Supplier Notes:	de:	
PNC2115695B1- -04-81	Signalization: ALUMINUM SIGNALS POLE First Offer	\$1,190.00	1 / each	\$1,190.00
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:		
PNC2115695B1- -04-82	Signalization: ALUMINUM SIGNALS POLE First Offer	\$330.00	1 / each	\$330.00
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:		
PNC2115695B1- -04-83	Signalization: STEEL MAST ARM ASSEMBLY First Offer	\$16,980.00	5 / each	\$84,900.00
Product Code: Agency Notes:		Supplier Product Coo Supplier Notes:	de:	
PNC2115695B1-	Signalization: STEEL MAST ARM ASSEMBLY First Offer	\$45,995.00	10 / each	\$459,950.00
Product Code: Agency Notes:		Supplier Product Coo Supplier Notes:	de:	
PNC2115695B1- -04-85	Signalization: STEEL MAST ARM ASSEMBLY First Offer	\$68,675.00	1 / each	\$68,675.00
Product Code: Agency Notes:		Supplier Product Coo Supplier Notes:	de:	
PNC2115695B1-	Signalization: STEEL MAST ARM ASSEMBLY First Offer	\$67,245.00	1 / each	\$67,245.00
Product Code: Agency Notes:		Supplier Product Coo Supplier Notes:	de:	
PNC2115695B1- -04-87	Signalization: STEEL MAST ARM ASSEMBLY First Offer		1 / each	\$66,025.00
Product Code: Agency Notes:		Supplier Product Coo Supplier Notes:	de:	
PNC2115695B1-	Signalization: STEEL MAST ARM ASSEMBLY First Offer		10 / each	\$659,350.00

bid #PNC2115695B1	-
Miscellaneous Traffic	and

•			
	Supplier Product Coo Supplier Notes:	de:	
Signalization: STEEL MAST ARM ASSEMBLY First Offer	\$63,950.00	1 / each	\$63,950.00
	Supplier Product Coo Supplier Notes:	de:	
Signalization: STEEL MAST ARM ASSEMBLY First Offer	\$64,375.00	1 / each	\$64,375.00
	Supplier Product Coo Supplier Notes:	de:	
Signalization: STEEL MAST ARM ASSEMBLY First Offer	\$66,250.00	1 / each	\$66,250.00
	Supplier Product Coo Supplier Notes:	de:	
Signalization: STEEL MAST ARM ASSEMBLY First Offer	\$66,250.00	1 / each	\$66,250.00
	Supplier Product Coo Supplier Notes:	de:	
Signalization: STEEL MAST ARM ASSEMBLY First Offer	\$47,500.00	5 / each	\$237,500.00
	Supplier Product Coo Supplier Notes:	de:	
Signalization: STEEL MAST ARM ASSEMBLY First Offer	\$52,500.00	1 / each	\$52,500.00
	Supplier Product Code: Supplier Notes:		
Signalization: STEEL MAST ARM ASSEMBLY First Offer	\$33,125.00	1 / each	\$33,125.00
	Supplier Product Coo Supplier Notes:	de:	
Signalization: STEEL MAST ARM ASSEMBLY First Offer	\$56,150.00	1 / each	\$56,150.00
	Supplier Product Coo Supplier Notes:	de:	
Signalization: STEEL MAST ARM ASSEMBLY First Offer	\$60,625.00	1 / each	\$60,625.00
	Supplier Product Coo Supplier Notes:	de:	
Signalization: STEEL MAST ARM ASSEMBLY First Offer	\$27,500.00	15 / each	\$412,500.00
	Supplier Product Coo Supplier Notes:	de:	
Signalization: STEEL MAST ARM ASSEMBLY First Offer	\$27,500.00	15 / each	\$412,500.00
	Supplier Product Coo Supplier Notes:	de:	
Signalization: STEEL MAST ARM ASSEMBLY First Offer	\$4,375.00	1 / each	\$4,375.00
	Supplier Product Coo Supplier Notes:	de:	
Signalization: STEEL MAST ARM ASSEMBLY First Offer	\$20,000.00	1 / each	\$20,000.00
	Supplier Product Co.	de:	
	Signalization: STEEL MAST ARM ASSEMBLY First Offer Signalization: STEEL MAST ARM ASSEMBLY First Offer	Supplier Notes: Signalization: STEEL MAST ARM ASSEMBLY. First Offer \$63,950.00 Supplier Product Cosupplier Notes: Signalization: STEEL MAST ARM ASSEMBLY. First Offer \$64,375.00 Supplier Product Cosupplier Notes: Signalization: STEEL MAST ARM ASSEMBLY. First Offer \$66,250.00 Supplier Product Cosupplier Notes: Signalization: STEEL MAST ARM ASSEMBLY. First Offer \$66,250.00 Supplier Product Cosupplier Notes: Signalization: STEEL MAST ARM ASSEMBLY. First Offer \$47,500.00 Supplier Product Cosupplier Notes: Signalization: STEEL MAST ARM ASSEMBLY. First Offer \$52,500.00 Supplier Product Cosupplier Notes: Signalization: STEEL MAST ARM ASSEMBLY. First Offer \$33,125.00 Supplier Product Cosupplier Notes: Signalization: STEEL MAST ARM ASSEMBLY. First Offer \$60,625.00 Supplier Product Cosupplier Notes: Signalization: STEEL MAST ARM ASSEMBLY. First Offer \$60,625.00 Supplier Product Cosupplier Notes: Signalization: STEEL MAST ARM ASSEMBLY. First Offer \$27,500.00 Supplier Product Cosupplier Notes: Signalization: STEEL MAST ARM ASSEMBLY. First Offer \$27,500.00 Supplier Notes: Signalization: STEEL MAST ARM ASSEMBLY. First Offer \$44,375.00 Supplier Product Cosupplier Notes: Signalization: STEEL MAST ARM ASSEMBLY. First Offer \$27,500.00 Supplier Notes: Signalization: STEEL MAST ARM ASSEMBLY. First Offer \$44,375.00 Supplier Product Cosupplier Notes: Signalization: STEEL MAST ARM ASSEMBLY. First Offer \$44,375.00 Supplier Product Cosupplier Notes: Signalization: STEEL MAST ARM ASSEMBLY. First Offer \$44,375.00	Signalization: STEEL MAST ARM ASSEMBLY First Offer Sof, 3950.00 1 / each Supplier Notes: Signalization: STEEL MAST ARM ASSEMBLY First Offer Sof, 250.00 1 / each Supplier Notes: Signalization: STEEL MAST ARM ASSEMBLY First Offer Sof, 250.00 1 / each Supplier Notes: Signalization: STEEL MAST ARM ASSEMBLY First Offer Sof, 250.00 1 / each Supplier Notes: Signalization: STEEL MAST ARM ASSEMBLY First Offer Sof, 250.00 1 / each Supplier Notes: Signalization: STEEL MAST ARM ASSEMBLY First Offer Sof, 250.00 5 / each Supplier Notes: Signalization: STEEL MAST ARM ASSEMBLY First Offer Sof, 250.00 1 / each Supplier Notes: Signalization: STEEL MAST ARM ASSEMBLY First Offer Sof, 250.00 1 / each Supplier Notes: Signalization: STEEL MAST ARM ASSEMBLY First Offer Sof, 250.00 1 / each Supplier Notes: Signalization: STEEL MAST ARM ASSEMBLY First Offer Sof, 250.00 1 / each Supplier Notes: Signalization: STEEL MAST ARM ASSEMBLY First Offer Sof, 250.00 1 / each Supplier Notes: Signalization: STEEL MAST ARM ASSEMBLY First Offer Sof, 250.00 1 / each Supplier Notes: Signalization: STEEL MAST ARM ASSEMBLY First Offer Sof, 250.00 1 / each Supplier Notes: Signalization: STEEL MAST ARM ASSEMBLY First Offer Sof, 250.00 1 / each Supplier Notes: Signalization: STEEL MAST ARM ASSEMBLY First Offer Sof, 250.00 1 / each Supplier Notes: Signalization: STEEL MAST ARM ASSEMBLY First Offer Sof, 250.00 1 / each Supplier Notes: Signalization: STEEL MAST ARM ASSEMBLY First Offer Sof, 250.00 1 / each Supplier Notes: Signalization: STEEL MAST ARM ASSEMBLY First Offer Sof, 250.00 1 / each Supplier Notes: Signalization: STEEL MAST ARM ASSEMBLY First Offer Sof, 250.00 1 / each Supplier Notes: Signalization: STEEL MAST ARM ASSEMBLY First Offer Sof, 250.00 1 / each Supplier Notes: Signalization: STEEL MAST ARM ASSEMBLY First Offer Sof, 250.00 1 / each Supplier Notes:

cellaneous Traffic a	nd County Commis	sioners		
PNC2115695B1- -04-102	Signalization: STEEL MAST ARM ASSEMBLY First Offer	\$1,500.00	1 / each	\$1,500.00
Product Code: Agency Notes:		Supplier Product Co- Supplier Notes:	de:	
PNC2115695B1- -04-103	Signalization: STEEL MAST ARM ASSEMBLY, EXISTING POLES, MAINTENANCE ACTIVITIES - First Offer	\$23,125.00	10 / each	\$231,250.00
Product Code: Agency Notes:		Supplier Product Co- Supplier Notes:	de:	
PNC2115695B1- -04-104	Signalization: VEHICULAR TRAFFIC SIGNAL First Offer	\$990.00	2 / assembly	\$1,980.00
Product Code: Agency Notes:		Supplier Product Co- Supplier Notes:	de:	
PNC2115695B1- -04-105	Signalization: VEHICULAR TRAFFIC SIGNAL First Offer	\$1,125.00	50 / assembly	\$56,250.00
Product Code: Agency Notes:		Supplier Product Co- Supplier Notes:	de:	
PNC2115695B1- -04-106	Signalization: VEHICULAR TRAFFIC SIGNAL First Offer	\$1,275.00	2/ assembly	\$2,550.00
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:	
PNC2115695B1- -04-107	Signalization: VEHICULAR TRAFFIC SIGNAL First Offer	\$1,500.00	25 / assembly	\$37,500.00
Product Code: Agency Notes:		Supplier Product Co- Supplier Notes:	de:	
PNC2115695B1- -04-108	Signalization: VEHICULAR TRAFFIC SIGNAL First Offer	\$1,700.00	25 / assembly	\$42,500.00
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:	
PNC2115695B1- -04-109	Signalization: VEHICULAR TRAFFIC SIGNAL First Offer	\$165.00	20 / assembly	\$3,300.00
Product Code: Agency Notes:		Supplier Product Co- Supplier Notes:	de:	
PNC2115695B1- -04-110	Signalization: PEDESTRIAN SIGNAL First Offer	\$650.00	40 / assembly	\$26,000.00
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:	
PNC2115695B1- -04-111	Signalization: PEDESTRIAN SIGNAL First Offer	\$1,200.00	4/ assembly	\$4,800.00
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:	
PNC2115695B1- -04-112	Signalization: PEDESTRIAN SIGNAL First Offer	\$89.00	20 / assembly	\$1,780.00
Product Code: Agency Notes:		Supplier Product Co- Supplier Notes:	de:	
PNC2115695B1- -04-113	Signalization: IN ROADWAY LIGHT ASSEMBLY - First Offer	\$8,500.00	1/ assembly	\$8,500.00
Product Code: Agency Notes:		Supplier Product Co- Supplier Notes:	de:	
PNC2115695B1- -04-114	Signalization: IN ROADWAY LIGHT ASSEMBLY - First Offer	\$9,000.00	1/ assembly	\$9,000.00
Product Code: Agency Notes:		Supplier Product Co- Supplier Notes:	de:	
PNC2115695B1- -04-115	Signalization: RECTANGULAR RAPID FLASHING BEACON SIGN ASSEMBLY - First Offer	\$11,075.00	1/ assembly	\$11,075.00
Product Code:		Supplier Product Co	de:	

cellarieous Trailic a	nu County Commis	Sioners		
Agency Notes:		Supplier Notes:		
PNC2115695B1- -04-116	Signalization: RECTANGULAR RAPID FLASHING BEACON SIGN ASSEMBLY - First Offer	\$13,210.00	1 / assembly	\$13,210.00
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:	
PNC2115695B1- -04-117	Signalization: RECTANGULAR RAPID FLASHING BEACON SIGN ASSEMBLY - First Offer	\$11,070.00	1 / each	\$11,070.00
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:	
PNC2115695B1- -04-118	Signalization: RECTANGULAR RAPID FLASHING BEACON SIGN ASSEMBLY - First Offer	\$12,060.00	5 / assembly	\$60,300.00
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:	
PNC2115695B1- -04-119	Signalization: RECTANGULAR RAPID FLASHING BEACON SIGN ASSEMBLY - First Offer	\$14,265.00	5 / assembly	\$71,325.00
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:	
PNC2115695B1- -04-120	Signalization: RECTANGULAR RAPID FLASHING BEACON SIGN ASSEMBLY - First Offer	\$450.00	1 / assembly	\$450.00
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:		
PNC2115695B1- -04-121	Signalization: PEDESTRIAN HYBRID BEACON ASSEMBLY First Offer	\$8,300.00	1 / assembly	\$8,300.00
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:		
PNC2115695B1- -04-122	Signalization: PEDESTRIAN HYBRID BEACON ASSEMBLY First Offer	\$1,000.00	1 / assembly	\$1,000.00
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:	
PNC2115695B1- -04-123	Signalization: VEHICLE DETECTION SYSTEM, VIDEO - First Offer	\$8,750.00	30 / each	\$262,500.00
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:	
PNC2115695B1- -04-124	Signalization: VEHICLE DETECTION SYSTEM, VIDEO - First Offer	\$7,875.00	25 / each	\$196,875.00
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:	
PNC2115695B1- -04-125	Signalization: VEHICLE DETECTION SYSTEM, VIDEO - First Offer	\$1,187.50	15 / each	\$17,812.50
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:	
PNC2115695B1- -04-126	Signalization: SIGNAL PRIORITY AND PREEMPTION SYSTEM First Offer	\$8,125.00	2 / each	\$16,250.00
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:	
PNC2115695B1- -04-127	Signalization: SIGNAL PRIORITY AND PREEMPTION SYSTEM First Offer	\$8,125.00	2 / each	\$16,250.00
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:	
PNC2115695B1- -04-128	Signalization: SIGNAL PRIORITY AND PREEMPTION SYSTEM First Offer	\$3.75	2 / each	\$7.50
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:	
PNC2115695B1- -04-129	Signalization: PEDESTRIAN DETECTOR First Offer	\$145.00	25 / each	\$3,625.00

cellaneous Traffic a	nd County Commis	sioners		
Product Code: Agency Notes:		Supplier Product Co- Supplier Notes:	de:	
PNC2115695B1- -04-130	Signalization: PEDESTRIAN DETECTOR First Offer	\$170.00	3 / each	\$510.00
Product Code: Agency Notes:		Supplier Product Co- Supplier Notes:	de:	
PNC2115695B1- -04-131	Signalization: PEDESTRIAN DETECTOR First Offer	\$55.00	20 / each	\$1,100.00
Product Code: Agency Notes:		Supplier Product Co- Supplier Notes:	de:	
PNC2115695B1- -04-132	Signalization: TRAFFIC CONTROLLER ASSEMBLY First Offer	\$35,000.00	3 / assembly	\$105,000.00
Product Code: Agency Notes:		Supplier Product Co- Supplier Notes:	de:	
PNC2115695B1 04 - 133	Signalization: TRAFFIC CONTROLLER ASSEMBLY First Offer	\$35,000.00	2 / assembly	\$70,000.00
Product Code: Agency Notes:		Supplier Product Co- Supplier Notes:	de:	
PNC2115695B1- -04-134	Signalization: TRAFFIC CONTROLLER ASSEMBLY First Offer	\$35,000.00	2 / assembly	\$70,000.00
Product Code: Agency Notes:		Supplier Product Co- Supplier Notes:	de:	
PNC2115695B1- -04-135	Signalization: TRAFFIC CONTROLLER ASSEMBLY First Offer	\$1,005.00	5 / assembly	\$5,025.00
Product Code: Agency Notes:		Supplier Product Co- Supplier Notes:	de:	
PNC2115695B1- -04-136	Signalization: MANAGED FIELD ETHERNET SWITCH First Offer	\$2,750.00	5 / each	\$13,750.00
Product Code: Agency Notes:		Supplier Product Co- Supplier Notes:	de:	
PNC2115695B1- -04-137	Signalization: DIGITAL VIDEO ENCODER WITH SOFTWARE DECODER First Offer	\$9,750.00	5 / each	\$48,750.00
Product Code: Agency Notes:		Supplier Product Co- Supplier Notes:	de:	
PNC2115695B1- -04-138	Signalization: LIGHT POLE COMPLETE, LUMINAIRE, POLE, FOUNDATION First Offer	\$7,195.00	2 / each	\$14,390.00
Product Code: Agency Notes:		Supplier Product Co- Supplier Notes:	de:	
PNC2115695B1- -04-139	Signalization: LIGHT POLE COMPLETE, LUMINAIRE, POLE, FOUNDATION First Offer	\$5,250.00	2 / each	\$10,500.00
Product Code: Agency Notes:		Supplier Product Co- Supplier Notes:	de:	
PNC2115695B1- -04-140	Signalization: LIGHT POLE COMPLETE, LUMINAIRE, POLE, FOUNDATION First Offer	\$5,875.00	3 / each	\$17,625.00
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:	
PNC2115695B1- -04-141	Signalization: LIGHT POLE COMPLETE, LUMINAIRE, POLE, FOUNDATION First Offer	\$7,305.00	5 / each	\$36,525.00
Product Code: Agency Notes:		Supplier Product Co- Supplier Notes:	de:	
PNC2115695B1- -04-142	Signalization: LIGHT POLE COMPLETE, LUMINAIRE, POLE, FOUNDATION First Offer	\$7,870.00	2 / each	\$15,740.00
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:	

ellaneous Traffic	and County Commis	sioners			
PNC2115695B1- -04-143	Signalization: LIGHT POLE COMPLETE, LUMINAIRE, POLE, FOUNDATION First Offer		\$6,440.00	2 / each	\$12,880.00
Product Code: Agency Notes:		Supplier Supplier	Product Co Notes:	de:	
PNC2115695B1- -04-144	Signalization: LIGHT POLE COMPLETE, LUMINAIRE, POLE, FOUNDATION First Offer		\$1,500.00	3 / each	\$4,500.00
Product Code: Agency Notes:		Supplier Supplier	Product Co	de:	
PNC2115695B1- -04-145	Signalization: LIGHT POLE COMPLETE, LUMINAIRE, POLE, FOUNDATION First Offer		\$1,250.00	3 / each	\$3,750.00
Product Code: Agency Notes:		Supplier Supplier	Product Co	de:	
PNC2115695B1- -04-146	Signalization: PULL AND SPLICE BOX First Offer		\$300.00	10 / each	\$3,000.00
Product Code: Agency Notes:		Supplier Supplier	Product Co	de:	
PNC2115695B1- -04-147	Signalization: PULL AND SPLICE BOX First Offer		\$270.00	20 / each	\$5,400.00
Product Code: Agency Notes:		Supplier Supplier	Product Co Notes:	de:	
				Lo	t Total: \$6,238,660.00
Item #	Line Item		Unit Price	Qty/Unit	Total Price
PNC2115695B1-	Signing and Pavement Markings: SINGLE POST SIGN First Offer		\$410.00	150 / assembly	\$61,500.00
Product Code: Agency Notes:		Supplier Supplier	Product Co	de:	
PNC2115695B1- -05-02	Signing and Pavement Markings: SINGLE POST SIGN First Offer		\$1,220.00	30 / assembly	\$36,600.00
Product Code: Agency Notes:		Supplier Supplier	Product Co	de:	
PNC2115695B1- -05-03	Signing and Pavement Markings: SINGLE POST SIGN First Offer		\$1,600.00	2 / assembly	\$3,200.00
Product Code: Agency Notes:		Supplier Supplier	Product Coo Notes:	de:	
PNC2115695B1- -05-04	Signing and Pavement Markings: SINGLE POST SIGN First Offer		\$2,400.00	2 / assembly	\$4,800.00
Product Code: Agency Notes:		Supplier Supplier	Product Co Notes:	de:	
PNC2115695B1- -05-05	Signing and Pavement Markings: SINGLE POST SIGN First Offer		\$290.00	30 / assembly	\$8,700.00
Product Code: Agency Notes:		Supplier Supplier	Product Coo Notes:	de:	
PNC2115695B1- -05-06	Signing and Pavement Markings: SINGLE POST SIGN First Offer		\$35.00	150 / assembly	\$5,250.00
Product Code: Agency Notes:		Supplier Supplier	Product Co	de:	
PNC2115695B1- -05-07	Signing and Pavement Markings: ELECTRONIC DISPLAY SIGN - First Offer		\$10,625.00	2 / assembly	\$21,250.00
Product Code: Agency Notes:		Supplier Supplier	Product Co	de:	
PNC2115695B1- -05-08	Signing and Pavement Markings: ELECTRONIC DISPLAY SIGN - First Offer		\$10,937.50	2/ assembly	\$21,875.00
-03-00					

cellaneous Traffic ar	nd County Commis	sioners		
PNC2115695B1- -05-09	Signing and Pavement Markings: ELECTRONIC DISPLAY SIGN - First Offer	\$18,750.00	2/ assembly	\$37,500.00
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:	
PNC2115695B1- -05-10	Signing and Pavement Markings: ELECTRONIC DISPLAY SIGN - First Offer	\$20,000.00	2/ assembly	\$40,000.00
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:	
PNC2115695B1 - -05-11	Signing and Pavement Markings: ELECTRONIC DISPLAY SIGN - First Offer	\$10,625.00	2 / assembly	\$21,250.00
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:	
PNC2115695B1- -05-12	Signing and Pavement Markings: ELECTRONIC DISPLAY SIGN - First Offer	\$11,250.00	2 / assembly	\$22,500.00
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:	
PNC2115695B1- -05-13	Signing and Pavement Markings: ELECTRONIC DISPLAY SIGN - First Offer	\$11,250.00	2 / assembly	\$22,500.00
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:	
PNC2115695B1 - 05 - 14	Signing and Pavement Markings: SIGN BEACON First Offer	\$8,562.50	2/ assembly	\$17,125.00
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:	
PNC2115695B105 - 15	Signing and Pavement Markings: SIGN BEACON First Offer	\$8,500.00	1/ assembly	\$8,500.00
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:		
PNC2115695B1- -05-16	Signing and Pavement Markings: SIGN BEACON First Offer	\$7,750.00	50 / assembly	\$387,500.00
Product Code: Agency Notes:		Supplier Product Coo Supplier Notes:	de:	
PNC2115695B1 - -05-17	Signing and Pavement Markings: SIGN BEACON First Offer	\$7,750.00	2/ assembly	\$15,500.00
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:	
PNC2115695B1 - -05-18	Signing and Pavement Markings: SIGN BEACON First Offer	\$7,750.00	2 / assembly	\$15,500.00
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:	
PNC2115695B1 - -05-19	Signing and Pavement Markings: SIGN BEACON First Offer	\$7,750.00	1/ assembly	\$7,750.00
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:	
PNC2115695B1 - 05 - 20	Signing and Pavement Markings: SIGN BEACON First Offer	\$7,750.00	10 / assembly	\$77,500.00
Product Code: Agency Notes:		Supplier Product Coo Supplier Notes:	de:	
PNC2115695B1- -05-21	Signing and Pavement Markings: SIGN BEACON First Offer	\$7,750.00	2/ assembly	\$15,500.00
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:	
PNC2115695B1- -05-22	Signing and Pavement Markings: MULTI'POST SIGN First Offer	\$4,280.00	1/ assembly	\$4,280.00
Product Code:		Supplier Product Co	de:	

cellaneous Trailic a	and County Commis	Sioners		
Agency Notes:		Supplier Notes:		
PNC2115695B1- -05-23	Signing and Pavement Markings: MULTI'POST SIGN First Offer	\$5,395.00	10 / assembly	\$53,950.00
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:	
PNC2115695B1- -05-24	Signing and Pavement Markings: MULTI'POST SIGN First Offer	\$6,010.00	1/ assembly	\$6,010.00
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:	
PNC2115695B1- -05-25	Signing and Pavement Markings: MULTI'POST SIGN First Offer	\$3,730.00	1/ assembly	\$3,730.00
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:	
PNC2115695B1- -05-26	Signing and Pavement Markings: MULTI'POST SIGN First Offer	\$595.00	3 / assembly	\$1,785.00
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:	
PNC2115695B1- -05-27	Signing and Pavement Markings: SIGN PANEL First Offer	\$560.00	25 / each	\$14,000.00
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:		
PNC2115695B1- -05-28	Signing and Pavement Markings: SIGN PANEL First Offer	\$605.00	10 / each	\$6,050.00
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:		
PNC2115695B1- -05-29	Signing and Pavement Markings: SIGN PANEL First Offer	\$650.00	2 / each	\$1,300.00
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:		
PNC2115695B1- -05-30	Signing and Pavement Markings: SIGN PANEL First Offer	\$410.00	4 / each	\$1,640.00
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:	
PNC2115695B1- -05-31	Signing and Pavement Markings: SIGN PANEL First Offer	\$625.00	2 / each	\$1,250.00
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:	
PNC2115695B1- -05-32	Signing and Pavement Markings: SIGN PANEL First Offer	\$925.00	2 / each	\$1,850.00
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:	
PNC2115695B1- -05-33	Signing and Pavement Markings: SIGN PANEL First Offer	\$2,200.00	10 / each	\$22,000.00
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:	
PNC2115695B1- -05-34	Signing and Pavement Markings: SIGN PANEL First Offer	\$65.00	1 / each	\$65.00
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:	
PNC2115695B1- -05-35	Signing and Pavement Markings: SIGN PANEL First Offer	\$155.00	1 / each	\$155.00
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:	•
PNC2115695B1- -05-36	Signing and Pavement Markings: SIGN PANEL First Offer	\$315.00	1 / each	\$315.00

cellaneous Traffic a	ind County Commis	sioners		
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:	
PNC2115695B1- -05-37	Signing and Pavement Markings: SIGN PANEL First Offer	\$750.00	2 / each	\$1,500.00
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:	
PNC2115695B1- -05-38	Signing and Pavement Markings: SIGN PANEL First Offer	\$960.00	1 / each	\$960.00
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:	
PNC2115695B1- -05-39	Signing and Pavement Markings: INTERNALLY ILLUMINATED SIGN First Offer	\$3,000.00	14 / each	\$42,000.00
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:	
PNC2115695B1- -05-40	Signing and Pavement Markings: INTERNALLY ILLUMINATED SIGN First Offer	\$3,000.00	4 / each	\$12,000.00
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:	
PNC2115695B1- -05-41	Signing and Pavement Markings: OBJECT MARKER First Offer	\$230.00	10 / each	\$2,300.00
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:		
PNC2115695B1- -05-42	Signing and Pavement Markings: OBJECT MARKER First Offer	\$330.00	10 / each	\$3,300.00
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:	
PNC2115695B1- -05-43	Signing and Pavement Markings: RETRO-REFLECTIVE PAVEMENT MARKERS First Offer	\$10.00	500 / each	\$5,000.00
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:	
PNC2115695B1- -05-44	Signing and Pavement Markings: PAINTED PAVEMENT MARKINGS First Offer	\$1,000.00	0.3 / mile	\$300.00
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:	
PNC2115695B1- -05-45	Signing and Pavement Markings: PAINTED PAVEMENT MARKINGS First Offer	\$2.35	500 / linear foot	\$1,175.00
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:	
PNC2115695B1- -05-46	Signing and Pavement Markings: PAINTED PAVEMENT MARKINGS First Offer	\$2.50	100 / linear foot	\$250.00
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:	
PNC2115695B1- -05-47	Signing and Pavement Markings: PAINTED PAVEMENT MARKINGS First Offer	\$3.00	300 / linear foot	\$900.00
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:	
PNC2115695B1- -05-48	Signing and Pavement Markings: PAINTED PAVEMENT MARKINGS First Offer	\$450.00	0.3 / mile	\$135.00
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:	
PNC2115695B1- -05-49	Signing and Pavement Markings: PAINTED PAVEMENT MARKINGS First Offer	\$500.00	0.3 / mile	\$150.00
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:	

cellaneous Traffic and	County Commis	sioners		
PNC2115695B1- -05-50	Signing and Pavement Markings: PAINTED PAVEMENT MARKINGS First Offer	\$50.00	5 / each	\$250.00
Product Code: Agency Notes:		Supplier Product Cod Supplier Notes:	le:	
PNC2115695B1- -05-51	Signing and Pavement Markings: PAINTED PAVEMENT MARKINGS First Offer	\$50.00	5 / each	\$250.00
Product Code: Agency Notes:		Supplier Product Cod Supplier Notes:	le:	
PNC2115695B1- -05-52	Signing and Pavement Markings: PAINTED PAVEMENT MARKINGS First Offer	\$4.50	30 / linear foot	\$135.00
Product Code: Agency Notes:		Supplier Product Cod Supplier Notes:	le:	
PNC2115695B1- -05-53	Signing and Pavement Markings: PAINTED PAVEMENT MARKINGS First Offer	\$5.00	20 / square foot	\$100.00
Product Code: Agency Notes:		Supplier Product Cod Supplier Notes:	le:	
PNC2115695B1- -05-54	Signing and Pavement Markings: PAINTED PAVEMENT MARKINGS First Offer	\$875.00	0.1 / mile	\$87.50
Product Code: Agency Notes:		Supplier Product Cod Supplier Notes:	le:	
PNC2115695B1- -05-55	Signing and Pavement Markings: PAINTED PAVEMENT MARKINGS First Offer	\$2.50	70 / linear foot	\$175.00
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:		
PNC2115695B1- -05-56	Signing and Pavement Markings: PAINTED PAVEMENT MARKINGS First Offer	\$500.00	0.1 / mile	\$50.00
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:		
PNC2115695B1- -05-57	Signing and Pavement Markings: PAINTED PAVEMENT MARKINGS First Offer	\$550.00	0.3 / mile	\$165.00
Product Code: Agency Notes:		Supplier Product Cod Supplier Notes:	le:	
PNC2115695B1- -05- 58	Signing and Pavement Markings: PAINTED PAVEMENT MARKINGS First Offer	\$5.00	200 / square foot	\$1,000.00
Product Code: Agency Notes:		Supplier Product Cod Supplier Notes:	le:	
PNC2115695B1- -05-59	Signing and Pavement Markings: THERMOPLASTIC PAVEMENT MARKINGS First Offer	\$3.50	3000 / linear foot	\$10,500.00
Product Code: Agency Notes:		Supplier Product Cod Supplier Notes:	le:	
PNC2115695B1- -05-60	Signing and Pavement Markings: THERMOPLASTIC PAVEMENT MARKINGS First Offer	\$4.00	300 / linear foot	\$1,200.00
Product Code: Agency Notes:		Supplier Product Cod Supplier Notes:	le:	
PNC2115695B1- -05-61	Signing and Pavement Markings: THERMOPLASTIC PAVEMENT MARKINGS First Offer	\$4.50	3000 / linear foot	\$13,500.00
Product Code: Agency Notes:		Supplier Product Cod Supplier Notes:	le:	
PNC2115695B1- -05-62	Signing and Pavement Markings: THERMOPLASTIC PAVEMENT MARKINGS First Offer	\$1,700.00	0.4 / mile	\$680.00
Product Code: Agency Notes:		Supplier Product Cod Supplier Notes:	le:	
PNC2115695B1- -05-63	Signing and Pavement Markings: THERMOPLASTIC PAVEMENT MARKINGS First Offer	\$85.00	55 / each	\$4,675.00
Product Code:		Supplier Product Cod	le:	

Broward County Board of County Commissioners

Agency Notes:	,	Supplier Notes:		
PNC2115695B105-64	Signing and Pavement Markings: THERMOPLASTIC PAVEMENT MARKINGS First Offer	\$150.00	50 / each	\$7,500.00
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:	
PNC2115695B1- -05-65	Signing and Pavement Markings: THERMOPLASTIC PAVEMENT MARKINGS First Offer	\$3.25	60 / linear foot	\$195.00
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:	
PNC2115695B1- -05-66	Signing and Pavement Markings: THERMOPLASTIC PAVEMENT MARKINGS First Offer	\$4.00	200 / linear foot	\$800.00
Product Code: Agency Notes:		Supplier Product Coo Supplier Notes:	de:	
PNC2115695B1- -05-67	Signing and Pavement Markings: THERMOPLASTIC PAVEMENT MARKINGS First Offer	\$1,800.00	0.3 / mile	\$540.00
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:	
PNC2115695B1- -05-68	Signing and Pavement Markings: THERMOPLASTIC PAVEMENT MARKINGS First Offer	\$200.00	30 / each	\$6,000.00
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:		
PNC2115695B1- -05-69	Signing and Pavement Markings: THERMOPLASTIC PAVEMENT MARKINGS First Offer	\$175.00	30 / each	\$5,250.00
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:	
PNC2115695B1- -05-70	Signing and Pavement Markings: THERMOPLASTIC PAVEMENT MARKINGS First Offer	\$3,875.00	1 / mile	\$3,875.00
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:		
PNC2115695B1- -05-71	Signing and Pavement Markings: THERMOPLASTIC PAVEMENT MARKINGS First Offer	\$5,125.00	0.5 / mile	\$2,562.50
Product Code:		Supplier Product Co	de:	
Agency Notes:	Cinning and Daving and Marking and TUEDMODI ACTIC	Supplier Notes:	0.05 /! -	¢200.00
PNC2115695B1- -05-72	Signing and Pavement Markings: THERMOPLASTIC PAVEMENT MARKINGS First Offer	\$1,560.00	0.25 / mile	\$390.00
Product Code: Agency Notes:		Supplier Product Co. Supplier Notes:	de:	
PNC2115695B1- -05-73	Signing and Pavement Markings: THERMOPLASTIC PAVEMENT MARKINGS First Offer	\$3,875.00	0.5 / mile	\$1,937.50
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:	
PNC2115695B1- -05-74	Signing and Pavement Markings: THERMOPLASTIC PAVEMENT MARKINGS First Offer	\$5,125.00	0.5 / mile	\$2,562.50
Product Code: Agency Notes:		Supplier Product Co- Supplier Notes:	de:	
PNC2115695B1- -05-75	Signing and Pavement Markings: THERMOPLASTIC PAVEMENT MARKINGS First Offer	\$1,560.00	0.5 / mile	\$780.00
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:	
PNC2115695B1- -05-76	Signing and Pavement Markings: THERMOPLASTIC PAVEMENT MARKINGS First Offer	\$7.00	2000 / square foot	\$14,000.00
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:	
			Lo	ot Total: \$1,119,310.00

Broward County Board of County Commissioners

Item #	Line Item	Unit Price	Qty/Unit	Total Price
PNC2115695B1- -06-01	Utility: UTILITY FITTINGS First Offer	\$935.00	3 / each	\$2,805.00
Product Code: Agency Notes:		Supplier Product Coo Supplier Notes:	de:	
PNC2115695B1- -06-02	Utility: UTILITY FIXTURE, VALVE, METER BOX First Offer	\$500.00	3 / each	\$1,500.00
Product Code: Agency Notes:		Supplier Product Coo Supplier Notes:	de:	
PNC2115695B1- -06-03	Utility: UTILITY FIXTURE, VALVE, METER BOX First Offer	\$700.00	3 / each	\$2,100.00
Product Code: Agency Notes:		Supplier Product Coo Supplier Notes:	de:	
PNC2115695B1- -06-04	Utility: UTILITY FIXTURE, VALVE, METER BOX First Offer	\$955.00	3 / each	\$2,865.00
Product Code: Agency Notes:		Supplier Product Coo Supplier Notes:	de:	
				Lot Total: \$9,270.00
Bid Allowance				\$230,000.00

Arc Electric, Inc. ✓ \$10,549,047.50 (354/354 items)

Address 3330 SW 46th Avenue

Davie, FL 33314

Bid Contact Omar McFarlane

omcfarlane@arcelectricfl.com

Ph 954-583-9800 Fax 954-583-9807

Qualifications DBE SB

Agency Notes:		Supplier Notes:		
Item #	Line Item	Unit Price	Qty/Unit	Total Price
PNC2115695B1- -01-01	General Construction: MOBILIZATION FOR EMERGENCIES First Offer	\$25,000.00	5 / each	\$125,000.00
Product Code: Agency Notes:		Supplier Product Co- Supplier Notes:	de:	
PNC2115695B1- -01-02	General Construction: UTILITY LOCATES AND EXCAVATION TEST HOLES First Offer	\$500.00	100 / each	\$50,000.00
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:		
PNC2115695B1- -01-03	General Construction: HOURLY RATE - First Offer	\$250.00	40 / hour	\$10,000.00
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:		
PNC2115695B1- -01-04	General Construction: HOURLY RATE - First Offer	\$150.00	40 / hour	\$6,000.00
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:		
PNC2115695B1- -01-05	General Construction: HOURLY RATE - First Offer	\$100.00	40 / hour	\$4,000.00
Product Code: Agency Notes:		Supplier Product Co- Supplier Notes:	de:	
PNC2115695B1- -01-06	General Construction: HOURLY LABOR RATE - First Offer	\$65.00	1500 / hour	\$97,500.00
Product Code:		Supplier Product Co	de:	

Agency Notes:	•	Supplier Notes:		
PNC2115695B1- -01-07	General Construction: HOURLY LABOR RATE - First Offer	\$65.00	500 / hour	\$32,500.00
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:	
PNC2115695B1- -01-08	General Construction: HOURLY RATE - First Offer	\$65.00	40 / hour	\$2,600.00
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:	
PNC2115695B1- -01-09	General Construction: HOURLY RATE - First Offer	\$65.00	40 / hour	\$2,600.00
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:	
PNC2115695B1- -01-10	General Construction: HOURLY RATE - First Offer	\$200.00	40 / hour	\$8,000.00
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:	
PNC2115695B1- -01-11	General Construction: TRAFFIC CONTROL OFFICER First Offer	\$75.00	85 / hour	\$6,375.00
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:		
PNC2115695B1- -01-12	General Construction: COMMERCIAL MATERIAL FOR TEMPORARY DRIVEWAY MAINTENANCE First Offer	\$165.00	10 / cubic yard	\$1,650.00
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:		
PNC2115695B1- -01-13	General Construction: WORK ZONE SIGN First Offer	\$1.00	8500 / day	\$8,500.00
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:	
PNC2115695B1- -01-14	General Construction: BUSINESS SIGN First Offer	\$600.00	5 / each	\$3,000.00
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:	
PNC2115695B1- -01-15	General Construction: TEMPORARY BARRIER WALL First Offer	\$25.00	100 / linear foot	\$2,500.00
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:	
PNC2115695B1 - -01-16	General Construction: TEMPORARY BARRIER WALL First Offer	\$175.00	150 / linear foot	\$26,250.00
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:	
PNC2115695B1 - -01-17	General Construction: TEMPORARY BARRIER WALL First Offer	\$75.00	150 / linear foot	\$11,250.00
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:	
PNC2115695B1- -01-18	General Construction: TEMPORARY BARRIER WALL First Offer	\$75.00	150 / linear foot	\$11,250.00
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:	
PNC2115695B1 - -01-19	General Construction: CHANNELIZING DEVICE First Offer	\$0.85	20000 / day	\$17,000.00
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:	
PNC2115695B1- -01-20	General Construction: CHANNELIZING DEVICE First Offer	\$2.50	30 / day	\$75.00

cellaneous Traffic a	and County Commis	oners		·
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:	
PNC2115695B1- -01-21	General Construction: CHANNELIZING DEVICE First Offer	\$4.00	700 / linear foot	\$2,800.00
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:	
PNC2115695B1- -01-22	General Construction: ARROW BOARD/ADVANCE WARNING ARROW PANEL First Offer	\$25.00	700 / day	\$17,500.00
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:	
PNC2115695B1- -01-23	General Construction: TEMPORARY RETROREFLECTIVE PAVEMENT MARKER First Offer	\$15.00	20 / each	\$300.00
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:	
PNC2115695B1- -01-24	General Construction: TEMPORARY PORTABLE CHANGEABLE MESSAGE SIGN First Offer	\$45.00	20 / day	\$900.00
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:	
PNC2115695B1- -01-25	General Construction: REMOVABLE TAPE PAVEMENT MARKING First Offer	\$20.00	100 / linear foot	\$2,000.00
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:	
PNC2115695B1- -01-26	General Construction: REMOVABLE TAPE PAVEMENT MARKING First Offer	\$20.00	100 / linear foot	\$2,000.00
Product Code: Agency Notes:		upplier Product Co upplier Notes:	de:	
PNC2115695B1- -01-27	General Construction: REMOVABLE TAPE PAVEMENT MARKING First Offer	\$5.00	100 / linear foot	\$500.00
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:	
PNC2115695B1- -01-28	General Construction: REMOVABLE TAPE PAVEMENT MARKING First Offer	\$5.00	100 / linear foot	\$500.00
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:	
PNC2115695B1- -01-29	General Construction: SEDIMENT BARRIER First Offer	\$6.00	300 / linear foot	\$1,800.00
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:	
PNC2115695B1- -01-30	General Construction: INLET PROTECTION SYSTEM First Offer	\$250.00	10 / each	\$2,500.00
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:	
PNC2115695B1- -01-31	General Construction: LITTER REMOVAL AND DISPOSAL First Offer	\$3,500.00	1 / acre	\$3,500.00
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:	
PNC2115695B1- -01-32	General Construction: MOWING First Offer	\$2,500.00	1 / acre	\$2,500.00
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:	
				_ot Total: \$462,850.00
Item #	Line Item	Unit Price	Qty/Unit	Total Price
PNC2115695B1- -02-01	Lighting: LIGHTING CONDUCTORS First Offer	\$2.75	500 / linear foot	\$1,375.00

cellaneous Trailic a	and County Commis	Sidileis		
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:	
PNC2115695B1- -02-02	Lighting: LIGHTING CONDUCTORS First Offer	\$3.50	1000 / linear foot	\$3,500.00
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:	
PNC2115695B1- -02-03	Lighting: LIGHTING CONDUCTORS First Offer	\$0.50	500 / linear foot	\$250.00
Product Code:		Supplier Product Co Supplier Notes:	de:	
Agency Notes: PNC2115695B1	Lighting: LIGHTING CONDUCTORS First Offer	\$0.50	500 /	\$250.00
-02-04	3 3	·	linear foot	
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:	
PNC2115695B1- -02-05	Lighting: LOAD CENTER First Offer	\$8,500.00	1 / each	\$8,500.00
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:	
PNC2115695B1- -02-06	Lighting: LOAD CENTER First Offer	\$15,000.00	1 / each	\$15,000.00
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:		
PNC2115695B1- -02-07	Lighting: LOAD CENTER First Offer	\$500.00	1 / each	\$500.00
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:	
PNC2115695B1- -02-08	Lighting: LOAD CENTER First Offer	\$1,000.00	1 / each	\$1,000.00
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:	
PNC2115695B1- -02-09	Lighting: LUMINAIRE - First Offer	\$1,500.00	300 / each	\$450,000.00
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:	
PNC2115695B1- -02-10	Lighting: LIGHTING POLE CABLE DISTRIBUTION SYSTEM First Offer	\$800.00	1 / each	\$800.00
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:	
		ı		Lot Total: \$481,175.00
Item #	Line Item	Unit Price	Qty/Unit	Total Price
PNC2115695B1- -03-01	Roadway: CLEARING AND GRUBBING (PUSH BUTTON CONTRACT) First Offer	\$5,000.00	4 / acre	\$20,000.00
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:	
PNC2115695B1- -03-02	Roadway: REMOVAL OF EXISTING CONCRETE PAVEMENT First Offer	\$35.00	2000 / square yard	\$70,000.00
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:	
PNC2115695B1- -03-03	Roadway: REGULAR EXCAVATION First Offer	\$125.00	200 / cubic yard	\$25,000.00
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:	
PNC2115695B1- -03-04	Roadway: FLOWABLE FILL First Offer	\$420.00	10 / cubic yard	\$4,200.00
		•		

Broward County Board of County Commissioners

celiarieous Trailic ai	id County Commis	31011013		
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:	
PNC2115695B1- -03-05	Roadway: TYPE B STABILIZATION First Offer	\$100.00	7500 / square yard	\$750,000.00
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:	
PNC2115695B1- -03-06	Roadway: PREPARED SOIL LAYER First Offer	\$85.00	250 / square yard	\$21,250.00
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:		
PNC2115695B1- -03-07	Roadway: REWORKING LIMEROCK BASE First Offer	\$100.00	1000 / square yard	\$100,000.00
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:		
PNC2115695B1- -03-08	Roadway: LIMEROCK, NEW MATERIAL FOR REWORKING BASE First Offer	\$250.00	50 / cubic	\$12,500.00
Product Code: Agency Notes:	5,162.	Supplier Product Co Supplier Notes:	,	
PNC2115695B1- -03-09	Roadway: OPTIONAL BASE First Offer	\$300.00	300 / square yard	\$90,000.00
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:	
PNC2115695B1- -03-10	Roadway: OPTIONAL BASE First Offer	\$300.00	150 / square yard	\$45,000.00
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:		
PNC2115695B1- -03-11	Roadway: OPTIONAL BASE First Offer	\$300.00	320 / square yard	\$96,000.00
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:	
PNC2115695B1- -03-12	Roadway: OPTIONAL BASE First Offer	\$350.00	150 / square yard	\$52,500.00
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:	
PNC2115695B1- -03-13	Roadway: TURNOUT CONSTRUCTION First Offer	\$105.00	100 / square yard	\$10,500.00
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:	
PNC2115695B1- -03-14	Roadway: TURNOUT CONSTRUCTION, ASPHALT First Offer	\$300.00	50 / ton	\$15,000.00
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:	
PNC2115695B1- -03-15	Roadway: MILLING EXISTING ASPHALT PAVEMENT First Offer	\$5.00	2500 / square yard	\$12,500.00
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:	
PNC2115695B1 - -03-16	Roadway: MILLING EXISTING ASPHALT PAVEMENT First Offer	\$5.00	10000 / square yard	\$50,000.00
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:	
PNC2115695B1- -03-17	Roadway: MILLING EXISTING ASPHALT PAVEMENT First Offer	\$5.00	15000 / square yard	\$75,000.00
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:	

ellaneous Traffic a	ind County Commis	Sioners		
PNC2115695B1- -03-18	Roadway: MILLING EXISTING ASPHALT PAVEMENT First Offer	\$5.00	1250 / square yard	\$6,250.00
Product Code: Agency Notes:		Supplier Product Coo Supplier Notes:	de:	
PNC2115695B1- -03-19	Roadway: MILLING EXISTING ASPHALT PAVEMENT First Offer	\$5.00	2500 / square yard	\$12,500.00
Product Code: Agency Notes:		Supplier Product Co. Supplier Notes:	de:	
PNC2115695B103 - 20	Roadway: MILLING EXISTING ASPHALT PAVEMENT First Offer	\$5.00	5000 / square yard	\$25,000.00
Product Code:		Supplier Product Co	de:	
Agency Notes: PNC2115695B1	Roadway: SUPERPAVE ASPHALTIC CONCRETE First Offer	Supplier Notes: \$350.00	5 / ton	\$1,750.00
Product Code:		Supplier Product Co Supplier Notes:	de:	
Agency Notes: PNC2115695B1- -03-22	Roadway: SUPERPAVE ASPHALTIC CONCRETE First Offer	\$375.00	5 / ton	\$1,875.00
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:	
PNC2115695B1- -03-23	Roadway: ASPHALTIC CONCRETE FRICTION COURSE First Offer	\$400.00	300 / ton	\$120,000.00
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:	
PNC2115695B1- -03-24	Roadway: MISCELLANEOUS ASPHALT PAVEMENT First Offer	\$275.00	80 / ton	\$22,000.00
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:	
PNC2115695B1- -03-25	Roadway: CLASS CONCRETE - First Offer	\$225.00	10 / cubic yard	\$2,250.00
Product Code: Agency Notes:		Supplier Product Coo Supplier Notes:	de:	
PNC2115695B1- -03-26	Roadway: INLET, DRAINAGE First Offer	\$10,000.00	1 / each	\$10,000.00
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:	
PNC2115695B1- -03-27	Roadway: INLET, DRAINAGE First Offer	\$10,000.00	1 / each	\$10,000.00
Product Code: Agency Notes:		Supplier Product Coo Supplier Notes:	de:	
PNC2115695B1- -03-28	Roadway: INLET, DRAINAGE First Offer	\$10,000.00	1 / each	\$10,000.00
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:	
PNC2115695B1- -03-29	Roadway: INLET, DRAINAGE First Offer	\$10,000.00	1 / each	\$10,000.00
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:	
PNC2115695B1- -03-30	Roadway: INLET, DRAINAGE First Offer	\$10,000.00	1 / each	\$10,000.00
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:	
PNC2115695B1- -03-31	Roadway: INLET, DRAINAGE First Offer	\$10,000.00	1 / each	\$10,000.00
Product Code:		Supplier Product Co	de:	

PMC211589581	Agency Notes:		Supplier Notes:		
Agency Notes: Supplier No	PNC2115695B1	Roadway: INLET, DRAINAGE First Offer		1 / each	\$10,000.00
Product Code: Agency Notes: Roadway: INLET, DRAINAGE - First Offer \$10,000.00 1 / each \$10,000.00 \$10,000.00 1 / each \$10,000.00 1	Product Code:			de:	'
Agency Notes: Supplier Notes: Supplier Notes: Supplier Notes: Supplier Notes: Supplier Notes: Supplier Notes: PNC2115695B1 Roadway: INLET, DRAINAGE - First Offer \$12,500.00 1 / each \$12,500.00 1 /	17. 20	Roadway: INLET, DRAINAGE First Offer	\$10,000.00	1 / each	\$10,000.00
				de:	
Agency Notes: Supplier Not		Roadway: INLET, DRAINAGE First Offer	\$12,500.00	1 / each	\$12,500.00
Droduct Code: Supplier Product Code: Supplier Notes:			= =	de:	
Agency Notes: Roadway: INLET, DRAINAGE First Offer \$12,500.00 1 / each \$12,500.00		Roadway: INLET, DRAINAGE First Offer	\$12,500.00	1 / each	\$12,500.00
03-36				de:	
Agency Notes: Supplier Notes: Supplier Notes: \$12,500.00 1 / each \$12,500.00 \$1.0 \$1		Roadway: INLET, DRAINAGE First Offer	\$12,500.00	1 / each	\$12,500.00
03-37				de:	
Agency Notes: Roadway: INLET, DRAINAGE First Offer \$12,500.00 1 / each \$12,500.00		Roadway: INLET, DRAINAGE First Offer	\$12,500.00	1 / each	\$12,500.00
-03-38				de:	
Agency Notes: Supplier Notes:		Roadway: INLET, DRAINAGE First Offer	\$12,500.00	1 / each	\$12,500.00
Product Code: Agency Notes: Supplier Product Code: Supplier Notes:			= =	de:	
Roadway: MANHOLE, DRAINAGE First Offer \$5,500.00 1 / each \$5,500.00 -03-40 Product Code: Agency Notes: Supplier Product Code: Supplier Notes: -03-41 Product Code: Agency Notes: PNC2115695B1 Roadway: MANHOLE, DRAINAGE First Offer \$5,500.00 1 / each \$5,500.00 -03-41 Product Code: Agency Notes: Supplier Product Code: Supplier Notes: -03-42 PNC2115695B1 Roadway: MANHOLE, DRAINAGE First Offer \$5,500.00 1 / each \$5,500.00 -03-42 Product Code: Agency Notes: Supplier Product Code: Supplier Notes: -03-43 Product Code: Agency Notes: Supplier Product Code: Supplier Notes: -03-44 Product Code: Agency Notes: Supplier Product Code: Supplier Notes: -03-44 Product Code: Agency Notes: Supplier Product Code: Supplier Notes: -03-44 Product Code: Supplier Notes: Supplier Notes: -03-44 Product Code: Supplier Notes: Supplier Notes: -03-44 Product Code: Supplier Notes: Supplier Notes: -03-44 Product Code: Supplier Product Code: Supplier Notes: -03-44 Product Code: Supplier Product Code: Supplier Product Code: -03-44 Product Code: Supplier Product Code: Supplier Product Code: -03-44 Product Code: Supplier Product Code: Supplier Product Code: -03-44 Product Code: Supplier Product Code		Roadway: INLET, DRAINAGE First Offer	\$7,500.00	1 / each	\$7,500.00
Product Code: Agency Notes: Supplier Product Code: Supplier Notes:				de:	
Agency Notes: PNC2115695B1- .03-41 Roadway: MANHOLE, DRAINAGE First Offer \$5,500.00 1 / each \$5,500.00 Product Code: Agency Notes: Supplier Product Code: Supplier Notes: Supplier Notes: PNC2115695B1- .03-42 Roadway: MANHOLE, DRAINAGE First Offer \$5,500.00 1 / each \$5,500.00 Product Code: Agency Notes: Supplier Product Code: Supplier Notes: Supplier Product Code: Supplier Product Code: Agency Notes: PNC2115695B1- .03-44 Roadway: JUNCTION BOXES, DRAINAGE First Offer \$9,500.00 1 / each \$9,500.00 Product Code: Agency Notes: Supplier Product Code: Supplier Notes: PNC2115695B1- .03-44 Roadway: JUNCTION BOXES, DRAINAGE First Offer \$9,500.00 1 / each \$9,500.00 Product Code: Supplier Product Code: \$9,500.00 1 / each \$9,500.00		Roadway: MANHOLE, DRAINAGE First Offer	\$5,500.00	1 / each	\$5,500.00
Product Code: Supplier Product Code: Supplier Notes: Supplier Product Code: Supplier Product Code: Supplier Notes: Supplier				de:	
Agency Notes: PNC2115695B1· Roadway: MANHOLE, DRAINAGE First Offer		Roadway: MANHOLE, DRAINAGE First Offer	\$5,500.00	1 / each	\$5,500.00
Product Code: Agency Notes: PNC2115695B1- Product Code: Agency Notes: PNC2115695B1- Product Code: Agency Notes: Supplier Product Code: Supplier Product Code: Supplier Product Code: Supplier Product Code: Supplier Notes: PNC2115695B1- PNC2115695B1- PNC2115695B1- PRoadway: JUNCTION BOXES, DRAINAGE First Offer Supplier Notes: PNC2115695B1- Product Code: Supplier Product Code: Supplier Product Code: Supplier Product Code:				de:	
Agency Notes: PNC2115695B1 Roadway: JUNCTION BOXES, DRAINAGE First Offer \$9,000.00 1 / each \$9,000.00 -03 · 43 Product Code: Agency Notes: PNC2115695B1 Roadway: JUNCTION BOXES, DRAINAGE First Offer Supplier Notes: PNC2115695B1 Roadway: JUNCTION BOXES, DRAINAGE First Offer \$9,500.00 1 / each \$9,500.00 -03 · 44 Product Code: Supplier Product Code:		Roadway: MANHOLE, DRAINAGE First Offer	\$5,500.00	1 / each	\$5,500.00
Product Code: Agency Notes: PNC2115695B1- Roadway: JUNCTION BOXES, DRAINAGE First Offer \$9,500.00 1 / each \$9,500.00 Product Code: Supplier Product Code: \$9,500.00 1 / each \$9,500.00				de:	
Agency Notes: PNC2115695B103-44 Product Code: Supplier Notes: \$9,500.00 1 / each \$9,500.00 Supplier Product Code:		Roadway: JUNCTION BOXES, DRAINAGE First Offer	\$9,000.00	1 / each	\$9,000.00
Product Code: Supplier Product Code:				de:	
		Roadway: JUNCTION BOXES, DRAINAGE First Offer	\$9,500.00	1 / each	\$9,500.00
Agency Notes: Supplier Notes:	Product Code: Agency Notes:		= =	de:	
PNC2115695B1 - Roadway: ADJUST INLET First Offer \$850.00 1 / each \$850.00		Roadway: ADJUST INLET First Offer	\$850.00	1 / each	\$850.00

scellaneous Traffic and	County Commis	sioners		
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:	
PNC2115695B1- -03-46	Roadway: ADJUST MANHOLES First Offer	\$900.00	1 / each	\$900.00
Product Code: Agency Notes:		Supplier Product Co. Supplier Notes:	de:	
PNC2115695B1- -03-47	Roadway: ADJUST MANHOLES First Offer	\$1,500.00	1 / each	\$1,500.00
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:	
PNC2115695B1- -03-48	Roadway: ADJUST VALVE BOX First Offer	\$800.00	1 / each	\$800.00
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:	
PNC2115695B1- -03-49	Roadway: REPLACE GRATE First Offer	\$1,500.00	1 / each	\$1,500.00
Product Code: Agency Notes:		Supplier Product Coo Supplier Notes:	de:	
PNC2115695B1- -03-50	Roadway: PIPE CULVERT OPTIONAL MATERIAL First Offer	\$275.00	24 / linear foot	\$6,600.00
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:	
PNC2115695B1- -03-51	Roadway: PIPE CULVERT OPTIONAL MATERIAL First Offer	\$275.00	24 / linear foot	\$6,600.00
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:	
PNC2115695B1- -03-52	Roadway: PIPE CULVERT OPTIONAL MATERIAL First Offer	\$275.00	24 / linear foot	\$6,600.00
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:	
PNC2115695B1- -03-53	Roadway: PIPE CULVERT OPTIONAL MATERIAL First Offer	\$275.00	24 / linear foot	\$6,600.00
Product Code: Agency Notes:		Supplier Product Coo Supplier Notes:	de:	
PNC2115695B1- -03-54	Roadway: PIPE CULVERT OPTIONAL MATERIAL First Offer		24 / linear foot	\$6,600.00
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:	
PNC2115695B1- -03-55	Roadway: PIPE CULVERT OPTIONAL MATERIAL First Offer	\$350.00	24 / linear foot	\$8,400.00
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:	
PNC2115695B1- -03-56	Roadway: PIPE CULVERT OPTIONAL MATERIAL First Offer	\$275.00	24 / linear foot	\$6,600.00
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:	
PNC2115695B1- -03-57	Roadway: PIPE CULVERT OPTIONAL MATERIAL First Offer	\$275.00	24 / linear foot	\$6,600.00
Product Code: Agency Notes:		Supplier Product Coo Supplier Notes:	de:	
PNC2115695B1- -03-58	Roadway: PIPE CULVERT OPTIONAL MATERIAL First Offer	\$350.00	24 / linear foot	\$8,400.00
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:	

cellaneous Traffic an	d County Commis	ssioners
PNC2115695B1- -03-59	Roadway: PIPE CULVERT OPTIONAL MATERIAL First Offer	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:
PNC2115695B1- -03-60	Roadway: PIPE CULVERT OPTIONAL MATERIAL First Offer	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:
PNC2115695B1- -03-61	Roadway: FRENCH DRAIN First Offer	\$225.00 40 / linear \$9,000.00 foot
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:
PNC2115695B1 - -03-62	Roadway: PIPE HANDRAIL, GUIDERAIL First Offer	\$25.00 20 / linear \$500.00 foot
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:
PNC2115695B1- -03-63	Roadway: CONCRETE CURB AND GUTTER First Offer	\$40.00 1500 / \$60,000.00 linear foot
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:
PNC2115695B1- -03-64	Roadway: CONCRETE CURB AND GUTTER First Offer	\$45.00 100 / \$4,500.00 linear foot
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:
PNC2115695B1- -03-65	Roadway: CONCRETE CURB First Offer	\$50.00 400 / \$20,000.00 linear foot
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:
PNC2115695B1- -03-66	Roadway: CONCRETE TRAFFIC SEPARATOR First Offer	\$65.00 50 / linear \$3,250.00 foot
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:
PNC2115695B1- -03-67	Roadway: CONCRETE TRAFFIC SEPARATOR, SPECIAL, VARIABLE WIDTH First Offer	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:
PNC2115695B1- -03-68	Roadway: CONCRETE SIDEWALK AND DRIVEWAYS, 4 INCH THICK First Offer	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:
PNC2115695B1- -03-69	Roadway: CONCRETE SIDEWALK AND DRIVEWAY, 6 INCH THICK First Offer	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:
PNC2115695B1- -03-70	Roadway: PATTERNED PAVEMENT First Offer	\$370.00 50 / \$18,500.00 square yard
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:
PNC2115695B1- -03-71	Roadway: ARCHITECTURAL PAVERS First Offer	\$225.00 50 / \$11,250.00 square yard
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:
PNC2115695B1 - -03-72	Roadway: DETECTABLE WARNINGS First Offer	\$40.00 2000 / \$80,000.00 square foot
Product Code:		Supplier Product Code:

cellaneous Traffic a	and County Commis	sioners		
Agency Notes:		Supplier Notes:		
PNC2115695B1- -03-73	Roadway: GUARDRAIL First Offer	\$11.55	50 / linear foot	\$577.50
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:	
PNC2115695B1- -03-74	Roadway: GUARDRAIL REMOVAL First Offer	\$2.50	50 / linear foot	\$125.00
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:	
PNC2115695B1- -03-75	Roadway: GUARDRAIL END ANCHORAGE ASSEMBLY, END TREATMENT First Offer	\$8,500.00	1 / each	\$8,500.00
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:	
PNC2115695B1- -03-76	Roadway: GUARDRAIL END ANCHORAGE ASSEMBLY, END TREATMENT First Offer	\$7,500.00	1 / each	\$7,500.00
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:	
PNC2115695B1- -03-77	Roadway: GUARDRAIL END ANCHORAGE ASSEMBLY, END TREATMENT First Offer	\$15,000.00	1 / each	\$15,000.00
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:	
PNC2115695B1- -03-78	Roadway: FENCING First Offer	\$6.00	100 / linear foot	\$600.00
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:	
PNC2115695B1- -03-79	Roadway: FENCING First Offer	\$10.00	100 / linear foot	\$1,000.00
Product Code: Agency Notes:		Supplier Product Coo Supplier Notes:	de:	
PNC2115695B1- -03-80	Roadway: PERFORMANCE TURF First Offer	\$8.00	800 / square yard	\$6,400.00
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:	
PNC2115695B1- -03-81	Roadway: EMBANKMENT First Offer	\$225.00	50 / cubic yard	\$11,250.00
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:	
PNC2115695B1- -03-82	Roadway: FIRE HYDRANT First Offer	\$1,250.00	3 / each	\$3,750.00
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:	
PNC2115695B1- -03-83	Roadway: PIPE CULVERT OPTIONAL MATERIAL First Offer	\$205.00	20 / ton	\$4,100.00
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:	
PNC2115695B1- -03-84	Roadway: FILLING AND PLUGGING PIPE, PLACE OUT OF SERVICE - First Offer	\$500.00	5 / cubic yard	\$2,500.00
-03-84				
Product Code: Agency Notes:		Supplier Product Co. Supplier Notes:	de:	
Product Code:			15 / linear foot	\$22,500.00
Product Code: Agency Notes: PNC2115695B1	Roadway: DRILLED SHAFT CASING First Offer	Supplier Notes:	15 / linear foot	\$22,500.00

cellarieous Trailic a	riu County Commis	Sioners		
Item #	Line Item	Unit Price	Qty/Unit	Total Price
PNC2115695B1- -04-01	Signalization: CONDUIT First Offer	\$30.00	500 / linear foot	\$15,000.00
Product Code: Agency Notes:		Supplier Product Co- Supplier Notes:	de:	
PNC2115695B1- -04-02	Signalization: CONDUIT First Offer	\$14.00	500 / linear foot	\$7,000.00
Product Code: Agency Notes:		Supplier Product Co- Supplier Notes:	de:	
PNC2115695B1- -04-03	Signalization: CONDUIT First Offer	\$12.00	1000 / linear foot	\$12,000.00
Product Code: Agency Notes:		Supplier Product Co- Supplier Notes:	de:	
PNC2115695B1- -04-04	Signalization: CONDUIT First Offer	\$9.00	1000 / linear foot	\$9,000.00
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	l	
PNC2115695B1- -04-05	Signalization: CONDUIT First Offer	\$16.00	500 / linear foot	\$8,000.00
Product Code: Agency Notes:		Supplier Product Co- Supplier Notes:	1	
PNC2115695B1- -04-06	Signalization: CONDUIT First Offer	\$11.00	1000 / linear foot	\$11,000.00
Product Code: Agency Notes:		Supplier Product Co- Supplier Notes:	l	
PNC2115695B1- -04-07	Signalization: CONDUIT First Offer	\$10.00	1000 / linear foot	\$10,000.00
Product Code: Agency Notes:		Supplier Product Co- Supplier Notes:	de:	
PNC2115695B1- -04-08	Signalization: CONDUIT First Offer	\$28.00	500 / linear foot	\$14,000.00
Product Code: Agency Notes:		Supplier Product Co- Supplier Notes:	de:	
PNC2115695B1- -04-09	Signalization: CONDUIT First Offer	\$26.00	1000 / linear foot	\$26,000.00
Product Code: Agency Notes:		Supplier Product Co- Supplier Notes:	de:	
PNC2115695B1- -04-10	Signalization: CONDUIT First Offer	\$20.00	500 / linear foot	\$10,000.00
Product Code: Agency Notes:		Supplier Product Co- Supplier Notes:	de:	
PNC2115695B1- -04-11	Signalization: CONDUIT First Offer	\$25.00	1000 / linear foot	\$25,000.00
Product Code: Agency Notes:		Supplier Product Co- Supplier Notes:	de:	
PNC2115695B1- -04-12	Signalization: CONDUIT First Offer	\$22.00	1000 / linear foot	\$22,000.00
Product Code: Agency Notes:		Supplier Product Co- Supplier Notes:	de:	
PNC2115695B1- -04-13	Signalization: CONDUIT First Offer	\$32.00	50 / linear foot	\$1,600.00
Product Code: Agency Notes:		Supplier Product Co- Supplier Notes:	de:	
PNC2115695B1- -04-14	Signalization: CONDUIT First Offer	\$35.00	100 / linear foot	\$3,500.00
•				

County Commis	Sioners
	Supplier Product Code: Supplier Notes:
Signalization: CONDUIT First Offer	\$70.00 100 / \$7,000.00 linear foot
	Supplier Product Code: Supplier Notes:
Signalization: CONDUIT First Offer	\$3.00 100 / \$300.00
	Supplier Product Code: Supplier Notes:
Signalization: SIGNAL CABLE First Offer	\$6,800.00 10 / per \$68,000.00 intersection
	Supplier Product Code: Supplier Notes:
Signalization: SIGNAL CABLE First Offer	\$5.00 15000 / \$75,000.00 linear foot
	Supplier Product Code: Supplier Notes:
Signalization: SIGNAL CABLE First Offer	\$750.00 5 / per \$3,750.00 intersection
	Supplier Product Code: Supplier Notes:
Signalization: SIGNAL CABLE First Offer	\$0.50 25000 / \$12,500.00 linear foot
	Supplier Product Code: Supplier Notes:
Signalization: FIBER OPTIC CABLE First Offer	\$3.50 10000 / \$35,000.00 linear foot
	Supplier Product Code: Supplier Notes:
Signalization: FIBER OPTIC CABLE First Offer	\$3.45 5000 / \$17,250.00 linear foot
	Supplier Product Code: Supplier Notes:
Signalization: FIBER OPTIC CABLE First Offer	\$5.00 5000 / \$25,000.00 linear foot
	Supplier Product Code: Supplier Notes:
Signalization: FIBER OPTIC CABLE First Offer	\$5.50 5000 / \$27,500.00 linear foot
	Supplier Product Code: Supplier Notes:
Signalization: FIBER OPTIC CABLE First Offer	\$6.00 50000 / \$300,000.00 linear foot
	Supplier Product Code: Supplier Notes:
Signalization: FIBER OPTIC CABLE First Offer	\$6.50 1200 / \$7,800.00 linear foot
	Supplier Product Code: Supplier Notes:
Signalization: FIBER OPTIC CABLE First Offer	\$1.00 5000 / \$5,000.00 linear foot
	Supplier Product Code: Supplier Notes:
	Signalization: CONDUIT First Offer Signalization: SIGNAL CABLE First Offer Signalization: FIBER OPTIC CABLE First Offer

cellaneous Traffic and	d County Commis	sioners		
PNC2115695B1 - -04-28	Signalization: FIBER OPTIC CONNECTION First Offer	\$55.00	500 / each	\$27,500.00
Product Code: Agency Notes:		Supplier Product Coo Supplier Notes:	de:	
PNC2115695B1 - -04-29	Signalization: FIBER OPTIC CONNECTION First Offer	\$100.00	100 / each	\$10,000.00
Product Code: Agency Notes:		Supplier Product Coo Supplier Notes:	de:	
PNC2115695B1- -04-30	Signalization: FIBER OPTIC CONNECTION HARDWARE First Offer	\$1,000.00	25 / each	\$25,000.00
Product Code: Agency Notes:		Supplier Product Coo Supplier Notes:	de:	
PNC2115695B1- -04-31	Signalization: FIBER OPTIC CONNECTION HARDWARE First Offer	\$85.00	75 / each	\$6,375.00
Product Code: Agency Notes:		Supplier Product Coo Supplier Notes:	de:	
PNC2115695B1- -04-32	Signalization: FIBER OPTIC CONNECTION HARDWARE First Offer	\$1,500.00	10 / each	\$15,000.00
Product Code: Agency Notes:		Supplier Product Coo Supplier Notes:	de:	
PNC2115695B1- -04-33	Signalization: FIBER OPTIC CONNECTION HARDWARE First Offer	\$100.00	10 / each	\$1,000.00
Product Code: Agency Notes:		Supplier Product Coo Supplier Notes:	de:	
PNC2115695B1- -04-34	Signalization: FIBER OPTIC CONNECTION HARDWARE First Offer	\$1,800.00	20 / each	\$36,000.00
Product Code: Agency Notes:		Supplier Product Coo Supplier Notes:	de:	
PNC2115695B1- -04-35	Signalization: FIBER OPTIC CONNECTION HARDWARE First Offer	\$1,100.00	15 / each	\$16,500.00
Product Code: Agency Notes:		Supplier Product Coo Supplier Notes:	de:	
PNC2115695B1- -04-36	Signalization: FIBER OPTIC CONNECTION HARDWARE First Offer	\$200.00	15 / each	\$3,000.00
Product Code: Agency Notes:		Supplier Product Coo Supplier Notes:	de:	
PNC2115695B1- -04-37	Signalization: FIBER OPTIC CONNECTION HARDWARE First Offer	\$400.00	15 / each	\$6,000.00
Product Code: Agency Notes:		Supplier Product Coo Supplier Notes:	de:	
PNC2115695B1- -04-38	Signalization: FIBER OPTIC CONNECTION HARDWARE First Offer	\$550.00	10 / each	\$5,500.00
Product Code: Agency Notes:		Supplier Product Coo Supplier Notes:	de:	
PNC2115695B1- -04-39	Signalization: FIBER OPTIC CONNECTION HARDWARE First Offer	\$95.00	10 / each	\$950.00
Product Code: Agency Notes:		Supplier Product Coo Supplier Notes:	de:	
PNC2115695B1- -04-40	Signalization: FIBER OPTIC CONNECTION HARDWARE First Offer	\$900.00	10 / each	\$9,000.00
Product Code: Agency Notes:		Supplier Product Coo Supplier Notes:	de:	
PNC2115695B1- -04-41	Signalization: FIBER OPTIC CONNECTION HARDWARE First Offer	\$900.00	20 / each	\$18,000.00
Product Code:		Supplier Product Cod	de:	

and County Commis	Sioners			
	Supplier	Notes:		
Signalization: FIBER OPTIC CONNECTION HARDWARE First Offer		\$750.00	20 / each	\$15,000.00
			de:	
Signalization: SIGNALS COMMUNICATION CABLE, TWISTED PAIR CABLE First Offer		\$3.50	10000 / linear foot	\$35,000.00
			de:	
Signalization: SIGNALS COMMUNICATION CABLE, TWISTED PAIR CABLE First Offer		\$1.00	10000 / linear foot	\$10,000.00
			de:	
Signalization: SPAN WIRE ASSEMBLY First Offer		\$5,000.00	1 / per intersection	\$5,000.00
			de:	
Signalization: SPAN WIRE ASSEMBLY First Offer		\$5,000.00	1 / per intersection	\$5,000.00
Signalization: SPAN WIRE ASSEMBLY First Offer		\$7,500.00	1 / per	\$7,500.00
Signalization: SPAN WIRE ASSEMBLY First Offer	Саррио	\$1,000.00	4 / per intersection	\$4,000.00
Signalization: PULL AND SPLICE BOX First Offer		\$900.00	200 / each	\$180,000.00
			de:	
Signalization: PULL AND SPLICE BOX First Offer		\$1,600.00	20 / each	\$32,000.00
			de:	
Signalization: PULL AND SPLICE BOX First Offer		\$1,600.00	20 / each	\$32,000.00
			de:	
Signalization: PULL AND SPLICE BOX First Offer		\$2,800.00	2 / each	\$5,600.00
			de:	
Signalization: PULL AND SPLICE BOX First Offer		\$4,500.00	2 / each	\$9,000.00
			de:	
Signalization: PULL AND SPLICE BOX First Offer		\$4,500.00	1 / each	\$4,500.00
	Supplier Supplier		de:	
	Supplier	Notes.		
	Signalization: SIGNALS COMMUNICATION CABLE, TWISTED PAIR CABLE First Offer Signalization: SIGNALS COMMUNICATION CABLE, TWISTED PAIR CABLE First Offer Signalization: SPAN WIRE ASSEMBLY First Offer Signalization: PULL AND SPLICE BOX First Offer	Supplier Signalization: FIBER OPTIC CONNECTION HARDWARE First Offer Supplier Supplier Signalization: SIGNALS COMMUNICATION CABLE, TWISTED PAIR CABLE First Offer Supplier Signalization: SIGNALS COMMUNICATION CABLE, TWISTED PAIR CABLE First Offer Supplier Signalization: SPAN WIRE ASSEMBLY First Offer Supplier Signalization: PULL AND SPLICE BOX First Offer Supplier	Signalization: FIBER OPTIC CONNECTION HARDWARE. First Offer Supplier Product Cosupplier Notes: Signalization: SIGNALS COMMUNICATION CABLE, TWISTED PAIR CABLE First Offer Supplier Product Cosupplier Notes: Signalization: SIGNALS COMMUNICATION CABLE, TWISTED PAIR CABLE First Offer Supplier Product Cosupplier Notes: Signalization: SPAN WIRE ASSEMBLY First Offer Supplier Product Cosupplier Notes: Signalization: PULL AND SPLICE BOX First Offer Signalization: PULL AND SPLICE BOX First Offer	Signalization: FIBER OPTIC CONNECTION HARDWARE - First Offer Supplier Product Code: Supplier Notes: Signalization: SIGNALS COMMUNICATION CABLE, TWISTED PAIR CABLE First Offer Supplier Notes: Signalization: SIGNALS COMMUNICATION CABLE, TWISTED PAIR CABLE First Offer Supplier Notes: Signalization: SIGNALS COMMUNICATION CABLE, TWISTED PAIR CABLE First Offer Supplier Notes: Signalization: SPAN WIRE ASSEMBLY First Offer Supplier Product Code: Supplier Notes: Signalization: SPAN WIRE ASSEMBLY First Offer Supplier Notes: Signalization: PULL AND SPLICE BOX First Offer Supplier Notes: Signalization: PULL AND SPLICE BOX First Offer Supplier Notes: Signalization: PULL AND SPLICE BOX First Offer Supplier Notes: Signalization: PULL AND SPLICE BOX First Offer Supplier Notes: Signalization: PULL AND SPLICE BOX First Offer Supplier Notes: Signalization: PULL AND SPLICE BOX First Offer Supplier Notes: Signalization: PULL AND SPLICE BOX First Offer Supplier Notes: Signalization: PULL AND SPLICE BOX First Offer Supplier Notes: Signalization: PULL AND SPLICE BOX First Offer Supplier Notes: Signalization: PULL AND SPLICE BOX First Offer Supplier Notes: Signalization: PULL AND SPLICE BOX First Offer Supplier Notes: Signalization: PULL AND SPLICE BOX First Offer Supplier Notes: Signalization: PULL AND SPLICE BOX First Offer Supplier Notes: Signalization: PULL AND SPLICE BOX First Offer Supplier Notes: Signalization: PULL AND SPLICE BOX First Offer Supplier Notes: Signalization: PULL AND SPLICE BOX First Offer Supplier Notes:

cellaneous Traffic an	County Commissioners				
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:		
PNC2115695B1 - 04-56	Signalization: ELECTRIC POWER SERVICE - First Offer	\$5,500.00	5 / assembly	\$27,500.00	
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:		
PNC2115695B1- -04-57	Signalization: ELECTRIC POWER SERVICE First Offer	\$5,000.00	5 / assembly	\$25,000.00	
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:		
PNC2115695B1- -04-58	Signalization: ELECTRIC POWER SERVICE First Offer	\$4,000.00	5 / assembly	\$20,000.00	
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:		
PNC2115695B1- -04-59	Signalization: ELECTRIC POWER SERVICE First Offer	\$4,000.00	5 / assembly	\$20,000.00	
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:		
PNC2115695B1- -04-60	Signalization: ELECTRIC POWER SERVICE First Offer	\$500.00	2/ assembly	\$1,000.00	
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:		
PNC2115695B1- -04-61	Signalization: ELECTRIC POWER SERVICE First Offer	\$500.00	2 / assembly	\$1,000.00	
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:		
PNC2115695B1- -04-62	Signalization: ELECTRICAL SERVICE WIRE First Offer	\$5.00	2000 / linear foot	\$10,000.00	
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:		
PNC2115695B1- -04-63	Signalization: ELECTRICAL SERVICE WIRE First Offer		1000 / linear foot	\$3,000.00	
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:		
PNC2115695B1- -04-64	Signalization: ELECTRICAL SERVICE WIRE First Offer	\$0.50	1000 / linear foot	\$500.00	
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:		
PNC2115695B1- -04-65	Signalization: ELECTRICAL SERVICE DISCONNECT First Offer	\$2,500.00	2 / each	\$5,000.00	
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:		
PNC2115695B1- -04-66	Signalization: ELECTRICAL SERVICE DISCONNECT First Offer	\$2,000.00	2 / each	\$4,000.00	
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:		
PNC2115695B1- -04-67	Signalization: ELECTRICAL SERVICE DISCONNECT First Offer	\$1,500.00	1 / each	\$1,500.00	
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:		
	Signalization: PRESTRESSED CONCRETE POLE First Offer	\$2,500.00	5 / each	\$12,500.00	
Product Code:		Supplier Product Co	de:		

Supplier Notes:

Agency Notes:

Broward County Board of County Commissioners

ellaneous Traffic a	and County Commis	sioners		
PNC2115695B1- -04-69	Signalization: PRESTRESSED CONCRETE POLE First Offer	\$12,000.00	1 / each	\$12,000.00
Product Code: Agency Notes:		Supplier Product Coo Supplier Notes:	de:	
PNC2115695B1- -04-70	Signalization: PRESTRESSED CONCRETE POLE First Offer	\$16,000.00	1 / each	\$16,000.00
Product Code: Agency Notes:		Supplier Product Coo Supplier Notes:	de:	
PNC2115695B1- -04-71	Signalization: PRESTRESSED CONCRETE POLE First Offer	\$18,500.00	1 / each	\$18,500.00
Product Code: Agency Notes:		Supplier Product Coo Supplier Notes:	de:	
PNC2115695B1- -04-72	Signalization: PRESTRESSED CONCRETE POLE First Offer	\$26,000.00	1 / each	\$26,000.00
Product Code: Agency Notes:		Supplier Product Coo Supplier Notes:	de:	
PNC2115695B1- -04-73	Signalization: PRESTRESSED CONCRETE POLE First Offer	\$500.00	2 / each	\$1,000.00
Product Code: Agency Notes:		Supplier Product Coo Supplier Notes:	de:	
PNC2115695B1- -04-74	Signalization: PRESTRESSED CONCRETE POLE First Offer	\$3,000.00	20 / each	\$60,000.00
Product Code: Agency Notes:		Supplier Product Coo Supplier Notes:	de:	
PNC2115695B1 - -04-75	Signalization: PRESTRESSED CONCRETE POLE First Offer	\$3,500.00	1 / each	\$3,500.00
Product Code: Agency Notes:		Supplier Product Coo Supplier Notes:	de:	
PNC2115695B1- -04-76	Signalization: WOOD STRAIN POLE First Offer	\$5,000.00	5 / each	\$25,000.00
Product Code:		Supplier Rodyct Co.	de:	
PNC2115695B1 - -04-77	Signalization: WOOD STRAIN POLE First Offer	\$5,500.00	5 / each	\$27,500.00
Product Code: Agency Notes:		Supplier Product Coo Supplier Notes:	de:	
PNC2115695B1- -04-78	Signalization: WOOD STRAIN POLE First Offer	\$1,000.00	4 / each	\$4,000.00
Product Code: Agency Notes:		Supplier Product Coo Supplier Notes:	de:	
PNC2115695B1 - -04-79	Signalization: ALUMINUM SIGNALS POLE First Offer	\$1,250.00	25 / each	\$31,250.00
Product Code: Agency Notes:		Supplier Product Coo Supplier Notes:	de:	
PNC2115695B1- -04-80	Signalization: ALUMINUM SIGNALS POLE First Offer	\$1,500.00	2 / each	\$3,000.00
Product Code: Agency Notes:		Supplier Product Coo Supplier Notes:	de:	
PNC2115695B1- -04-81	Signalization: ALUMINUM SIGNALS POLE First Offer	\$1,500.00	1 / each	\$1,500.00
Product Code: Agency Notes:		Supplier Product Coo	de:	
PNC2115695B1- -04-82	Signalization: ALUMINUM SIGNALS POLE First Offer	Supplier Notes: \$250.00	1 / each	\$250.00
Product Code:		Supplier Product Cod	de:	

Agency Notes:	a county commo	Supplier Notes:				
PNC2115695B1- -04-83	Signalization: STEEL MAST ARM ASSEMBLY First Offer		5 / each	\$110,000.00		
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:				
PNC2115695B1- -04-84	Signalization: STEEL MAST ARM ASSEMBLY First Offer	\$30,000.00	10 / each	\$300,000.00		
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:			
PNC2115695B1- -04-85	Signalization: STEEL MAST ARM ASSEMBLY First Offer	\$45,000.00	1 / each	\$45,000.00		
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:			
PNC2115695B1- -04-86	Signalization: STEEL MAST ARM ASSEMBLY First Offer	\$47,500.00	1 / each	\$47,500.00		
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:			
PNC2115695B1- -04-87	Signalization: STEEL MAST ARM ASSEMBLY First Offer	\$50,000.00	1 / each	\$50,000.00		
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:				
PNC2115695B1- -04-88	Signalization: STEEL MAST ARM ASSEMBLY First Offer	\$45,000.00	10 / each	\$450,000.00		
Product Code: Agency Notes:		Supplier Product Co- Supplier Notes:	de:			
PNC2115695B1- -04-89	Signalization: STEEL MAST ARM ASSEMBLY First Offer	\$65,000.00	1 / each	\$65,000.00		
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:			
PNC2115695B1- -04-90	Signalization: STEEL MAST ARM ASSEMBLY First Offer	\$67,500.00	1 / each	\$67,500.00		
Product Code: Agency Notes:		Supplier Product Co- Supplier Notes:	de:			
PNC2115695B1- -04-91	Signalization: STEEL MAST ARM ASSEMBLY First Offer	\$69,000.00	1 / each	\$69,000.00		
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:			
PNC2115695B1- -04-92	Signalization: STEEL MAST ARM ASSEMBLY First Offer	\$70,000.00	1 / each	\$70,000.00		
Product Code: Agency Notes:		Supplier Product Co- Supplier Notes:	de:			
PNC2115695B1- -04-93	Signalization: STEEL MAST ARM ASSEMBLY First Offer	\$35,000.00	5 / each	\$175,000.00		
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:			
PNC2115695B1- -04-94	Signalization: STEEL MAST ARM ASSEMBLY First Offer	\$42,500.00	1 / each	\$42,500.00		
Product Code: Agency Notes:		Supplier Product Coo Supplier Notes:	de:			
PNC2115695B1- -04-95	Signalization: STEEL MAST ARM ASSEMBLY First Offer		1 / each	\$29,000.00		
Product Code: Agency Notes:		Supplier Product Coo Supplier Notes:	de:			
PNC2115695B1- -04-96	Signalization: STEEL MAST ARM ASSEMBLY First Offer		1 / each	\$45,000.00		

County Commis	sioners		
	Supplier Product Code: Supplier Notes:		
Signalization: STEEL MAST ARM ASSEMBLY First Offer	\$47,000.00	1 / each	\$47,000.00
	Supplier Product Cod Supplier Notes:	le:	
Signalization: STEEL MAST ARM ASSEMBLY First Offer	\$10,000.00	15 / each	\$150,000.00
	Supplier Product Cod Supplier Notes:	le:	
Signalization: STEEL MAST ARM ASSEMBLY First Offer	\$22,000.00	15 / each	\$330,000.00
	Supplier Product Cod Supplier Notes:	le:	
Signalization: STEEL MAST ARM ASSEMBLY First Offer	\$4,000.00	1 / each	\$4,000.00
	Supplier Product Cod Supplier Notes:	le:	
Signalization: STEEL MAST ARM ASSEMBLY First Offer	\$8,500.00	1 / each	\$8,500.00
	Supplier Product Code: Supplier Notes:		
Signalization: STEEL MAST ARM ASSEMBLY First Offer	\$5,000.00	1 / each	\$5,000.00
	Supplier Product Cod Supplier Notes:	le:	
Signalization: STEEL MAST ARM ASSEMBLY, EXISTING POLES, MAINTENANCE ACTIVITIES - First Offer	\$8,000.00	10 / each	\$80,000.00
	Supplier Product Cod Supplier Notes:	le:	
Signalization: VEHICULAR TRAFFIC SIGNAL First Offer	\$1,000.00	2/ assembly	\$2,000.00
	Supplier Product Cod Supplier Notes:	le:	
Signalization: VEHICULAR TRAFFIC SIGNAL First Offer	\$1,200.00	50 / assembly	\$60,000.00
	Supplier Product Cod Supplier Notes:	le:	
Signalization: VEHICULAR TRAFFIC SIGNAL First Offer	\$1,400.00	2/ assembly	\$2,800.00
	Supplier Product Cod Supplier Notes:	le:	
Signalization: VEHICULAR TRAFFIC SIGNAL First Offer	\$1,600.00	25 / assembly	\$40,000.00
	Supplier Product Code: Supplier Notes:		
Signalization: VEHICULAR TRAFFIC SIGNAL First Offer	\$1,600.00	25 / assembly	\$40,000.00
	Supplier Product Cod Supplier Notes:	le:	
Signalization: VEHICULAR TRAFFIC SIGNAL First Offer	\$200.00	20 / assembly	\$4,000.00
	Supplier Product Cod Supplier Notes:	le:	
	signalization: STEEL MAST ARM ASSEMBLY First Offer Signalization: VEHICULAR TRAFFIC SIGNAL First Offer Signalization: VEHI	Supplier Product Coc Supplier Notes: Supplier Product Coc Supplier Notes:	Supplier Product Code: Supplier Notes: Supplier Product Code: Supplier Notes:

cellaneous Traffic a	nd County Commis	sioners		
PNC2115695B1- -04-110	Signalization: PEDESTRIAN SIGNAL First Offer		40 / assembly	\$40,000.00
Product Code: Agency Notes:		Supplier Product Cod Supplier Notes:	le:	
PNC2115695B1 - -04-111	Signalization: PEDESTRIAN SIGNAL First Offer	\$2,500.00	4 / assembly	\$10,000.00
Product Code: Agency Notes:		Supplier Product Cod Supplier Notes:	le:	
PNC2115695B1- -04-112	Signalization: PEDESTRIAN SIGNAL First Offer	\$250.00	20 / assembly	\$5,000.00
Product Code: Agency Notes:		Supplier Product Cod Supplier Notes:	le:	
PNC2115695B1 - -04-113	Signalization: IN ROADWAY LIGHT ASSEMBLY - First Offer	\$35,000.00	1/ assembly	\$35,000.00
Product Code: Agency Notes:		Supplier Product Cod Supplier Notes:	le:	
PNC2115695B1- -04-114	Signalization: IN ROADWAY LIGHT ASSEMBLY - First Offer	\$30,000.00	1/ assembly	\$30,000.00
Product Code: Agency Notes:		Supplier Product Cod Supplier Notes:	le:	
PNC2115695B1- -04-115	Signalization: RECTANGULAR RAPID FLASHING BEACON SIGN ASSEMBLY - First Offer	\$10,000.00	1/ assembly	\$10,000.00
Product Code: Agency Notes:		Supplier Product Cod Supplier Notes:	le:	
PNC2115695B1- -04-116	Signalization: RECTANGULAR RAPID FLASHING BEACON SIGN ASSEMBLY - First Offer	\$12,500.00	1/ assembly	\$12,500.00
Product Code: Agency Notes:		Supplier Product Cod Supplier Notes:	le:	
PNC2115695B1- -04-117	Signalization: RECTANGULAR RAPID FLASHING BEACON SIGN ASSEMBLY - First Offer	\$10,000.00	1 / each	\$10,000.00
Product Code: Agency Notes:		Supplier Product Cod Supplier Notes:	le:	
PNC2115695B1- -04-118	Signalization: RECTANGULAR RAPID FLASHING BEACON SIGN ASSEMBLY - First Offer	\$10,000.00	5 / assembly	\$50,000.00
Product Code: Agency Notes:		Supplier Product Cod Supplier Notes:	le:	
PNC2115695B1- -04-119	Signalization: RECTANGULAR RAPID FLASHING BEACON SIGN ASSEMBLY - First Offer	\$15,000.00	5 / assembly	\$75,000.00
Product Code: Agency Notes:		Supplier Product Cod Supplier Notes:	le:	
PNC2115695B1- -04-120	Signalization: RECTANGULAR RAPID FLASHING BEACON SIGN ASSEMBLY - First Offer	\$1,000.00	1/ assembly	\$1,000.00
Product Code: Agency Notes:		Supplier Product Cod Supplier Notes:	le:	
PNC2115695B1- -04-121	Signalization: PEDESTRIAN HYBRID BEACON ASSEMBLY First Offer	\$12,000.00	1/ assembly	\$12,000.00
Product Code: Agency Notes:		Supplier Product Cod Supplier Notes:	le:	
PNC2115695B1- -04-122	Signalization: PEDESTRIAN HYBRID BEACON ASSEMBLY First Offer	\$1,000.00	1/ assembly	\$1,000.00
Product Code: Agency Notes:		Supplier Product Cod Supplier Notes:	le:	
PNC2115695B1 - -04-123	Signalization: VEHICLE DETECTION SYSTEM, VIDEO - First Offer	\$6,500.00	30 / each	\$195,000.00
Product Code:		Supplier Product Cod	le:	

Broward County Board of County Commissioners

Agency Notes:	· · · · · · · · · · · · · · · · · · ·	Supplier Notes:		
PNC2115695B1- -04-124	Signalization: VEHICLE DETECTION SYSTEM, VIDEO - First Offer	\$4,000.00	25 / each	\$100,000.00
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:		
PNC2115695B1- -04-125	Signalization: VEHICLE DETECTION SYSTEM, VIDEO - First Offer	\$500.00	15 / each	\$7,500.00
Product Code: Agency Notes:		Supplier Product Coo Supplier Notes:	de:	
PNC2115695B1- -04-126	Signalization: SIGNAL PRIORITY AND PREEMPTION SYSTEM First Offer	\$20,000.00	2 / each	\$40,000.00
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:	
PNC2115695B1- -04-127	Signalization: SIGNAL PRIORITY AND PREEMPTION SYSTEM First Offer	\$20,000.00	2 / each	\$40,000.00
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:	
PNC2115695B1- -04-128	Signalization: SIGNAL PRIORITY AND PREEMPTION SYSTEM First Offer	\$1,500.00	2 / each	\$3,000.00
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:		
PNC2115695B1- -04-129	Signalization: PEDESTRIAN DETECTOR First Offer	\$400.00	25 / each	\$10,000.00
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:		
PNC2115695B1- -04-130	Signalization: PEDESTRIAN DETECTOR First Offer	\$5,000.00	3 / each	\$15,000.00
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:		
PNC2115695B1- -04-131	Signalization: PEDESTRIAN DETECTOR First Offer	\$100.00	20 / each	\$2,000.00
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:		
PNC2115695B1- -04-132	Signalization: TRAFFIC CONTROLLER ASSEMBLY First Offer	\$35,000.00	3 / assembly	\$105,000.00
Product Code: Agency Notes:		Supplier Product Coo Supplier Notes:	de:	
PNC2115695B1- -04-133	Signalization: TRAFFIC CONTROLLER ASSEMBLY First Offer	\$35,000.00	2/ assembly	\$70,000.00
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:	
PNC2115695B1- -04-134	Signalization: TRAFFIC CONTROLLER ASSEMBLY First Offer	\$36,000.00	2/ assembly	\$72,000.00
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:	
PNC2115695B1- -04-135	Signalization: TRAFFIC CONTROLLER ASSEMBLY First Offer	\$1,000.00	5 / assembly	\$5,000.00
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:	
PNC2115695B1- -04-136	Signalization: MANAGED FIELD ETHERNET SWITCH First Offer	\$4,000.00	5 / each	\$20,000.00
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:	
PNC2115695B1- -04-137	Signalization: DIGITAL VIDEO ENCODER WITH SOFTWARE DECODER First Offer	\$10,000.00	5 / each	\$50,000.00

cellaneous Traffic	and County Commis	sioners	ú	
Product Code: Agency Notes:		Supplier Product Co- Supplier Notes:	de:	
PNC2115695B1- -04-138	Signalization: LIGHT POLE COMPLETE, LUMINAIRE, POLE, FOUNDATION First Offer	\$6,000.00	2 / each	\$12,000.00
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:		
PNC2115695B1- -04-139	Signalization: LIGHT POLE COMPLETE, LUMINAIRE, POLE, FOUNDATION First Offer	\$7,000.00	2 / each	\$14,000.00
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:		
PNC2115695B1- -04-140	Signalization: LIGHT POLE COMPLETE, LUMINAIRE, POLE, FOUNDATION First Offer	\$8,000.00	3 / each	\$24,000.00
Product Code: Agency Notes:		Supplier Product Co- Supplier Notes:	de:	
PNC2115695B1- -04-141	Signalization: LIGHT POLE COMPLETE, LUMINAIRE, POLE, FOUNDATION First Offer	\$8,500.00	5 / each	\$42,500.00
Product Code: Agency Notes:		Supplier Product Co- Supplier Notes:	de:	
PNC2115695B1- -04-142	Signalization: LIGHT POLE COMPLETE, LUMINAIRE, POLE, FOUNDATION First Offer	\$8,500.00	2 / each	\$17,000.00
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:		
PNC2115695B1- -04-143	Signalization: LIGHT POLE COMPLETE, LUMINAIRE, POLE, FOUNDATION First Offer	\$4,000.00	2 / each	\$8,000.00
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:		
PNC2115695B1- -04-144	Signalization: LIGHT POLE COMPLETE, LUMINAIRE, POLE, FOUNDATION First Offer	\$1,500.00	3 / each	\$4,500.00
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:		
PNC2115695B1- -04-145	Signalization: LIGHT POLE COMPLETE, LUMINAIRE, POLE, FOUNDATION First Offer	\$1,000.00	3 / each	\$3,000.00
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:		
PNC2115695B1- -04-146	Signalization: PULL AND SPLICE BOX First Offer	\$1,200.00	10 / each	\$12,000.00
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:	
PNC2115695B1- -04-147	Signalization: PULL AND SPLICE BOX First Offer	\$250.00	20 / each	\$5,000.00
Product Code: Agency Notes:		Supplier Product Co- Supplier Notes:	de:	
			Lo	ot Total: \$5,152,025.00
Item #	Line Item	Unit Price	Qty/Unit	Total Price
PNC2115695B1- -05-01	Signing and Pavement Markings: SINGLE POST SIGN First Offer	\$800.00	150 / assembly	\$120,000.00
Product Code: Agency Notes:		Supplier Product Co- Supplier Notes:	de:	
PNC2115695B1- -05-02	Signing and Pavement Markings: SINGLE POST SIGN First Offer	\$1,000.00	30 / assembly	\$30,000.00
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:	
PNC2115695B1- -05-03	Signing and Pavement Markings: SINGLE POST SIGN First Offer	\$1,500.00	2 / assembly	\$3,000.00

and County Commis				
			de:	
Signing and Pavement Markings: SINGLE POST SIGN First Offer		\$1,650.00	2 / assembly	\$3,300.00
Signing and Pavement Markings: SINGLE POST SIGN First		\$700.00	30 /	\$21,000.00
Signing and Pavement Markings: SINGLE POST SIGN First		\$250.00	150 / assembly	\$37,500.00
Signing and Pavement Markings: ELECTRONIC DISPLAY	Саррион	\$10,000.00	2/ assembly	\$20,000.00
Signing and Pavement Markings: ELECTRONIC DISPLAY SIGN - First Offer		\$14,000.00	2 / assembly	\$28,000.00
			de:	
Signing and Pavement Markings: ELECTRONIC DISPLAY SIGN - First Offer		\$10,000.00	2/ assembly	\$20,000.00
			de:	
Signing and Pavement Markings: ELECTRONIC DISPLAY SIGN - First Offer		\$10,000.00	2 / assembly	\$20,000.00
			de:	
Signing and Pavement Markings: ELECTRONIC DISPLAY SIGN - First Offer		\$10,000.00	2 / assembly	\$20,000.00
			de:	
Signing and Pavement Markings: ELECTRONIC DISPLAY SIGN - First Offer		\$10,000.00	2 / assembly	\$20,000.00
			de:	
Signing and Pavement Markings: ELECTRONIC DISPLAY SIGN - First Offer		\$10,000.00	2 / assembly	\$20,000.00
			de:	
Signing and Pavement Markings: SIGN BEACON First Offer		\$15,000.00	2 / assembly	\$30,000.00
			de:	
Signing and Pavement Markings: SIGN BEACON First Offer		\$15,000.00	1/ assembly	\$15,000.00
			de:	
Signing and Pavement Markings: SIGN BEACON First Offer		\$12,500.00	50 / assembly	\$625,000.00
	Supplier I Supplier I		de:	
	Signing and Pavement Markings: SINGLE POST SIGN First Offer Signing and Pavement Markings: SINGLE POST SIGN First Offer Signing and Pavement Markings: SINGLE POST SIGN First Offer Signing and Pavement Markings: ELECTRONIC DISPLAY SIGN - First Offer Signing and Pavement Markings: ELECTRONIC DISPLAY SIGN - First Offer Signing and Pavement Markings: ELECTRONIC DISPLAY SIGN - First Offer Signing and Pavement Markings: ELECTRONIC DISPLAY SIGN - First Offer Signing and Pavement Markings: ELECTRONIC DISPLAY SIGN - First Offer Signing and Pavement Markings: ELECTRONIC DISPLAY SIGN - First Offer Signing and Pavement Markings: ELECTRONIC DISPLAY SIGN - First Offer Signing and Pavement Markings: ELECTRONIC DISPLAY SIGN - First Offer Signing and Pavement Markings: ELECTRONIC DISPLAY SIGN - First Offer Signing and Pavement Markings: SIGN BEACON First Offer Signing and Pavement Markings: SIGN BEACON First Offer Signing and Pavement Markings: SIGN BEACON First Offer	Supplier I Signing and Pavement Markings: SINGLE POST SIGN First Offer Supplier I Signing and Pavement Markings: SINGLE POST SIGN First Offer Supplier I Signing and Pavement Markings: SINGLE POST SIGN First Offer Supplier I Signing and Pavement Markings: ELECTRONIC DISPLAY SIGN - First Offer Supplier I Signing and Pavement Markings: ELECTRONIC DISPLAY SIGN - First Offer Supplier I Signing and Pavement Markings: ELECTRONIC DISPLAY SIGN - First Offer Supplier I Signing and Pavement Markings: ELECTRONIC DISPLAY SIGN - First Offer Supplier I Signing and Pavement Markings: ELECTRONIC DISPLAY SIGN - First Offer Supplier I Signing and Pavement Markings: ELECTRONIC DISPLAY SIGN - First Offer Supplier I Signing and Pavement Markings: ELECTRONIC DISPLAY SIGN - First Offer Supplier I Signing and Pavement Markings: ELECTRONIC DISPLAY SIGN - First Offer Supplier I Signing and Pavement Markings: ELECTRONIC DISPLAY SIGN - First Offer Supplier I Signing and Pavement Markings: ELECTRONIC DISPLAY SIGN - First Offer Supplier I Signing and Pavement Markings: ELECTRONIC DISPLAY SIGN - First Offer Supplier I Signing and Pavement Markings: ELECTRONIC DISPLAY SIGN - First Offer Supplier I Signing and Pavement Markings: ELECTRONIC DISPLAY SIGN - First Offer Supplier I Signing and Pavement Markings: SIGN BEACON First Offer Supplier I Signing and Pavement Markings: SIGN BEACON First Offer Supplier I Signing and Pavement Markings: SIGN BEACON First Offer Supplier I Signing and Pavement Markings: SIGN BEACON First Offer Supplier I Signing and Pavement Markings: SIGN BEACON First Offer Supplier I Signing and Pavement Markings: SIGN BEACON First Offer Supplier I	Signing and Pavement Markings: SINGLE POST SIGN First Offer Signing and Pavement Markings: SINGLE POST SIGN First Offer Signing and Pavement Markings: SINGLE POST SIGN First Offer Signing and Pavement Markings: SINGLE POST SIGN First Offer Signing and Pavement Markings: SINGLE POST SIGN First Offer Signing and Pavement Markings: ELECTRONIC DISPLAY SIGN - First Offer Signing and Pavement Markings: ELECTRONIC DISPLAY SIGN - First Offer Signing and Pavement Markings: ELECTRONIC DISPLAY SIGN - First Offer Signing and Pavement Markings: ELECTRONIC DISPLAY SIGN - First Offer Signing and Pavement Markings: ELECTRONIC DISPLAY SIGN - First Offer Signing and Pavement Markings: ELECTRONIC DISPLAY SIGN - First Offer Signing and Pavement Markings: ELECTRONIC DISPLAY SIGN - First Offer Signing and Pavement Markings: ELECTRONIC DISPLAY SIGN - First Offer Signing and Pavement Markings: ELECTRONIC DISPLAY SIGN - First Offer Signing and Pavement Markings: ELECTRONIC DISPLAY SIGN - First Offer Signing and Pavement Markings: ELECTRONIC DISPLAY SIGN - First Offer Signing and Pavement Markings: ELECTRONIC DISPLAY SIGN - First Offer Signing and Pavement Markings: ELECTRONIC DISPLAY SIGN - First Offer Signing and Pavement Markings: ELECTRONIC DISPLAY SIGN - First Offer Signing and Pavement Markings: ELECTRONIC DISPLAY SIGN - First Offer Signing and Pavement Markings: ELECTRONIC DISPLAY SIGN - First Offer Signing and Pavement Markings: ELECTRONIC DISPLAY SIGN - First Offer Signing and Pavement Markings: ELECTRONIC DISPLAY SIGN - First Offer Signing and Pavement Markings: ELECTRONIC DISPLAY SIGN - First Offer Signing and Pavement Markings: ELECTRONIC DISPLAY SIGN - First Offer Signing and Pavement Markings: ELECTRONIC DISPLAY SIGN - First Offer Signing and Pavement Markings: ELECTRONIC DISPLAY SIGN - First Offer Signing and Pavement Markings: ELECTRONIC DISPLAY SIGN - First Offer Signing and Pavement Markings: ELECTRONIC DISPLAY SIGN - First Offer Signing and Pavement Markings: ELECTRONIC DISP	Supplier Product Codes supplier Notes: Signing and Pavement Markings: SINGLE POST SIGN - First Offer Offer Supplier Notes: Signing and Pavement Markings: SINGLE POST SIGN - First Offer Supplier Notes: Signing and Pavement Markings: SINGLE POST SIGN - First Offer Supplier Notes: Signing and Pavement Markings: SINGLE POST SIGN - First Offer Supplier Notes: Signing and Pavement Markings: SINGLE POST SIGN - First Offer Supplier Notes: Signing and Pavement Markings: ELECTRONIC DISPLAY SIGN - First Offer Supplier Notes: Signing and Pavement Markings: ELECTRONIC DISPLAY SIGN - First Offer Supplier Notes: Signing and Pavement Markings: ELECTRONIC DISPLAY SIGN - First Offer Supplier Notes: Signing and Pavement Markings: ELECTRONIC DISPLAY SIGN - First Offer Supplier Notes: Signing and Pavement Markings: ELECTRONIC DISPLAY SIGN - First Offer Supplier Notes: Signing and Pavement Markings: ELECTRONIC DISPLAY SIGN - First Offer Supplier Notes: Signing and Pavement Markings: ELECTRONIC DISPLAY SIGN - First Offer Supplier Notes: Signing and Pavement Markings: ELECTRONIC DISPLAY SIGN - First Offer Supplier Notes: Signing and Pavement Markings: ELECTRONIC DISPLAY SIGN - First Offer Supplier Notes: Signing and Pavement Markings: ELECTRONIC DISPLAY SIGN - First Offer Supplier Notes: Signing and Pavement Markings: ELECTRONIC DISPLAY SIGN - First Offer Supplier Notes: Signing and Pavement Markings: ELECTRONIC DISPLAY SIGN - First Offer Supplier Notes: Signing and Pavement Markings: ELECTRONIC DISPLAY SIGN - First Offer Supplier Notes: Signing and Pavement Markings: ELECTRONIC DISPLAY SIGN - First Offer Supplier Notes: Signing and Pavement Markings: SIGN BEACON - First Offer Supplier Notes: Signing and Pavement Markings: SIGN BEACON - First Offer Supplier Notes: Signing and Pavement Markings: SIGN BEACON - First Offer Supplier Notes: Signing and Pavement Markings: SIGN BEACON - First Offer Supplier Notes: Signing and Pavement Markings: SIGN BEACON - First Offer Supplier Notes:

ellaneous Traffic a	nd County Commis	sioners		
PNC2115695B1- -05-17	Signing and Pavement Markings: SIGN BEACON First Offer	\$12,500.00	2/ assembly	\$25,000.00
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:	
PNC2115695B1- -05-18	Signing and Pavement Markings: SIGN BEACON First Offer		2 / assembly	\$30,000.00
Product Code: Agency Notes:		Supplier Product Co. Supplier Notes:	de:	
PNC2115695B1- -05-19	Signing and Pavement Markings: SIGN BEACON First Offer	\$15,000.00	1/ assembly	\$15,000.00
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:	
PNC2115695B1- -05-20	Signing and Pavement Markings: SIGN BEACON First Offer	\$8,500.00	10 / assembly	\$85,000.00
Product Code: Agency Notes:		Supplier Product Co. Supplier Notes:	de:	
PNC2115695B1- -05-21	Signing and Pavement Markings: SIGN BEACON First Offer	\$8,500.00	2 / assembly	\$17,000.00
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:	
PNC2115695B1- -05-22	Signing and Pavement Markings: MULTI'POST SIGN First Offer	\$8,000.00	1/ assembly	\$8,000.00
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:		
PNC2115695B1- -05-23	Signing and Pavement Markings: MULTI'POST SIGN First Offer	\$12,500.00	10 / assembly	\$125,000.00
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:		
PNC2115695B1- -05-24	Signing and Pavement Markings: MULTI'POST SIGN First Offer	\$18,000.00	1/ assembly	\$18,000.00
Product Code: Agency Notes:		Supplier Product Co. Supplier Notes:	de:	
PNC2115695B1- -05-25	Signing and Pavement Markings: MULTI'POST SIGN First Offer	\$5,000.00	1/ assembly	\$5,000.00
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:	
PNC2115695B1- -05-26	Signing and Pavement Markings: MULTI'POST SIGN First Offer	1	3 / assembly	\$3,000.00
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:	
PNC2115695B1- -05-27	Signing and Pavement Markings: SIGN PANEL First Offer	\$250.00	25 / each	\$6,250.00
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:	
PNC2115695B1- -05-28	Signing and Pavement Markings: SIGN PANEL First Offer	\$350.00	10 / each	\$3,500.00
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:	
PNC2115695B1- -05-29	Signing and Pavement Markings: SIGN PANEL First Offer	\$450.00	2 / each	\$900.00
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:	
PNC2115695B1- -05-30	Signing and Pavement Markings: SIGN PANEL First Offer		4 / each	\$1,600.00
Product Code:		Supplier Product Co	de:	

Broward County Board of County Commissioners

ellaneous Trailic a	nd County Commis	1			
Agency Notes:		Supplier	Notes:	-	
PNC2115695B1- -05-31	Signing and Pavement Markings: SIGN PANEL First Offer		\$600.00	2 / each	\$1,200.00
Product Code: Agency Notes:		Supplier Supplier	Product Cod Notes:	de:	
PNC2115695B1- -05-32	Signing and Pavement Markings: SIGN PANEL First Offer		\$900.00	2 / each	\$1,800.00
Product Code: Agency Notes:		Supplier Supplier	Product Cod Notes:	de:	
PNC2115695B1- -05-33	Signing and Pavement Markings: SIGN PANEL First Offer		\$1,800.00	10 / each	\$18,000.00
Product Code: Agency Notes:		Supplier Supplier	Product Cod Notes:	de:	
PNC2115695B1- -05-34	Signing and Pavement Markings: SIGN PANEL First Offer		\$100.00	1 / each	\$100.00
Product Code: Agency Notes:		Supplier Supplier	Product Cod	de:	
PNC2115695B1- -05-35	Signing and Pavement Markings: SIGN PANEL First Offer		\$100.00	1 / each	\$100.00
Product Code: Agency Notes:		Supplier Supplier	Product Cod	de:	
PNC2115695B1- -05-36	Signing and Pavement Markings: SIGN PANEL First Offer		\$100.00	1 / each	\$100.00
Product Code: Agency Notes:		Supplier Supplier	Product Cod	de:	
PNC2115695B1- -05-37	Signing and Pavement Markings: SIGN PANEL First Offer		\$1,200.00	2 / each	\$2,400.00
Product Code: Agency Notes:		Supplier Supplier	Product Cod	de:	
PNC2115695B1- -05-38	Signing and Pavement Markings: SIGN PANEL First Offer		\$2,500.00	1 / each	\$2,500.00
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
PNC2115695B1- -05-39	Signing and Pavement Markings: INTERNALLY ILLUMINATED SIGN First Offer		\$2,800.00	14 / each	\$39,200.00
Product Code: Agency Notes:		Supplier Supplier	Product Cod	de:	
PNC2115695B1- -05-40	Signing and Pavement Markings: INTERNALLY ILLUMINATED SIGN First Offer		\$3,000.00	4 / each	\$12,000.00
Product Code: Agency Notes:		Supplier Supplier	Product Cod	de:	
PNC2115695B1- -05-41	Signing and Pavement Markings: OBJECT MARKER First Offer		\$500.00	10 / each	\$5,000.00
Product Code: Agency Notes:		Supplier Supplier	Product Cod Notes:	de:	
PNC2115695B1- -05-42	Signing and Pavement Markings: OBJECT MARKER First Offer		\$500.00	10 / each	\$5,000.00
Product Code: Agency Notes:		Supplier Supplier	Product Cod Notes:	de:	
PNC2115695B1- -05-43	Signing and Pavement Markings: RETRO-REFLECTIVE PAVEMENT MARKERS First Offer		\$500.00	500 / each	\$250,000.00
Product Code: Agency Notes:		Supplier Supplier	Product Cod Notes:	de:	
PNC2115695B1- -05-44	Signing and Pavement Markings: PAINTED PAVEMENT MARKINGS First Offer		\$8,500.00	0.3 / mile	\$2,550.00

County Commis	31011013		
	Supplier Product Co- Supplier Notes:	de:	
Signing and Pavement Markings: PAINTED PAVEMENT MARKINGS First Offer	\$5.00	500 / linear foot	\$2,500.00
	Supplier Product Co- Supplier Notes:	de:	
Signing and Pavement Markings: PAINTED PAVEMENT MARKINGS First Offer	\$6.00	100 / linear foot	\$600.00
	Supplier Product Co- Supplier Notes:	de:	
Signing and Pavement Markings: PAINTED PAVEMENT MARKINGS First Offer	\$7.55	300 / linear foot	\$2,265.00
	Supplier Product Co- Supplier Notes:	de:	
Signing and Pavement Markings: PAINTED PAVEMENT MARKINGS First Offer	\$8,000.00	0.3 / mile	\$2,400.00
	Supplier Product Co- Supplier Notes:	de:	
Signing and Pavement Markings: PAINTED PAVEMENT MARKINGS First Offer	\$8,000.00	0.3 / mile	\$2,400.00
	Supplier Product Code: Supplier Notes:		
Signing and Pavement Markings: PAINTED PAVEMENT MARKINGS First Offer	\$85.00	5 / each	\$425.00
	Supplier Product Co- Supplier Notes:	de:	
Signing and Pavement Markings: PAINTED PAVEMENT MARKINGS First Offer	\$85.00	5 / each	\$425.00
		de:	
Signing and Pavement Markings: PAINTED PAVEMENT	\$6.00	30 / linear	\$180.00
WAKANGS. TISCORG			
Signing and Pavement Markings: PAINTED PAVEMENT MARKINGS First Offer	\$15.00	20 /	\$300.00
	• •		
Signing and Pavement Markings: PAINTED PAVEMENT MARKINGS First Offer	\$8,000.00	0.1 / mile	\$800.00
	Supplier Product Co- Supplier Notes:	de:	
Signing and Pavement Markings: PAINTED PAVEMENT MARKINGS First Offer	\$6.00	70 / linear foot	\$420.00
	• •	de:	
Signing and Pavement Markings: PAINTED PAVEMENT MARKINGS First Offer	\$8,000.00	0.1 / mile	\$800.00
	Supplier Product Co Supplier Notes:	de:	
Signing and Pavement Markings: PAINTED PAVEMENT MARKINGS First Offer	\$8,000.00	0.3 / mile	\$2,400.00
	Supplier Product Co- Supplier Notes:	de:	
	Signing and Pavement Markings: PAINTED PAVEMENT MARKINGS First Offer Signing and Pavement Markings: PAINTED PAVEMENT MARKINGS First Offer Signing and Pavement Markings: PAINTED PAVEMENT MARKINGS First Offer Signing and Pavement Markings: PAINTED PAVEMENT MARKINGS First Offer Signing and Pavement Markings: PAINTED PAVEMENT MARKINGS First Offer Signing and Pavement Markings: PAINTED PAVEMENT MARKINGS First Offer Signing and Pavement Markings: PAINTED PAVEMENT MARKINGS First Offer Signing and Pavement Markings: PAINTED PAVEMENT MARKINGS First Offer Signing and Pavement Markings: PAINTED PAVEMENT MARKINGS First Offer Signing and Pavement Markings: PAINTED PAVEMENT MARKINGS First Offer Signing and Pavement Markings: PAINTED PAVEMENT MARKINGS First Offer Signing and Pavement Markings: PAINTED PAVEMENT MARKINGS First Offer Signing and Pavement Markings: PAINTED PAVEMENT MARKINGS First Offer	Supplier Product Co- Supplier Notes: Signing and Pavement Markings: PAINTED PAVEMENT MARKINGS First Offer Supplier Notes: Signing and Pavement Markings: PAINTED PAVEMENT MARKINGS First Offer Supplier Product Co- Supplier Notes: Signing and Pavement Markings: PAINTED PAVEMENT MARKINGS First Offer Supplier Product Co- Supplier Notes: Signing and Pavement Markings: PAINTED PAVEMENT MARKINGS First Offer Supplier Product Co- Supplier Notes: Signing and Pavement Markings: PAINTED PAVEMENT MARKINGS First Offer Supplier Product Co- Supplier Notes: Signing and Pavement Markings: PAINTED PAVEMENT MARKINGS First Offer Supplier Product Co- Supplier Notes: Signing and Pavement Markings: PAINTED PAVEMENT MARKINGS First Offer Supplier Product Co- Supplier Notes: Signing and Pavement Markings: PAINTED PAVEMENT MARKINGS First Offer Supplier Product Co- Supplier Notes: Signing and Pavement Markings: PAINTED PAVEMENT MARKINGS First Offer Supplier Product Co- Supplier Notes: Signing and Pavement Markings: PAINTED PAVEMENT MARKINGS First Offer Supplier Product Co- Supplier Notes: Signing and Pavement Markings: PAINTED PAVEMENT MARKINGS First Offer Supplier Product Co- Supplier Notes: Signing and Pavement Markings: PAINTED PAVEMENT MARKINGS First Offer Supplier Product Co- Supplier Notes: Signing and Pavement Markings: PAINTED PAVEMENT MARKINGS First Offer Supplier Product Co- Supplier Notes: Signing and Pavement Markings: PAINTED PAVEMENT MARKINGS First Offer Supplier Product Co- Supplier Notes: Signing and Pavement Markings: PAINTED PAVEMENT MARKINGS First Offer Supplier Product Co- Supplier Notes: Signing and Pavement Markings: PAINTED PAVEMENT MARKINGS First Offer Supplier Product Co- Supplier Notes: Signing and Pavement Markings: PAINTED PAVEMENT MARKINGS First Offer Supplier Product Co- Supplier Notes: Supplier Product Co- Supplier Notes: Signing and Pavement Markings: PAINTED PAVEMENT MARKINGS First Offer Supplier Product Co- Supplier N	Supplier Product Code: Supplier Notes: Signing and Pavement Markings: PAINTED PAVEMENT MARKINGS First Offer Supplier Notes: Signing and Pavement Markings: PAINTED PAVEMENT MARKINGS First Offer Supplier Product Code: Supplier Notes: Signing and Pavement Markings: PAINTED PAVEMENT MARKINGS First Offer Supplier Notes: Signing and Pavement Markings: PAINTED PAVEMENT MARKINGS First Offer Supplier Notes: Signing and Pavement Markings: PAINTED PAVEMENT MARKINGS First Offer Supplier Notes: Signing and Pavement Markings: PAINTED PAVEMENT MARKINGS First Offer Supplier Product Code: Supplier Notes: Signing and Pavement Markings: PAINTED PAVEMENT MARKINGS First Offer Supplier Product Code: Supplier Notes: Signing and Pavement Markings: PAINTED PAVEMENT MARKINGS First Offer Supplier Product Code: Supplier Notes: Signing and Pavement Markings: PAINTED PAVEMENT MARKINGS First Offer Supplier Product Code: Supplier Notes: Signing and Pavement Markings: PAINTED PAVEMENT MARKINGS First Offer Supplier Notes: Signing and Pavement Markings: PAINTED PAVEMENT MARKINGS First Offer Supplier Product Code: Supplier Notes: Signing and Pavement Markings: PAINTED PAVEMENT MARKINGS First Offer Supplier Product Code: Supplier Notes: Signing and Pavement Markings: PAINTED PAVEMENT MARKINGS First Offer Supplier Product Code: Supplier Notes: Signing and Pavement Markings: PAINTED PAVEMENT MARKINGS First Offer Supplier Product Code: Supplier Notes: Signing and Pavement Markings: PAINTED PAVEMENT MARKINGS First Offer Supplier Product Code: Supplier Notes: Signing and Pavement Markings: PAINTED PAVEMENT MARKINGS First Offer Supplier Product Code: Supplier Notes: Supplier Product Code: Supplier Notes:

cellaneous Traffic and	County Commis	sioners		
PNC2115695B1 - 05 - 58	Signing and Pavement Markings: PAINTED PAVEMENT MARKINGS First Offer	\$15.00	200 / square foot	\$3,000.00
Product Code:		Supplier Product Co	de:	
Agency Notes:		Supplier Notes:		
PNC2115695B1 - 05-59	Signing and Pavement Markings: THERMOPLASTIC PAVEMENT MARKINGS First Offer	\$4.55	3000 / linear foot	\$13,650.00
Product Code: Agency Notes:		Supplier Product Co- Supplier Notes:	de:	
PNC2115695B105 - 60	Signing and Pavement Markings: THERMOPLASTIC PAVEMENT MARKINGS First Offer	\$6.20	300 / linear foot	\$1,860.00
Product Code: Agency Notes:		Supplier Product Co- Supplier Notes:	de:	
PNC2115695B1- -05-61	Signing and Pavement Markings: THERMOPLASTIC PAVEMENT MARKINGS First Offer	\$7.00	3000 / linear foot	\$21,000.00
Product Code: Agency Notes:		Supplier Product Co- Supplier Notes:	de:	
PNC2115695B1- -05-62	Signing and Pavement Markings: THERMOPLASTIC PAVEMENT MARKINGS First Offer	\$8,500.00	0.4 / mile	\$3,400.00
Product Code: Agency Notes:		Supplier Product Co- Supplier Notes:	de:	
PNC2115695B1 - 05-63	Signing and Pavement Markings: THERMOPLASTIC PAVEMENT MARKINGS First Offer	\$65.00	55 / each	\$3,575.00
Product Code: Agency Notes:		Supplier Product Co- Supplier Notes:	de:	
PNC2115695B1- -05-64	Signing and Pavement Markings: THERMOPLASTIC PAVEMENT MARKINGS First Offer	\$65.00	50 / each	\$3,250.00
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:		
PNC2115695B1- -05-65	Signing and Pavement Markings: THERMOPLASTIC PAVEMENT MARKINGS First Offer	\$12.00	60 / linear foot	\$720.00
Product Code: Agency Notes:		Supplier Product Co- Supplier Notes:	de:	
PNC2115695B1 - 05-66	Signing and Pavement Markings: THERMOPLASTIC PAVEMENT MARKINGS First Offer	\$12.00	200 / linear foot	\$2,400.00
Product Code: Agency Notes:		Supplier Product Co- Supplier Notes:	de:	
PNC2115695B1 - -05-67	Signing and Pavement Markings: THERMOPLASTIC PAVEMENT MARKINGS First Offer	\$15,000.00	0.3 / mile	\$4,500.00
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:	
PNC2115695B1 - 05 - 68	Signing and Pavement Markings: THERMOPLASTIC PAVEMENT MARKINGS First Offer	\$265.00	30 / each	\$7,950.00
Product Code: Agency Notes:		Supplier Product Co- Supplier Notes:	de:	
PNC2115695B1 - -05-69	Signing and Pavement Markings: THERMOPLASTIC PAVEMENT MARKINGS First Offer	\$265.00	30 / each	\$7,950.00
Product Code: Agency Notes:		Supplier Product Co- Supplier Notes:	de:	
PNC2115695B1 - -05-70	Signing and Pavement Markings: THERMOPLASTIC PAVEMENT MARKINGS First Offer	\$15,000.00	1 / mile	\$15,000.00
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:	
PNC2115695B1 - -05-71	Signing and Pavement Markings: THERMOPLASTIC PAVEMENT MARKINGS First Offer	\$15,000.00	0.5 / mile	\$7,500.00
Product Code:		Supplier Product Co	de:	

Broward County Board of County Commissioners

ind County Commis	3011013		
	Supplier Notes:		
Signing and Pavement Markings: THERMOPLASTIC PAVEMENT MARKINGS First Offer	\$17,000.00	0.25 / mile	\$4,250.00
	Supplier Product Co- Supplier Notes:	de:	
Signing and Pavement Markings: THERMOPLASTIC PAVEMENT MARKINGS First Offer	\$15,000.00	0.5 / mile	\$7,500.00
	Supplier Product Co- Supplier Notes:	de:	
Signing and Pavement Markings: THERMOPLASTIC PAVEMENT MARKINGS First Offer	\$15,000.00	0.5 / mile	\$7,500.00
	Supplier Product Co- Supplier Notes:	de:	
Signing and Pavement Markings: THERMOPLASTIC PAVEMENT MARKINGS First Offer	\$15,000.00	0.5 / mile	\$7,500.00
	Supplier Product Co- Supplier Notes:	de:	
Signing and Pavement Markings: THERMOPLASTIC PAVEMENT MARKINGS First Offer	\$3.00	2000 / square foot	\$6,000.00
	Supplier Product Co- Supplier Notes:	de:	
		Lo	ot Total: \$1,860,420.00
Line Item	Unit Price	Qty/Unit	Total Price
Utility: UTILITY FITTINGS First Offer	\$800.00	3 / each	\$2,400.00
	Supplier Product Co- Supplier Notes:	de:	
Utility: UTILITY FIXTURE, VALVE, METER BOX First Offer	\$2,000.00	3 / each	\$6,000.00
	Supplier Product Co- Supplier Notes:	de:	
Utility: UTILITY FIXTURE, VALVE, METER BOX First Offer	\$2,000.00	3 / each	\$6,000.00
	Supplier Product Co- Supplier Notes:	de:	
Utility: UTILITY FIXTURE, VALVE, METER BOX First Offer	\$1,500.00	3 / each	\$4,500.00
	Supplier Product Co- Supplier Notes:	de:	
			Lot Total: \$18,900.00
			\$230,000.00
	Signing and Pavement Markings: THERMOPLASTIC PAVEMENT MARKINGS First Offer Signing and Pavement Markings: THERMOPLASTIC PAVEMENT MARKINGS First Offer Signing and Pavement Markings: THERMOPLASTIC PAVEMENT MARKINGS First Offer Signing and Pavement Markings: THERMOPLASTIC PAVEMENT MARKINGS First Offer Utility: UTILITY FITTINGS First Offer Utility: UTILITY FIXTURE, VALVE, METER BOX First Offer	Signing and Pavement Markings: THERMOPLASTIC PAVEMENT MARKINGS First Offer Supplier Product Co Supplier Notes: Signing and Pavement Markings: THERMOPLASTIC PAVEMENT MARKINGS First Offer Supplier Product Co Supplier Notes: Signing and Pavement Markings: THERMOPLASTIC PAVEMENT MARKINGS First Offer Supplier Product Co Supplier Notes: Signing and Pavement Markings: THERMOPLASTIC PAVEMENT MARKINGS First Offer Supplier Product Co Supplier Notes: Signing and Pavement Markings: THERMOPLASTIC PAVEMENT MARKINGS First Offer Supplier Product Co Supplier Notes: Signing and Pavement Markings: THERMOPLASTIC PAVEMENT MARKINGS First Offer Supplier Product Co Supplier Notes: Utility: UTILITY FITTINGS First Offer Supplier Product Co Supplier Notes: Utility: UTILITY FIXTURE, VALVE, METER BOX First Offer Supplier Product Co Supplier Notes: Utility: UTILITY FIXTURE, VALVE, METER BOX First Offer Supplier Product Co Supplier Notes: Utility: UTILITY FIXTURE, VALVE, METER BOX First Offer Supplier Product Co Supplier Notes: Utility: UTILITY FIXTURE, VALVE, METER BOX First Offer Supplier Product Co Supplier Notes: Utility: UTILITY FIXTURE, VALVE, METER BOX First Offer Supplier Product Co Supplier Notes: Utility: UTILITY FIXTURE, VALVE, METER BOX First Offer Supplier Product Co Supplier Notes:	Signing and Pavement Markings: THERMOPLASTIC PAVEMENT MARKINGS First Offer Supplier Product Code: Supplier Notes: Signing and Pavement Markings: THERMOPLASTIC PAVEMENT MARKINGS First Offer Supplier Product Code: Supplier Notes: Signing and Pavement Markings: THERMOPLASTIC PAVEMENT MARKINGS First Offer Supplier Product Code: Supplier Notes: Signing and Pavement Markings: THERMOPLASTIC PAVEMENT MARKINGS First Offer Supplier Product Code: Supplier Notes: Signing and Pavement Markings: THERMOPLASTIC PAVEMENT MARKINGS First Offer Supplier Product Code: Supplier Notes: Signing and Pavement Markings: THERMOPLASTIC PAVEMENT MARKINGS First Offer Supplier Product Code: Supplier Notes: Utility: UTILITY FITTINGS First Offer Supplier Product Code: Supplier Notes: Utility: UTILITY FITTINGS First Offer Supplier Product Code: Supplier Notes: Utility: UTILITY FIXTURE, VALVE, METER BOX First Offer Supplier Product Code: Supplier Notes: Utility: UTILITY FIXTURE, VALVE, METER BOX First Offer Supplier Product Code: Supplier Notes: Utility: UTILITY FIXTURE, VALVE, METER BOX First Offer Supplier Product Code: Supplier Notes: Utility: UTILITY FIXTURE, VALVE, METER BOX First Offer Supplier Product Code: Supplier Notes: Utility: UTILITY FIXTURE, VALVE, METER BOX First Offer Supplier Product Code: Supplier Notes: Utility: UTILITY FIXTURE, VALVE, METER BOX First Offer Supplier Product Code: Supplier Notes: Utility: UTILITY FIXTURE, VALVE, METER BOX First Offer Supplier Product Code: Supplier Notes: